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fA A F
B NPEE oy 2
ool AEE 71E 29 (cel @
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
22X 2el 29 296,710 287,830 8,880
201 LBt 197,160 185,700 11,460
02 2223l 197,160 185,700 11,460
a2 197,160
2)Xt&==2lhl 43,260,000 » 14! 43,260
)R I 93,000,000& * 14! 93,000
Q)XHEEZ 24,300,000 * 14! 24,300
2) NS IHA 6,300, 0002 =14 6,300
Q)etgdd 2 7,300,000 * 14 7,300
2)ZREAN OlEE 1,500,000& x12& 18,000
2) X2t 5,000,000 14 5,000
405 Kot S| 99,550 102, 130 A2,580
&L =S FSHI 99,550 102,130 A2,580
NE+=28 UM S 99,550
Q)2 832(d2E) 17,000,000 *3CH 51,000
Q)L 2(AMHE) 17,000, 0002 *2CH 34,000
2)AEESE(MYE) 10,000, 0003 = 1CH 10,000
2)S= A 4,000,000 *1CH 4,000
2)H Al 2] 550, 0002 *1CH 550
ol 29Y 265,208 212,142 53,066
ol 2| 265,208 212,142 53,066
04 JIZtHIZ22HsSE+ 265,208 212,142 53,066
A olf 265,208
Q)88 Xt 42,1703 x17H 180 129,041
2)EMF It 42 1703 %178 +90 64,521
2)Atgl =X CHA el 45,6003 x3% 300 41,040
ZAUNE=PNE A= =1k 30,606,000 x 14! 30,606
2oHE 24 2,000 3,000 A 1,000
201 Yereg| 2,000 2,000 0
01 AtE222/H] 2,000 2,000 0
NEctA el X& g2t 1,000,000 * 14! 1,000
NSRHE MI L2t 1,000, 0003 * 14 1,000
gAAL 2 200,790 168,250 32,540
201 LBt 199,240 168,250 30,990
01 AFR 22| 199,240 168,250 30,990
NEAEI(PH) 188,040
2)d A 60,0003 x7H » 112 47,040
2)=3 60,0003 x6 % x365 131,400
)2 60,0003 x4 X x40 9,600
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SN ZRBYD
B NPEE oy 2
ool AEE 71E 29 EEE-E)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
NERA 2HEH| 11,200
2)EEA BAF S MEH] 600, 000& x12& 7,200
) At S S T =2H| 250,000& x2H 500
2) 2D MYl L ADE 20H
3,500,000 * 14 3,500
405 KHAHFE S 1,550 0 1,550
01 M =SF SHI 1,550 0 1,550
1)THAIL 2 550,000& = 1CH 550
12183 1,000,000& = 1CH 1,000
Nereed 2 A& 166,040 208,340 A42,300
NG XA 166,040 208,340 A42,300
203 PR =&l 9,600 9,600 0
03 AIHFRHRF=ZEY| 9,600 9,600 0
NEEMHZ 24 1,200,000& 1 1,200
Do 24 1,200,000& =1 1,200
NIASESEA 1,500,000& =1 1,500
NUHEE(52)EH 1,500,000& =1 1,500
1NESEEs 29 = 3,200,000 =1 3,200
=0 30U /A= 1,000,000& 1 1,000
308 XHXIEHSO0I& 109, 760 109,760 0
07 OHIZ2EHdAJAZAEX 109,760 109,760 0
NEENHZ SAXH 109, 760
2)0H 22U 2 XS 14,914 ,000& 14 14,914
2)StERI? A 89,846,000& » 1= 89,846
2)0H0b2A0 29 XL
5,000,000& *14 5,000
403 XX SHHSK201H 43,680 83,680 A 40,000
03 MEIZ=HXNIANEEET 43,680 83,680 A 40,000
NHbHZus &8 43,680,000 =1 43,680
405 KHAHFE S| 3,000 5,300 A2,300
01 MY S EF SHI 3,000 5,300 A 2,300
NEEME 2 &2H P2 3,000,000 * 14 3,000
A SEHY L APEE 5,356,051 4,528,699 827,352
MNRASSHIHLH A2W= 519,980 637,980 A 118,000
M2 AL 60,000 170,000 A 110,000
202 (4 60,000 170,000 A 110,000
03 =220 30,000 0 30,000
N=2HSQ & st=tg =t
3,000,000& *10H 30,000
04 = H 3ol 30,000 170,000 A 140,000
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SN ZERBYD
BE: N SO U ADIEE
CHel HBDAAE 29 Y AE (el a2
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
SUAAE 29 2 FFE 328,840 278,360 50,480
NRAHEE 53,540 53,540 0
201 Et24| 3,940 3,940 0
01 AtS22telyl 3,940 3,940 0
1) EEE H A 7,700 *2000H 1,540
1)EEI M ZHh] 200, 000& 1204 2,400
303 EAZ 49,600 49,600 0
01 ZAZ 49,600 49,600 0
NeEa323 Al 200,000& x80H 16,000
N2 A4 200,000& x80H 16,000
NEHSRI A4 500,000& 10 5,000
NEEEI 424 Al 2,900
2)X L 500, 000& *2H 2 A *13] 1,000
2)2 =+ 300, 000& *3H 2 A *13] 900
2) & 200, 000& x5 2 A *13] 1,000
NREBEESSEI 224 & S22 A4 4,900
2)R%+=2 A 2,900
x4 500, 000& *2H 2 A *13] 1,000
3R 300, 000& *3H 2 A *13] 900
)& 200,000 & x5 2 A *13] 1,000
2)R=2d 2,000
R)ESE=ES 300,000& x1H x23| 600
)R+ 200, 000& x2H *23| 800
3) & 100, 0002 *3H 23] 600
1NFRZ2E U B4 300,000& *3H x43| 3,600
1)DMOE 25 ALl BRG] AlA 1,200
2)X 2% 500,000 * 1 2 A *13] 500
2)R% 300,000 *1IHE A *13] 300
2)&ed 200, 000& *2H 2 A *13] 400
oY - ANTLY BRAS 65,600 103,400 37,800
203 YR =& 1,600 1,600 0
03 AEFAHR2F=ZAH| 1,600 1,600 0
N2Y - FEZRY B2HS(WRKXELE)
20,0003 x40 *2 1,600
303 EAZ 64,000 101,400 N 37,400
01 Z&a23 64,000 101,400 A 37,400
N2Y - FEZRY SZHS(WRAEZE)
800,000& *40H *2 64,000
EEZR0| Eat 94,800 96,820 N2,020
201 Y2 Y| 24,800 23,920 880
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M ZEAY
B Ng selg Y ADIAR
Shel: mE A ET (292 8)

S . "M . O (5 SALO] . THA 2 Al OH HEE =2}
303 ZAa= 154,000 150,000 4,000
01 ZA&3 154,000 150,000 4,000

NotHF LA 140,000 *1,100<t 154,000

SHEN SEXMHE 89 3,211,800 2,390, 100 821,700
303 ZA= 3,211,800 2,390, 100 821,700
01 ZA2 3,211,800 2,390,100 821,700

NESNRSK (MM, Z2EJ/EY L o
M 51 & Z8)
1,000& *1,272% 2,500 21 E+93% 2,957,400
NHHMEE 200,000& *1,2724Y 254,400

HAXH B2 K& 291,600 259,200 32,400
303 ZAZ 291,600 259,200 32,400
01 ZA&3 291,600 259,200 32,400

NAANE E'E 90,000& *270Y x12& 291,600

SFd 2 4 sti203 453,685 382,023 71,662
307 212t01 & 453,685 382,023 71,662
05 2IZtRAEF 453,685 382,023 71,662

N3FANE 2300 &&=z
(1,320,608,000&-836,791,000& )-30, 132,000 453,685
_Ci_]

UMY 29 82,326 84,676 A 2,350
101 1244l 27,926 27,326 600
04 JIZtMZ22XRSE+ 27,926 27,326 600

DMEXRES XA(BEE 2 §23) 27,926
2)AHLEE 350,000& x12& 4,200
2)NERE 1,500,000& *13] 1,500
2)=0ldz 400,000& x12& 4,800
2)MMEE 1,500, 000& * 13l 1,500
Q)EINZ NEgrda 79,625,810 *20% 15,926
206 M=l 44,400 44,400 0
01 M=4| 44,400 44,400 0
NFAUAY X 3,700,000 x12& 44,400
405 KtatF S| 10,000 12,950 A2,950
01 A& ESHSHI 10,000 12,950 A 2,950
NEAE Has, HA(1,5000)
2,300,000 = 1CH 2,300
NgAE ds, WA(1,0000)
1,700,000 = 1CH 1,700
NFYES F20M 6,000, 0002 14 6,000
SRS 23 48,000 64,200 A 16,200
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SN ENBYD
o N sy o
Sl =R A A
_ _ SIEN
SN-EHH S (3H) - HEAY - BES Ak o 0l ot o
201 g2y 14,600 14,600
01 AtR2reld 14,600 14,600
1)AIRE 2 200,000 *12% 2,400
exne
200,0002! 153 2A| 2++1% 6,000
NI o4 500,0002 x23l 1,000
A= 500,0002 *23| 1,000
1) B2 A 350,000% 12 122 4,200
203 HREAY] 33,400 40,400
03 AlZZTQ R =AY 33,400 40,400
NBPA-SIE 29 U LAYREX
4,800,0002! 11 4,800
NEHMDES 918 RS L A28
5,000, 0002 11 5,000
A gesol 10,0002 ¥30% * 125 3,600
PESEELS 20,000,0002 *12] 20,000
NYLs NFELD X4 8,800 8,800
201 Yer2 ) 4,000 4,000
01 At 4,000 4,000
N&E22 A e 1,000, 00021 43| 4,000
303 L& 4,800 4,800
01 T2 4,800 4,800
NE2e o Bl E 1,200, 0002 #43] 4,800
HRste a0ty 10,000 10,000
201 2Bt 0,000 10,000
03 A2 Y 10,000 10,000
1)S&THEl HE 10,000, 0002 *13] 10,000
23 20 247,020 263,360
2c3H 7Y 247,020 263,360
201 LBty 97,020 63,360
01 At 97,020 63,360
nNacae 110,0002! * (497 F+x308 ) 60% 97,020
405 XHAHE SHI 150,000 200,000
01 XL SEHSH| 150,000 200,000
N2CaA 20} 30,000, 00021 +57 & 150,000
HeHTNHIA Jls 2 57,290 53,256
Al 57,290
AISI IR 57,290 53,256
Al 57,290
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SN ZRBYD
M HRHINLA s 25
SHol: AlRIFSI DRI SHoH (Erol: @2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
SEANZERY 29 57,290 53,256 4,034
Al 57,290
201 B3| 41,930 41,496 434
Al 41,930
01 AtE22(H] 32,810 28,776 4,034
NxeE gz 682,000& «12& 8,184
Al 8,184
1)=& 7,000& *20 A x4 H 128 6,720
Al 6,720
DAIRA AXt= 1,200,000 x12& 14,400
Al 14,400
1)get &4 3,506,000& 14 3,506
Al 3,506
02 =23l 9,120 12,720 23,600
AR A 22/l 560,000& «12& 6,720
Al 6,720
X2 KA 200, 0002 * 122 2,400
Al 2,400
202 O4Hl 14,400 10,800 3,600
Al 14,400
01 WY 14,400 10,800 3,600
1NEZ 0 20,0003 x 152 x4H 12 14,400
Al 14,400
203 HRF4Hl 960 960 0
Al 960
03 AZFXHRFAH| 960 960 0
NSAE g2eF 960, 000& 1 960
Al 960
Hees(2xZD) 163,000 123,000 40,000
LHEHCHXI & 163,000 123,000 40,000
ANEZS 218 2¢ 163,000 123,000 40,000
309 BIITBNYEES 163,000 123,000 40,000
02 TA- BHANHEI 163,000 123,000 40,000
NAEBIZE A2 S 9l
163,000, 000& 1 163,000
HY2IZH(ZHZZ ) 63,055,819 59,813,014 3,242,805
= 223,560
Al 441,604
- 62,390,655
QlA2HH( XA L) 62,667,339 59,393,354 3,273,985
= 223,560
Al 441,604
- 62,002,175




SN ZEAYD

Nu: EENSHA(ENAA)

Chol: o2 ol (XX AL D) (Erol: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
FNoIE2AY| 144,520 144,940 AN420

203 HRF&Hl 143,800 144,220 AN420
01 J|22SHFRF&HI 137,500 137,500 0
N2 dFa 137,500
2)REE 78,100,000& 14 78,100
2)RPEE 56,100,000& 14 56,100
)BT EA=H 3,300,000& 1 3,300
04 BEASSIHFRFEHI 6,300 6,720 A420
NEASILSFIHI(HA 65Y)
525,000& x12& 6,300
204 XA 720 720 0
03 SHYLL B =H| 720 720 0
NBPAHYS g 22
60,000 x1H«12& 720
olE2IH(BZ) 61,760,186 58,571,685 3,188,501
101 Q14| 46,711,748 45,916,315 795,433
01 2= 44,621,048 44,158,265 462,783
N722d & SF0ME J123(1069Y) 25,698,456
2)HSHI(7Y) 477,949
A (DESHAS) 75,303,000 1 75,303
JNEFHFH(HUSHAS)
72,236,000& =14 72,236
4= (HU=HAE)
66,082,000 x5 1 330,410
2)7 - S3RJII2=2(1062%) 23,644,225
3)UBHUEH X (843Y ) 18,670, 111
4)52 2,961,300 *46F x 123 1,634,638
4)6= 2,485,400 *160F x 123 4,771,968
473 2,028,500 x329Z x12& 8,008,518
4)8= 1,330,900 x 153 12 2,443,533
4)9= 973,900& 155 «12& 1,811,454
3)JIs&(219%) 4,974,114
4)6= 2,512, 1002 «8H »12& 241,162
4)7= 2,194, 7003 x25F «12& 658,410
4)83 1,855,600 156 H «12& 3,473,684
4)9= 1,848,900 x23H x12& 510,297
4)10= 1,078, 100& x7H 123 90,561
)0z (E2+2)
23,644,225,0002 *1/12%80% 1,576,282
N3 AHIEZ Ao 2xH AB65, 164
)AL RN A -63,842,000& =14 A63,842
QA =N BRHA -441,604,000& 1 AN441,604
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SN ERAYD
M HSYPH (B YD)
Sl oS AY(XEAY D)
ST G(SH) - NREAY - BES Ol & o CEE
Off &k o
IIEHHES YR
~159,718, 0002 1 £159,718
N7 - =322 (1062%) 8,941,480
2)AZte2eY 5,512,507
3)52 9,796 *60A| 2t 46 x12E 324,444
3)6= 8,312& *x60A| 2t*x168H x12& 1,005,420
3)72 7, 4572 *60A| 25354 + 122 1,900,641
3)82 6,682 *60AI 2t%309 + 122 1,486,612
3)9=2 5,993 *60AI 2+ 178H « 128 768,063
3)10=2 5,422 «60A| 2H+7H 128 27,327
2)tE¢ 732,000
3= Xt 40,0003 x810E 128 388,800
OEPIEE 20,0002 * 1,430 * 122 343,200
2)MEEH B 365,364
3)= st 59,4003 195 »4 3] 46,332
) DSsHM 443, 100& 180 »4 3] 319,032
)80tz 2¢ 500,000& x20E x12& 120,000
2)¥ 2oz (e, 83 ,Jls 900Y) 998,280
3)251 0] &t 130,0009 *210% * 128 327,600
3)20E 0l &f~25H 0] ©*
110,000 *219E «12& 289,080
3)154 01 4~20140/8F 80,0002 *230% + 122 220,800
3)10= 0l &~15E 012t 60,0003 *135% «12& 97,200
3)5E014&~1040/2F 50,000 *106 «12& 63,600
2)5L2R2¢(107E) 295,344
3)6= 62,6153 x1H x115& +50% 3,601
7= 56,1753 x 128 x 1152 *50% 38,761
3)82 50,3372 35 x 1152 x50% 101,304
3)9= 45,1472 «53% 1152 «50% 137,586
3)10=2 40,8453 x6H 1152 +50% 14,092
2)FE+Y 22,560
LS 50,0003 32 x12& 19,200
325 40,0008 +7 2« 122 3,360
o)RHBRALY 50,0002 10 128 6,000
UHRTLALY
23,644 ,225,000& *4 . 8%*30% 340,477
2)E4YP4Y 378,948
3)INELLLL(NASIHABELE)
4,770,000 «12& 57,240
3)&I QA 22| 4 g 3,420
4)FI|orm el Y e Rt
30,0002 x8H x 128 2,880
4) B F P2 X
15,0003 3 122 540
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SM: ZRFYD
MM WESAAY (EHBAD)
chel: olAIH(ZEXE I ) (ehel: =3
SN EB -GS - MBAY - BES 0 & 24 e HRE2
(NsSH2HAR+H
40,0003 «100E « 123 48,000
AR+ 30,000 »210H «12& 75,600
JNH AP RS (3H0I4A)
50,000 x5 x12& 3,000
NS EXNL RS 30,000 #40H 123 14,400
3)=s=2R==(620I5t)
70,0002 »210H <128 176,400
&AL 888
473 38,000 x1H«12& 456
4)83 36,0003 x1E«12& 432
2)H0E AL 20,000,000& »5¢& 100,000
2)XRJEI =Y 7,000,000& =10H 70,000
NEAZ AT - S1069%)
130,000& 1,069 x12& 1,667,640
NREETHI(F - S1062Z-HSH A ) 1,602,960
2)52 140,000 *46F » 123 77,280
2)6~72 130,000& «522H 123 814,320
2)8~10= 120,000 *494H 123 711,360
NEESIHHI(F - S1062Z-HSH A 2)
23,644,225,000& *1/12%120% 2,364,423
DI (7 - 51062221 2 H H <)
23,644,225,000% /12x16. 7%+ 12 3,948,586
NEJIEAH (R - S 1068E) 1,062,667
)27 EE
72,236,000& +0.66%1/12%1/30* 16 2,119
242 =%
330,410,0009 0.66+1/12x1/30% 16 9,693
2)ger g8 JIsA
23,644,225,000& «1/12%1/3016 1,050,855
02 JIEtXE == 819,783 888,860 AB9,077
NIIEI R E 819,783
2)HEBE(3Y) 142,841
NIEES 1,963,600& x3H 123 70,690
INVEICERR=Y
70,690,000 *1/12%100% 5,891
A2 RS
6,4613 «60A| 2++3H 122 13,956
s syl 50,0003 x3H x 128 1,800
s 2,880
4)Bi Xt 40,000 «3H * 128 1,440
AFAELIS 20,0002 x6H 128 1,440
MEHEHEESYE 5,318
4) N SsHM 443, 1003 3 »43 5,318
NEENE 840

_21_




M XA
HH: HHSAAH(ZHASD)
Sl olEHY(ZAAH D) (3
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
4)HE 30,0002« 1«12 360
4)BHE 20,0002 x2H x 128 480
3)H2LEItALS 4,680
4)25E 0| A 130,000 3 x 12& 4,680
3)XZBXH| 105,000 3% « 122 3,780
)= S M| 31,017
4)H M Z Al 130,000 3% « 12& 4,680
4 NEE XY 120,000 3% « 12& 4,320
4)HE S I
70,690,000 *1/12%60%*23] 7,069
4) Q142 AtH
70,690,000 «1/12%1/30% 16 3,142
4) b H K24
70,690,000 /12%16. 7%+ 12& 11,806
NHFRAPE NELE 22
153,000,000 * 1. 3% 1,989
2)H 2= (12F) 604,657
3oz 474,164
HL3 53,696,000 1«1 53,696
42 43,884,000 2% x 1A 87,768
42 (A2, &2H92, JI1221, 1E1)
38,501,000 6 1 231,006
4)0I2 (21, 1E2)
33,898,000 3% 14 101,694
Pl =, 5,280
4)BH 2 Xt 40,0002 «6H x 128 2,880
4)EH E=H| = 20,0002« 10K 128 2,400
A2 2Lt 66,092
4HL2
53,696,000 «70%+0.5%1.5/226+60 Al 2t 7,485
19
43
43,884,000 x70%+0.5%1.5/226+60 A 2t 12,234
24
42 (M2 &2H2 JI1221, 1E1)
38,501,000 *70%+0.5%1.5/226+60 Al 2t 32,198
64
4)0I2 (921, 1E2)
33,898, 000 *70%+0.5%1.5/226%60 A 2t 14,175
34
3)HeIE=H| 50,000 « 12 122 7,200
)X Z B XH| 16,560
ALz 155,000 1H « 122 1,860
L2 140,000 2%  12& 3,360
42 (A2 &2#H2,JI1221, 1E1)
105,000 6% 122 7,560
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SN EHFYD
HH: ¥HSEAY(ZHFYD)
Crol: olf2dy(ZRAE T CEERE]
SN - EH . S(3) - MRAY - BES O &t 04 e HRz2
£ (S 21,1 E2)
105, 0002 +3% 122 3,780
3)=clF Al 32,629
4)Z M Z A 130,000 «12E x 128 18,720
4)21t M
474,164,000 *0.66%1/12%1/30 16 13,909
3L NAX N8PH 2YI
607,000, 0002 0. 45% 2,732
MRS UBT 72,285
o= 820, 100& »5H 123 49,206
=2 59,9303 x5 x 12 3,596
3)=cl= ] 250,000& 5~ 123 15,000
NAUEEE 74,710 x5H 128 4,483
03 RINHA22R B4 1,270,917 869,190 401,727
DSOS EXNZ(WE, Yo, SAFN)-22
Ol M e 80,000,000& *10H 800,000
NIRL2(? BH) 470,917
2)A22E 8,746,066,000& *2.705% 236,582
)WIRAZE = 236,582,000 *4.78% 11,309
2)NELE 8,746,066,000& *2.05% 179,295
)Mo 243 8,746,066,000& +0.5% 43,731
203 R4l 39,725 40,070 A 345
02 HIMMH =L 39,725 40,070 N 345
TS Y2(815%) 39,725
2)1 ~ 100 DtX 80,000 100 8,000
2)101 ~ 300 Mt X 60,000& 200 12,000
2)301 ~ 600 Mt X 45,000& *300H 13,500
2)601 ~ 800 Mt X 30,000& 200 6,000
2)801% 01 & 15,0002 158 225
204 M2 AH 2,233,920 2,255,745 A21,825
01 MM HRHHH| 74,160 76,560 A2,400
1)=& (39%) 74,160
)7 EE 650,000& 1+ 123 7,800
2)RPEE 600,000& 1~ 122 7,200
2)4=(2%) 350,000& x5+ 122 21,000
2)52 (%) 100, 0008 +312§ %122 37,200
)R M2 SHE 80,0003 «1Z~12& 960
02 HNg2XH 1,749,960 1,699, 185 50,775
N72d ¥ SFeHEH(1069Y) 1,749,960
2)nEz 650,000& 128 7,800
)R P 500,002 %128 6,000
2)4=2 400,000 x5 128 24,000
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SN ERZYD
HH: HESARL(ZNAYGD)
ol o2 YU (XN FY D) (el &2
: _ o HEC -
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
2)5=2 250,000 «46H »12& 138,000
2)6=2 155,000 & «1682 * 12 *105% 328,104
)72 140,000 «354H » 12 *105% 624,456
2)8,93 105, 00021 #4872 122 613,620
2)10=2 95,000& x7H«12& 7,980
03 SZYR=&SH| 409,800 480,000 270,200
N ZSH (7 28 62016t
50,0002 «683F «12& 409,800
303 Tar 2,895,603 2,879,607 15,996
02 dutattd= 2,895,693 2,879,697 15,996
NELANES 26,525,426,000& *1/12%131% 2,895,693
304 AZRE3S 9,714,605 7,364,704 2,349,901
01 d=RE= 8,127,770 5,855, 149 2,272,621
N7PE S2A4, 7008, SXUME 32 8,127,770
Q)3 RE3 L BNz 5,265,628
3)SZH (9%), H o= (19%)
1,465,317,000& *0.73%17.251% 184,531
3)SER(HE, 1788, BHB4Y)
29,453,924,000& *17.251% 5,081,097
2Q)EIXERYZ 2,784,000
3) MU (452)) 2,484,000,0002 1 2,484,000
3)2BHHE5Y, XI1102)
300,000,000& *14 300,000
N ERNE == 78,142
3)SZH(9%), M= (19%)
1,465,317 ,000& *0.73+0.256% 2,739
3)SEH (XR1,1782, BH4Y)
29,453,924 ,000& *0.256% 75,403
02 =2ALEE =S 1,586,835 1,509,555 77,280
NALBERLS 1,514,444
2) =M (9%), H A= (19)
1,510,317,000& *2.705% 40,855
)N (XR1,1782, HZ4Y)
54,476,453 ,000& *2.705% 1,473,589
NEAEIIQLAYBEE  1,514,444,000& «4.78% 72,391
307 QI2t0IA 164,495 115,154 49,341
07 d=Xl=3 164,495 115,154 49,341
DECER L] 154,597
2INYZERIZ 30,919,241, 00021 %0, 45% 139, 187
2Q)MAH=EE3 30,919,241,000& *0.05% 15,460
NEAFE SX3(1Y)
4,100,71021+881/3652 9,898
TEALZE A el 97,469 93,950 3,519
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S ZRBLD
I UHSIFH(ZHIYD)
ol ol 2oy (ZNAYM) (Etel: &8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
101 Q14| 97,469 93,950 3,519
03 RIIAHA2ERE S 97,469 93,950 3,519
EAR2] 0l (28) 97,469
2)J1=23 1,330,000 %28 * 122 31,920
2)40i3
(31,920,00091+11,664, 00081 )* 1/ 12+400% 14,528
2)ag 33,379
OWEIEIEEES=,
7,465%1 1,552 520 Al 25128 5,375
QESIEEESS
746581 %1.55224 x 16AI 25128 4,300
HNAXNRTEINEY 59,7202« 152 1,792
RSt Ee= 70,0008 x2 Y+ 12 1,680
3)Eg
(4 ,ooo%*29§*12%)+(2o,ooo%*4g*12%) 1,920
3)2HIIAZ 27,0002+ 181 Xt #2% x 12 11,664
3) %l a2 gt 50,0002 %22 « 122 1,200
3)JHH X2 b
(31,920,00021+11,664, 00081 )1/ 12+ 150% 5,448
2)=el s M| 10,488
3)Zaltl 10,0002 x2& * 128 2,400
3) 04t 110,000 x22 x 128 2,640
3)% &= E0H|
(31,920,00091+11,664, 00081 )1/ 12+75%+2 5,448
3|
2)JIEHXI & Z | 740
XA E XY 150,008 x2*13] 300
3) M3 20,0002 ¥2% *23| 80
3)I = 180, 000! 22 360
APIEEE = 6,414
ORIl EE=E 90,315,000 *4. 5% 4,065
HaMEEE 90,315, 0009 *2.6% 2,349
OIS AH (KAL) 63,842 0 63,842
= 63,842
101 Q12| 63,842 0 63,842
= 63,842
RS 63,842 0 63,842
DAL RHH NS 63,842, 0008 *14 63,842
= 63,842
Ol (MEZXNHEQE) 441,604 416,060 25,544
Al 441,604
101 @l 24H| 441,604 416,060 25,544
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SN ERBYD
M WESAZH(ZEHEL )
chel: olAIH(ZEXE I ) (ehel: =3
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
Al 441,604
01 E= 441,604 416,060 25,544
NARISIEESSE 212Ad|
441,604, 0002 * 1 441,604
Al 441,604
QIARAHI (DB AHSEASR) 159,718 166,719 A7,001
= 189,718
101 el 24| 189,718 166,719 AT7,001
= 159,718
01 E= 189,718 166,719 AT7,001
NIIEZAESE YR 159,718,000& 1 159,718
= 159,718
Jl2dgl(==gd g ) 388,480 419,660 A 31,180
Jl=&d| 388,480 419,660 A31,180
201 et 150,880 156,860 25,980
01 AtS 22l 135,880 144,860 28,980
Nol2 ARsEH 20,000 439 »43| x80% 2,752
Nile MRE3018 30,0003 »43H 43| *80% 4,128
NI HHI KK (Z2IE 112, 5 AH13)
400,000& » 15CH x4 3] *80% 19,200
NS=234tl 7,000 x65EH «20 4! 12 109,200
NEMT LI 50,000& 68 23l 600
02 =234l 15,000 12,000 3,000
nNa32=2 2 HMAl 15,000,000& 1 15,000
202 O4Hl 237,600 262,800 N25,200
01 =Wl 237,600 262,800 225,200
NEZ 0 20,0003 x66E x152 «12& 237,600
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SN

JI= 0 &F

;0|8 XF
ool AFY® I8 xF (erel: &2
= % o (5 = T S =
SAN-ZH-SA(FA) - NFAY - BES oH Ol AF o8 HwsZ
712 0fl & It 5,591,916 6,614,268 A 1,022,352
p[ERESS 177,100 150,680 26,420
AR I8 XH 177,100 150,680 26,420
TH2Y RN &g 112,000 115,000 £3,000
201 ety 90,000 93,000 £3,000
01 At22t2It| 84,000 87,000 3,000
DA YA = 20,000, 0008 *13| 20,000
)FQAPHE I 22 10,000,000 13| 10,000
DPHWA L PHBE 22 21,000
2)REA w2 30,0002 *500 15,000
2)PEEE w2 6,000,0002! * 13 6,000
NTZSY 40 HS 22 40,000 3005 12,000
A5 Qo M 3,000,000 43| 12,000
DA™ Inme 1S 500,000 * 102 5,000
NHESE ADE
4,000,0002! * 13 4,000
02 ZZSIH| 6,000 6,000 0
NEZ AZ - 24 o3 =gz
6,000,0002! * 13 6,000
203 YR FAY| 22,000 22,000 0
03 AIBEXYREAY| 22,000 22,000 0
NPIYD JI= - X 4,000,00021 * 14 4,000
NRELE F2 A 8,000,000 *1 1 8,000
RIIBI PH 10,000,00021 * 11 10,000
Tz 2y 16,000 16,750 AT50
201 ety 16,000 16,000 0
01 Ar22t2It| 6,000 16,000 0
NEZEN PL(RA IEZS Z8)
,000, 000! *4 | 8,000
NIEA TN P 2,000,000 %423 8,000
NEAZY 29 49,100 18,930 30,170
201 ety 43,400 7,230 36,170
01 AtR2t2It| 43,400 7,230 36,170
DEPONIES 1,000,0002 +25] 2,000
DEEEIETTE 1,200
2)elE3 200! 4005 *128] 960
ELES 3009 +400 % +23] 240
DELIEN= 100,000 * 120 1,200
DNEHETEY Za4g 36,000
2)J|= 70,0002 +30% *123| 25,200
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SH: 0D
mE: |8l £F

el 2EER JI" X3 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
2)=1t 30,0002 30 x122] 10,800
NEMA & EBN 08 S 300,000 *103] 3,000
203 g =&l 5,700 900 4,800
03 AMH=THIFAHI 5,700 900 4,800
1) Chtdl 100,000& 122 1,200
NZgy2dzad =4 4,500
2)8d3l 15,0003 »20H 63! 1,800
2)gd s 15,000 *30& =62 2,700
SEX HE=2E 346,723 320,848 25,875
S8 jE=2d 346,723 320,848 25,875
dus4o taEs 101,723 75,848 25,875
101 1A 11,603 5,178 6,425
04 JIZtHZZ2NSE=> 11,603 5,178 6,425
DXALHEEEANAY Ry A2y 11,603
2)Q1 24| 46,0003 x1H %180 8,280
2)=¢ 2,070
3)FL+E 23,0003 « 12 »26 598
3)= - Eit==¢ 46,0003 «1Z x32& 1,472
Q4AUEBEZ(AEXN 2E3) 1,253
3)=glz 10,350,000 *4.5% 466
JNHLEE 10,350,000& *2.54% 263
3J)nELE 10,350,000 *1.75% 182
ALHMEE 10,350,000 *3. 3% 342
201 2Bt 76,120 56,670 19,450
01 At 2t2lbl 76,120 56,670 19,450
120l aH(eH) & olatA 28,000,000& 12l 28,000
NEZ0&(eH) & ol 12,000, 000& *33 36,000
NEIIXNSTHE A E A 2,000,000& %13/ 2,000
NIIS2EHEAN & HIAHEA
1,000,000& »33! 3,000
NOAEHL2EIE A 1,000,000& 14 1,000
NIsd=eHAE20M S M2l
2,000,000 * 14| 2,000
)93 Sgt 4,120
DMEHMAARS BAE 2L
70,0003 x6EH x23] 700
)ETAAARS FASE 3,000
3)J1= 70,0003 x5E *32 1,050
)= 30,0002 x5& 32 450
3) & A 20,0003 x5 x5&H «33] 1,500
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M JI= 0 &k

dM: S 28 HE=2K
0o 38N HESY (er9: @@
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
)sgael2 sy &Y
70,000 x3ZF 23| 420
203 ERF2& 14,000 14,000 0
03 AlMz=&Y 14,000 14,000 0
1) 0l AHE A 23 gE=A
7,000,000& 14 7,000
1ol A S
3,500,000& =14 3,500
DABISXIAE 4o - 24 HE8Y 225
,500,000& 14 3,500
olat8I =2 X3 15,000 15,000 0
303 ZAa= 15,000 15,000 0
01 ZA&3 15,000 15,000 0
Nolars 15,000, 000& =1 15,000
JlA#3E 24l X 230,000 230,000 0
201 €243 130,000 130,000 0
01 AtR2t2| 100,000 100,000 0
N&a=s clul(S&l S)
100,000, 000& =1 100,000
02 2322 30,000 30,000 0
N3 =3 2 AMERXH S
30,000,000 =14 30,000
202 (44| 100,000 100,000 0
01 =LA b 100,000 100,000 0
ni&a LHO4 I 100,000, 000& 1 100,000
Ol3|EHN R+ 380,260 405,240 A 24,980
280l o3 ¥ 380,260 405,240 A 24,980
Ols|EHN HE 38,600 41,600 A 3,000
201 €243 18,000 21,000 A 3,000
01 AtR2t2| 18,000 21,000 A3,000
DEPSUNE==N: SOA g2t
30,000& » 1005 3,000
EEES]s] ST A RIEHI
10,000& =1,000H 10,000
RSNl A 5,000
2)J& 70,0003 x10H x53] 3,500
2)=1t 30,0003 x10H x53] 1,500
203 ERF& 20,600 20,600 0
03 AlMz=&Y 20,600 20,600 0
NEM ¥ HEFL
20,000,000 =14 20,000
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S =0
Hm: o3

gt =8H

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
DAMHsE AR &9 200,000& *33] 600
SR+ 341,660 363,640 A 21,980
201 LBet249h| 239,660 261,640 N21,980
01 A2 2eltl 239,660 261,640 A 21,980
NASHRHE 236,660
Q)HENE NE2 165,000 *9H »12& 17,820
2Q)HEDNE NE2 110,000 *3H *43| x 123 15,840
Q)HSAMHIE(FH2=2, AtdlZ)
200,000,000 =14 200,000
2)BHSAHIE JIEHCIXIU, €8 S)
50,000& x5 x12& 3,000
NER48 2E ZHOHELS)
30,000& *100AH 3,000
303 ZEAZ 2,000 2,000 0
01 Zaad 2,000 2,000 0
NAE SSA ZA 2,000
2) A EALA 50,000& x10AH 500
2) =2 OHALA 100,000& *10AH 1,000
2)SEEAZ 500,000& * 121 500
305 a2 sS 100,000 100,000 0
01 Hia2s 100,000 100,000 0
NASHA3(7 38) 100,000,000& =14 100,000
M zte ,998,461 4,401,490 A 1,403,029
(:{Ms1Rs] ,998,461 4,401,490 A 1,403,029
(NSRS ,998,461 4,401,490 A 1,403,029
801 ollglbl ,998,461 4,401,490 A 1,403,029
01 olglyl ,998,461 4,401,490 A 1,403,029
1) 0l Il 2,998,461,000& 14 ,998,461
MIES (D& 0l AHD}) ,555,572 1,210,430 345,142
HEHAH XIS ,b55,572 1,210,430 345,142
sgHeI2 =2 3 & 0lA At 695,572 734,308 N38,736
705 =223 695,572 734,308 N38,736
01 =233 4E 666,600 666,667 YaNY4
NEgA2II2 Xtz &Et
666,600,000 x13] 666,600
02 Ol=20[ X4 28,972 67,641 A\ 38,669
NEgA2I2 X2 0l KHAHE 28,972
2)AHEHD| 666,600,000 *5.8%*182/365 19,279
2)oketD| 333,300,000& 5. 8% 183/365 9,693
AE2e S 222Y A 860,000 476,122 383,878
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A =0l A
M HRESOI=0)

&R WRHHXNS (&9 HM
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
309 SIIEEMNEES 860,000 476,122 383,878
02 SAt- SHIANEZ 860,000 476,122 383,878
1222 2E 860,000,000& =1 860,000
HE2AAH (D& 0l A D) 133,800 125,580 8,220
olA2HHI (I = 0fl At D) 17,400 17,400 0
EMoES2HH| 17,400 17,400 0
203 R F=&H| 4,200 4,200 0
04 2EASIEYRFAH| 4,200 4,200 0
NENSGALEXY (R 18)
350,000& x12& 4,200
204 AR HEH| 13,200 13,200 0
03 SR S| 13,200 13,200 0
NUAMEESRE 150,000& x6H x12& 10,800
NEREYS2E 50,000& x4H = 12& 2,400
J1=2ZH (D120l At 116,400 108, 180 8,220
JIE2&H| 116,400 108, 180 8,220
201 B3| 48,000 43,380 4,620
01 AtR22teldl 45,600 40,980 4,620
1)JI2 AIRE2EH| 20,000& *19H x4 3| *80% 1,216
1012 AREE01S 30,000& *19H *4 3| *80% 1,824
NAAHI KA (Z2IEH D6, 2 AHI2)
400, 0003 *8LH*43] *80% 10,240
1NE2 24| 7,000 19 204 x 122 31,920
NEATZLHI 50,000& x4& *23| 400
02 s22&H| 2,400 2,400 0
NEN, RERS 200,000& x12& 2,400
202 (4l 68,400 64,800 3,600
01 2| 68,400 64,800 3,600
1)& &0l 20,000 x19H » 15 x12& 68,400
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A XS

a2 HHBe
ol SEE dH2e (el =@
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
UAPNR=ES N 10,907,074 8,666,033 2,241,041
= 1,846
Al 67,610
- 10,837,618
S& dHzel 1,950,432 95,459 1,854,973
SZet &2 1,950,432 95,459 1,854,973
HAHAHR = 1,950,432 95,459 1,854,973
101 el 4] 9,670 0 9,670
04 JIZHMIZ2XEE = 9,670 0 9,670
NEAYR 2802 9,670,000 14! 9,670
201 LEH2HH| 39,310 0 39,310
01 AtS22/Hl 39,310 0 39,310
NEA2E AR 22l 39,310,000& * 14! 39,310
202 O4H| 7,500 0 7,500
01 WY 7,500 0 7,500
NEZ0LI 7,500, 000& 14 7,500
203 ¥R =&l 18,360 0 18,360
03 AIMZ=XHSZ=EH| 18,360 0 18,360
N72,s 8H2Z g2F& 18,360,000 14 18,360
308 MXIHHSOIH 1,875,592 95,459 1,780, 133
08 JIEIRE= 1,875,592 95,459 1,780,133
DXYRX SR 422l ol (=8l - &AIZd])
1,875,592,000& «14 1,875,592
T2 #HENMHIA A R 5,171,034 4,793,993 377,041
SEAMRI=E 2 oA 954,938 673,512 281,426
SEAMN A 217,938 174,000 43,938
401 Al&HI LSO 217,938 174,000 43,938
01 Al&H| 217,938 174,000 43,938
1)1500 SF:2IME L XHX3 2
217,938,000& =14 217,938
HE3S M U= 230,000 0 230,000
401 A EHIL 204 200,000 0 200,000
01 Al&HI 200,000 0 200,000
NHS3s A WE= 200,000,000 14l 200,000
405 XtotE SHI 30,000 0 30,000
01 T =SS FH SHI 30,000 0 30,000
NHES3s8 MR8 &Il 7200 30,000,000 14! 30,000
238 M U= 507,000 0 507,000
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S KX D
M3 D0l HPAHA B X
SRl SHAME o B2 (9l & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
401 AlZBIL 20| 507,000 0 507,000
01 Al&H| 507,000 0 507,000
NRE3S SEHEA 22X MY (BE2Y 23| 1)
507,000,000& 14! 507,000
HEst 5 FUHH 29 4,216,096 4,120,481 95,615
SEAN L sHF 2 1,367,690 1,305,530 62,160
201 et 1,242,710 1,155,500 87,210
01 AtS22/Hl 596,410 546,900 49,510
1) Et=2H| 327,000,000& =14 327,000
1Y EtEH || 68,000,000 14 68,000
NYEHBA(Y - =1)
60,000 x1H*202 1504 = 18,000
NP0 ER2 ME U LUK EE
1,500,000 *18/ %24 2 2 X 3,000
N2g=g(FRea dAH 70,000 x10H =13 700
N&I9+9IF32 HAH) 70,0002 «15H *43] 4,200
nNs 28= 250,000& 2259 56,250
Noiteless A dxtg 99,000,000 14 99,000
NIHZIS HA EX AB2  20,260,0002 14 20,260
02 3323l 646,300 608,600 37,700
N3=2= £ HMA 248,624,000& 14 248,624
NAHERIH L X 42,776,000& x14 42,776
NOBHI(SHA L XHXIE2 219H)
200,000,000& 14 200,000
NSegsYL=I| FA22l 39,700,000 «1& 39,700
FUSEE LYSTUS(ZHUIA)
114,000,000& =14 114,000
Nstase 29N (1NS) 100,000& «12& 1,200
203 R ETY| 9,000 9,000 0
03 AZFXHRFAH| 9,000 9,000 0
NROIEEA NS L POIASAYHE =7
4,000,000& 14 4,000
NSgdd g2 X 5,000,000& 14 5,000
303 Ea=z 2,600 2,600 0
01 Z&3 2,600 2,600 0
NSYIAH 225 A4 2,600
2)E R4S 700, 0002 *19H S 700
)R> 500, 000& *2J) & 1,000
Q)& s 300,000& *3 = 900
307 QI2H0IH 30,000 0 30,000
02 2ItBAE X 30,000 0 30,000
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SN
X XH .
S Tt

el

CHE - S(EH) - NRAY - BES sk oy e 2
Nelz=gElrz2g2ls A
30,000,000& 1 30,000
AHatS SH| 83,380 130,930 NAT 550
AL E S H SHI 83,380 130,930 A4T7,550
1) CH & =2 OK 65,355
ZARSONE-VN D] 3,949,000 *4CH 15,796
2)21E50| wH 2,028,000 *2CH 4,056
)HHEE AREHI(ZEH 8)
23,736,000& 14! 23,736
2) D (8LH) 21,767,000& * 14! 21,767
&l oM 18,025
2) B Xt = AR 3,949,000% «3CH 11,847
2)0l SEUITAIAH 2,460,000% «1CH 2,460
2) e 1,859,000 »2CH 3,718
=0l MEOIMI AH(CCTV & AsSYHRH) 238,371 212,343 26,028
201 Let2d| 151,996 125,543 26,453
02 2223l 151,996 125,543 26,453
1)CCTV A& S X 151,996
2)NERXBI(IIE) 119,000 *3200 A+ 122 45,696
2)NERXEI(AE) 35,0003 *21H 2+ 12 8,820
Q) EMAE MEZ
162,000& *453| & x 123 87,480
)8z L BEE 10,000,000& 14! 10,000
HRF4 12,000 12,000 0
ANBZ=X AR 12,000 12,000 0
1) OIALS| OF & TH 4 12,000,000& 14 12,000
BB A& F 74,375 74,800 A425
AELHHUHA2EH 74,375 74,800 N425
NXSLEia 29 X2 74,375
2)ZHl= 25,000 *17JH CH 14 425
2)OFALH 2,500 «6H +25 « 170 CHx 123 63,750
2)F & 50,0003 *17JHCH+ 12 10,200
s - BHEXA ¥ =0sE 2,458,535 2,451,648 6,887
201 Let2d| 9,000 9,000 0
01 AtE22(Hl 9,000 9,000 0
NSYEYRE =8 M= 9,000,000& 13| 9,000
e F ST 9,000 9,000 0
RSN Rea S | 9,000 9,000 0
NFARIEN L =058
25,0003 1501 S*23| *12& 9,000
BB A Z 2,440,535 2,433,648 6,887
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A XS
|

HE: 20 BFNHIA B4 A
el REE S FOMEH 29 (el @)
_ _ _ Muo
DA - CR(SH) - MPAY - BYS Ao il i~ o 2
gtz sti= 57,515 57,338 177
NSRRI S (DSEHM)
443, 1003 649 23] *10% 57,515
06 &-cl-EEEs2as 2,377,420 2,370,710 6,710
nNedse 2,128,720
2)Jl24g 200, 0002 #6492 122 1,557,600
)43 200,000 *649H 23] 259,600
2)3| o &AL 20,0003 649 23| «12& 311,520
NEIMEAE 50,0003 *4,974H 1 248,700
12 JIEtEA S 5,600 5,600 0
NPRR0Y AT L HE 5,600
2)&HH 400,000 *8H 3,200
2)ue 300,000 =84 2,400
E=E 151,500 150,960 540
o121 bl 151,500 150,960 540
04 JI2tHIZ2E2NEE S 151,500 150,960 540
NE= 25,0003 »200H 30 150,000
NEHEEZ 150,000, 000& *1.0% 1,500
Not= XXI-E &S ,201,520 1,195,980 5,540
T2 = 664,759 683,559 218,800
2 23 243t 511,162 499,962 11,200
201 Y2y 90,662 79,462 1,200
01 AtSR22/Hl 62,762 51,762 11,000
NFUNXAL WS 15,000
2)R0PI=(LEA) FUNKAY DS
400,000& 1504 =13l 6,000
)M FOTIAY BT
20,0003 x6Z 15 S *13l 1,800
)FUNXIA NSHTE DS
20,0002 %43 * 15)H S * 1] 1,200
NABEH HHES 9I8 FOERT
400,000& 1504 =13l 6,000
NRxs ey 47,762
2)EE2= M 100&#1,3002*150 S+4=2 0| 7,800
2)HIE PY U Iyl 22
500,000& 150 s +*23] 15,000
DHMADE 220,000 +157H S 3,300
2)FLMDE B0
100, 000 *24 x 1500 S *4= | 12,000
2IXXIBB SYAHE U BIIND MA 2
2,500, 000& 24! 5,000
DNXB RS HIDEI} HH4L
70,000& x15H »43] 4,200
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: ?)D:IEO@JHI&E RRPE A
Tolae] T2 sy (Etel: &8
_ _ _ N E
M« B2 - S2(3H) - MRAY - BaS 0 & 24 G HRE2
2)RBFUNKSIY E&  7,700%*302 23| 462
03 A2 27,900 27,700 200
1)XFXI 8 2+ B4 ALKI & 27,900
2)XXE2 T2 LHS
20,000,0002 * 14 20,000
)FUNXSY FAs U s A
3,500,000 %23 7,000
2)9ds SYNs TAE 900
3)7| 2 350,0008! *1 Al 2H%23] 700
3)ED 10,0002 * 1Al 2++23] 200
203 PREXY| 31,000 31,000 0
03 AlMERYDET| 31,000 31,000 0
XX 82 2 31,000
2)ESFURKRARE 2
160, 0008 * 150 S+ 12 28,800
2)XHRI S ALK 22 5,000 x50 x43 1,000
2)FURKRABTEAS 2
20,0002 * 152 x43] 1,200
303 TAS 4,300 4,300 0
01 =AZ 4,300 4,300 0
DRXE2 SYPYIL U TEAULES| 245
A4 4,300
2)RHXI B2 SYHI Alat2 1,700
3HSHS 500,0002 %174 S 500
32+ S 300,0008 274 S 600
3)HYS 200,0008! *374 S 600
2)RXIE T T208 LE3 2,600
OEEES 700,0002 %174 S 700
3)2+E 500, 0002 274 S 1,000
TS 300,0002 *374 S 900
307 BI2t0IH 385,200 385,200 0
02 BI2FAEX 385,200 385,200 0
DRSS SY2E(LAR)
20,0002 *2Al 24507 25| +6 34 S * 157 S 360,000
DXRZAR S
7,0008 5202 * 12Z « 1574 S 25,200
SEIE=RTES] 153,507 183,597 30,000
201 Y| 150,897 180,897 30,000
01 At 2l 150,897 180,897 30,000
1)9210H2 BHEDIALY 150,897
2)AbRIHl DI XIH 10,000,0002! * 157 S 150,000
ML EYE BAB (D)
250, 0008 * 1Al 2+13] 250
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A XX
A0 Mot AX+E A8
el POIEO T2 S (=CRE
SN HB SR (BIH) - A - B S 0l &b S D=2
= n=s FAG - BES &5 Ofl & 04 ree
QNDEED BAR(ZUE)
100,000 * 1Al 2k 13] 100
2)AIE ¥ At HHF M2LA =Y
250,000& »23| 500
2)2+S EEHY F0M 7,700& 60 = 47
H2RF4H 1,000 1,000
ANBZ=XH 2 XY 1,000 1,000
)220 CtEJIAIY FEE S|
1,000,000& 14 1,000
Lo 1,700 1,700
Za3 1,700 1,700
1)R2I0tE ASITIAE 223 A4 1,700
Q)RS 500,000& * 101 = 500
)R8 300,000& 20l = 600
2)Fds 200,000& *30H = 600
MIEHHM & 2SHMAA 536,761 512,421 24,340
MSHHEES K& 451,720 421,720 30,000
201 LetHH| 1,120 1,120 0
01 AtER22/Hl 1,120 1,120 0
NAZISHHEZ2A2AAAZ AAE
70,0003 »4H 43| 1,120
203 HRF&H| 600 600 0
03 AZFIHRFAH| 600 600 0
DAMSHHMEZS XS 2
10,000& 15 x4 3] 600
307 QI2t0IA 450,000 420,000 30,000
03 AtRIEMELZS 450,000 420,000 30,000
NAZISHEZZ X2 450,000,000& 14 450,000
=02sHH X 85,041 90,701 25,660
201 B3| 693 1,155 A462
01 AtR22lHl 693 1,155 N462
NIU2SHUS S TEHE 204
7,700 *3H * 150 S22 693
203 PRI 15,850 16,625 ANTT5
03 AHEFIHSFAH| 15,850 16,625 ANTT5
NFALHE A FRESY| 3,000,000& =1 3,000
N=02sEH A 9,350
2)MOISXEH(RUSY, 20 X&)
10,000& 1,046 H *50% 5,230
2)HIEAN A 10,000 %461 *50% 2,305
Q) ANFESHUXN A 10,0003 *363 X *50% 1,815
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A XS
|

PSS EE StMote AX7E &S
Sl AISISHH ¥ 2RISR (=CR-E
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
NUS PORESHA =R ESH|
3,500,000 =1 3,500
B A 68,498 72,921 N4,423
st =252 55,618 58,383 N2,765
DMOSXTSAHEDES)ANEHAESI S (DESHA)
443,100 1,046 *3 . 0%*4 3] 55,618
SHAFAH| 2 A2 12,880 14,538 AN 1,658
1NZ20SSHHURASH X2 12,880
2)MOIS s N=RASH| 10,000,000& =14 10,000
2)HIZ2H A KA 1,440,000& =1 1,440
)2 NKESHY K ALY
1,440,000& =1 1,440
679,841 704,091 N24,250
Al 60,000
- 619,841
B4 9 2 679,841 704,091 N24,250
Al 60,000
- 619,841
A Ba3 668,625 691,983 N 23,358
Al 60,000
- 608,625
g A 668,625 691,983 A23,358
Al 60,000
- 608,625
SUAIRRIALAZ 668,225 691,583 N 23,358
1)2URILAS 668,225
2)=2= 88,000& x150H 12& 158,400
2)3 Al 5,000& 204! x200H x 12& 240,000
Al 60,000
- 180,000
2) WS H| 2,000 20 x150H x12& 72,000
2)I=2d (M7 82 S) 280,000 *180H 50,400
)Ml E A2 43,925
AU EAZ 36,061,000& x1H 36,061
NHMEAZS 7,864,000 *1H 7,864
2)E &0 I 2,000 20 x200H x 12& 96,000
2)MEAU 3 15,0003 *250%H 23| 7,500
12 JIEtE A2 400 400 0
NELNE S 200,000& *23| 400
Q8 2y 11,216 12,108 892
g2y 1,216 2,508 N1,292
01 At 22| 1,216 2,508 N1,292
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SA: KX E
Y YA (MRS )
Er9l: ol oy (XIS E cro @ el
I:I}\_I X ZH C|—O|(§Ij;”) }\.“bl}\I,O-I A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
. (=] T ° - = (L] 0:”{:'_% Lsa
PASA2HYI (KRS A D) 4,200 4,200 0
203 HRF&Hl 4,200 4,200 0
04 BEASSIHFFEHI 4,200 4,200 0
NEASHeEH (B 199)
350,000& x12& 4,200
EMeH2AH(SEHET) 193,850 194,420 AB570
203 HRF&H| 166,850 167,420 A570
01 JI22FHRF&H| 108, 100 108, 100 0
1)el7 30t ol et 6,600,000& 8 =14 52,800
1)el 7 8RrHED|BH(AIE ™ 22, &5, 1 X2,
HE1,H82,2F2 7,900,000 *7H S+14 55,300
02 HRIAHSF=EIH| 7,750 8,320 A570
NE A (225%) 7,750
2)1009 0 ot 40,0003 x100H 4,000
2)1008 £ & 2258 DAl 30,0003 *125Y 3,750
04 BEASSHRFEHI 51,000 51,000 0
NEMA2ILREEH 51,000
2)8 3 30210|5H5BIHES)
350,000& x5 S+ 128 21,000
2)8 & 15210/at(100HS)
250,000 100 =123 30,000
204 XA 27,000 27,000 0
01 g2 FH| 27,000 27,000 0
DEES 150,000 158 123 27,000
220 (XX ) 1,432,460 1,530,300 297,840
Jl2Zdl (XX &A1) 136,460 124,860 11,600
201 LBt 3| 57,260 52,860 4,400
01 AR 22| 49,260 44,860 4,400
Nl AAREE 20,0003 =19 43| +80% 1,216
Nile MRE3018 30,0003 19 43| *80% 1,824
NAHFHI KXY (Z2IEDI6, 5 A1)
400,000& 7 CH 43| x80% 8,960
NSs234tl 7,000& x22F «204! x 12 36,960
NEMTHI 50,000& 38 *23l 300
02 =234l 8,000 8,000 0
Na32=2 2 AAl 8,000,000& 14 8,000
202 (4 H| 79,200 72,000 7,200
01 =LA b 79,200 72,000 7,200
NE&0 20,0003 »22H x152 «12& 79,200
Jl2ZH(S8d) 1,296,000 1,405,440 A 109,440
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S KX D
HE: #HEN2H Y|
>
[=}

(=)
el Jl=

I (XHXI & ) (ehel: =3
_ _ SIEN
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
201 LEH2HH| 378,000 409,920 A31,920
01 AtS2t2ibl 378,000 409,920 A31,920
NE=2=4tl 7,000& 225 204 x 123 378,000
202 Oddl 918,000 995,520 ANT7,520
01 WY 918,000 995,520 ATT7,520
NEZAYI 20,0003 x225F 17 123 918,000
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2N BUCAID
Hy: ZRACA X4
©e GRS (29l
_ _ _ Muo
SH BB O(B) - NRAY - BAR Off &F o4 il i~ o Hn=2
22 A 22,499,697 21,434,370 1,065,327
Al 2,200,000
2 20,299,697
22SA F4 2,626,655 3,243,686 ~617,031
Al 2,200,000
2 10,426,655
nEWEE 5,396,219 5,100,421 295,798
SASRHIIE Hel 3,090,777 3,122,940 £32,163
201 2ere | 9,777 0 90,777
01 At 90,777 0 90,777
NSASRHIIS B2 HEEX Ha
33,0002 +2,06974 68,277
NEASRHIIE 52 228)| X
45,0002 5004 22,500
307 212+ 2,807,610 3,122,940 A315,330
05 Sl2teista 2,807,610 3,122,940 A315,330
NSASRHIISH2  2,807,610,0008 14 2,807,610
308 XX EHHSOIH 192,390 0 192,390
05 XHXISHHMIZH S 192,390 0 192,390
NAEHTY SHAU0I2IAS AL
=l 192,390, 0002+ 1 192,390
HeEsE S8 1,289,103 624,000 665,103
307 2120 1,289,103 624,000 665, 103
05 D12t 1,289,103 624,000 665. 103
DHESHIIS 41 - 28 151,78521+6, 554 994,799
DS 20| Hel
68,0002 10,820 0.4 294,304
VT PIERSIEL 466,764 541,213 AT4,449
201 ere | 6.764 6.477 287
01 At 6.764 6,477 287
NEEDIS HARTS4 400,008 122 4,800
1)PPOFCH I 1,964
2)204 282,261 »1,50004 424
2)50 ¢ 3852 *4, 0000H 1,540
307 2120 & 460,000 534,736 AT4,736
05 Sl2t9ista 460,000 534,736 AT4,736
DOEHIIE 43 - 28 115,000,000 «4X 460,000
AAZE M= 544,675 806,968 £262,293
201 ere | 544,675 806,968 £262,293
01 At 2l 544,675 806,968 £262,293




A S AL
Hu: SRlTA £
&2 HEHEES (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
NHESH AASE M 520,046
QJMEHII=SE 427,199
3)5¢ 213 44 ,0000H*1.0052 929
3)104 283 %2,252,0000H*1.0052 63,384
3)20 4 473 *3,055,00001*1.0052 144,332
3)304 703 *242,00000*1.0052 17,029
3)50 4 104& +719,0000H*1.0052 75,165
3)754 1482 %123,00001*1.0052 18,299
3)100 £ 1932 *557,00001*1.0052 108,061
2)SAMERHIIES 79,907
3)2¢4 142 «500, 00001 *1.0052 7,037
3)3¢ 16&*2,062,0000H*1.0052 33,164
3)5¢ 21&*754,0000K*1.0052 15,917
3)104 283 *237,0000H*1.0052 6,671
3)20 4 473 x264,00000*1.0052 12,473
3)304 703 *66,0000H *1.0052 4,645
2INSEE 12,940
3)50 4 1043 +5,0000H*1.0052 523
3)100 £ 1933 *64,00001*1.0052 12,417
N2=28=5% MZEHI 24,629
2)2328 24,629
3)50 4 1042 x50, 00001 *1.0052 5,228
3)100 £ 193& 100, 0000H *1.0052 19,401
AAEE A HIISHE 4,900 5,300 A 400
201 Let2d| 3,700 3,700 0
01 Al222lH| 2,200 2,200 0
DAY 22 ME 1102 %10,00001 22| 2,200
02 2323l 1,500 1,500 0
NRELZ 250% x6,00004 * 13 1,500
203 HRF&Hl 1,200 1,600 A 400
03 AIMZ=XHRFEH| 1,200 1,600 A400
NAIAMNEE FAUMSE AR
1,200,000& 1 1,200
A 2e| 5,204,545 5,841,865 A637,320
Al 2,200,000
- 3,004,545
HIIZ 29X 4,195,460 5,097,322 A901,862
Al 2,200,000
- 1,995,460
201 B3| 5,770 2,159 3,611
01 AtR22lHl 5,770 2,159 3,611
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A SEZAIL
Hu: SRlTA £
el ASEFE 22 ? A
Ho-Za . e2i(3) - HEMY - BaS Lo e 2
NEILR3 & 70,000 x5H #52] 1,750
S A ZOt 2,112
2)EE2X M= 300& *2,00001*1.1 660
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3)4E 0| 4~5E 0] 2 85,6209 3% x66 16,953
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2)nsstn 422,400 x26E *4 3] 43,930
NeXtRS /IS 177,896
2)2H014~34 0| et 55,6502 8«15 6,678
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8,000 x20 7} x267H 4,160
02 =234l 10,236 8,772 1,464
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201 B3| 264,450 217,169 47,281
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NeEZAHZ FE2YH X
12,000,000& * 12l 12,000
308 NXIHHSOIH 16,800 0 16,800
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03 AIBMFXNAHRFEH| 27,000 27,000 0
NIIXEHS = 1,000,000& =102l 10,000
NIX S 29 12,000,000& 14 12,000
NOHEIBAIY EE g2 5,000, 000& =1 5,000
I 2529 233,148 234,800 A1,652
201 LBt A 16,748 13,400 3,348
01 AtS 22l 11,748 8,400 3,348
1OIHE EHXILH LCD 2UH REER
6,000 2430 x6 & 8,748
Notolet & xS %2l 3,000, 000& =14 3,000
02 22234l 5,000 5,000 0
Na32= ¥ 2oty 5,000,000& =14 5,000
203 HRF&HI 4,200 4,200 0
03 AIMFXAHRF=EH| 4,200 4,200 0
NeHUE S HUDIX 2RE
300,000& » 14 300
NEAHE UCCE HRFE 300,000& 1 300
NEIAS JRE9 3,600,000& 14 3,600
301 Et2A = 7,200 7,200 0
12 JIEtEA S 7,200 7,200 0
DY Ba(2Y, HM, 89X S)
50,0003 x6E «12& 3,600
NS BAE 300,000& x12& 3,600
307 212t01& 190,000 190,000 0
05 CIZtRIEZ 190,000 190,000 0
nelgugts ZE=x MY 2 29
160,000, 000& 1 160,000
NAEELBAIAEY HE 30,000,000& 1 30,000
405 KHAHFSHI 15,000 20,000 25,000
01 ML ESHSHI 15,000 20,000 25,000
NOXE SA4EYAEH Z0d01E
15,000,000& 14! 15,000
LE0ICH Est 214,400 204,000 10,400
201 LBt 3| 207,900 77,500 130,400
01 AtS 22l 207,900 77,500 130,400
NEIHY L L4E52 SE8 =SHHIY P 0H
2,400,000 14 2,400
NEGAE 2Isti3 6,000,000& «1& 6,000
NAZE 204 2,000,000& 1 2,000
1) &M 100,000
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fA: UXNEEEN
[=]

dH: (XNETZ 88 =i
el FEEE 2E ZE (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
2)TZ2EE SI4 HA 30,000,000& *12l 30,000
2)es CFE & M 20,000,000& *23l 40,000
)X EE YA M 10,000, 000& *32] 30,000
1) &ECF & 48,000
2)C&M AHIOISTV CFES & 3,000,000& 123 36,000
2)C8M AHIOISTV At & XtUSS
1,000,000& 122 12,000
Nelgy g2 29,500
2)IHY g &1 22,000,000& 14 22,000
2)2IHYDICIH A BHE 500,000& 153 7,500
1eaM JIElZ =03 R 10,000,000& *23l 20,000
203 AR 6,500 6,500 0
03 AHEFXHSFAH| 6,500 6,500 0
NYSEAM Z2FA, M)t 8§ Z20Y HHEY
350, 000& *103 3,500
NYSA BE=2 JIX gREY
300,000& *102l 3,000
Otot! 2 Hak - A&l Zejel 29 80,000 90,000 A 10,000
201 Let2d| 20,000 45,000 A 25,000
01 AtE22|H] 20,000 45,000 A25,000
N - M2 22 KA
20,000,000& 14 20,000
207 AN 60,000 45,000 15,000
02 MAHEH| 60,000 45,000 15,000
Ngaxs 2AHE 45,000,000& *14! 45,000
NDAIRITIE 2AHE 15,000,000& * 14! 15,000
Cxgdy 28 2,332,209 2,290,702 41,507
= 68,376
B 2 2,263,833
NEEE3 AHIA = 839,400 693, 150 146,250
T2 FZstuna 2 498,600 312,750 185,850
201 Let2IH| 413,000 241,000 172,000
01 AtE22/Hl 413,000 231,000 182,000
70 2 us 29 413,000
)2 ME 600, 000& 5003 300,000
2) Wbl 6,000& *16,000& 96,000
QUESE ARE 5,000, 000& =1 5,000
Q)BES WA =24 AXH3F
12,000,000& * 13| 12,000
401 Al EHIL 204 9,000 6,000 3,000
01 Al&HI 9,000 6,000 3,000
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2N ONEERD
Y 2

a: ONEsy D
¢ NGSHES MHlA &y (et =3
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
NTZE3E M2EEstnsa A4l 9,000
2)™ Il A 5,000, 000 * 17 & 5,000
2)EESL M 4,000, 0003 *1JH & 4,000
405 AHoHESHI 76,600 65,750 10,850
01 HARESF=H 76,600 65,750 10,850
NTZEE M2EEstnsz A4l 76,600
2)PC(2LIH =Z&h) 1,200, 0003 *31CH 37,200
)T 2B (USAIE X
15,000, 0003 14 15,000
2)AFE A, 9Kt 350,000&*31M E 10,850
2)S &I &I 6,000, 000& * 14 6,000
2)ANAE W - D) 3,000, 000& *24 6,000
2)ote otz 50,0003 *31H 1,550
Jlgotll E=2 &3 M3 108,000 104,000 4,000
201 etE&l 108,000 24,000 84,000
01 AtR2teld] 108,000 24,000 84,000
NIIZEXE ZEAMOIE 2 108,000
2)EEMOIE ¥ e~BHES KA 2el
2,000,000& 123 24,000
)XEE UFFE 2,000,000 x12& 24,000
288t FE 1,500,000 x12& 18,000
2)delZz0d M= 1,000,000& 122 12,000
2)PPT &1E3 MHIA 1,000,000& 122 12,000
2)2ctel NI3AHAA 2= 1,000,000 128 12,000
2)LRACHIE XtSH A MUl 500,000& * 122 6,000
SHOIXI MHlA 2435t 86,000 126,800 240,800
201 et 1,000 1,000 0
01 AtR2teld] 1,000 1,000 0
NolLEn 29 =£cl 01 1002*10,000H 1,000
207 SO0 2H| 85,000 120,000 235,000
02 & &R 85,000 120,000 A 35,000
1)EMHOIX, #EELEY zH5 2
30,000, 0003 14 30,000
NAS 2 A4 eBookM A MHIA
30,000,000& =14 30,000
NOEHY Ha SEAAE 2H(S/W)
25,000,000& » 14| 25,000
EA BEAAE 2= IAAMHA 23 114,600 122,000 AT,400
201 LEH2HH| 45,600 32,000 13,600
01 AtS22ibl 36,000 32,000 4,000
NEXAEE 3,000,000& 122 36,000
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2N ONEERD
Y 2

o (NEBY 2@
ool NAEES MHIA S CERL
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
02 IT2YH| 9,600 0 9,600
1)PDA, WS SA2 80,0002 128 9,600
207 P LI 65,000 90,000 25,000
02 & &f Ll 65,000 90,000 225,000
N2HHY HIHBAIAY DH(BI-2EHL)
40,000, 00021 * 14! 40,000
O SHLIE MAF HSALE PS
25,000, 00021 * 14! 25,000
405 THAHE S 4,000 0 4,000
01 RAUSEHSH| 4,000 0 4,000
1)E2I| 2ol 80,0002 5L 4,000
SR =3 13,800 9,200 4,600
201 LByl 9,000 6,800 2,200
01 AR eIl 9,000 5,000 4,000
1S o8 22 5,000,00024+15] 5,000
DAFIHIIE SHEA BDA 22
2,000,00021*13] 2,000
NEAR T8 M= 20,0002 #1002 2,000
203 YREZY| 4,800 2,400 2,400
03 AlZ =T R =Y 4,800 2,400 2,400
NEANLS e 2,400,0002! %14 2,400
OIRFEHETAL AlA| 2,400,000%! +14 2,400
ITSYLSHY 29 18,400 18,400 0
201 Yer2 Y| 18,400 18,400 0
01 AR eIl 18,400 18,400 0
1)AZES 0] 10,000,0002 1 10,000
1)AREH| 8,400
2)E1PC 22 22,0002 *200CH 4,400
2)DIPC 42l X2 20,0002 *200CH 4,000
Hest =Xy 2 1,492,809 1,597,552 A 104,743
= 68,376
2 1,424,433
Mg oTet 158 283,950 330,000 A41,050
405 THAHE S 288,950 330,000 A41,050
01 RMUSEH S| 283,950 330,000 A41,050
1)OIE S WA AR DE gl 125,000
2)DE 3 HUI(HM) T2 95,000,000 14! 95,000
2)DEs SN =Y 30,000, 00021 * 14! 30,000
AW Jtast SBAAY RS 163,950
)M Jbassh ZHI(H/W) 24,475,000 524! 48,950
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SN
X XH .
S Tt

el

CANES2H
CAEsdd 78
(]
- o

dE3 FAUAE

oo

25t

SN I SRI(S) - NRAY - B sk als B RS2
0f 4 o8
2)Jtatst 2el S/W 95,000,000& *14! 95,000
2)AEClXI(1.77B) 20,000,000& * 14! 20,000
HEHRE MotEH 2 670,600 593,372 77,228
201 LetI] 164,600 180,393 215,793
01 AtR22/Hl 164,600 180,393 A 15,793
NYRE S/W oK 111,600
2)MS GA AHlI2H(2XH) 210,000& *300User 63,000
2)8t= 2007 ILA A (2Xt)
48,000& 500User 24,000
2)LEMNE UWERZR gOdols
800,000& «12& 9,600
2)NAE 40,0003 *300Copy 12,000
2)8CIXtel g 0l0IXl CD 300,000 10K 3,000
1)PCOHOI 2 S/W 20K 48,000,000& * 14! 48,000
NEULDE 0K 5,000,000& x14 5,000
405 XtobE SHI 506,000 412,979 93,021
01 XL SSFSHI 506,000 412,979 93,021
NEYHRE MAEH 204 506,000
Q)R E PC UM B3 1,200,000& *375CH 450,000
2)OTEle UNES 800,000& +70CH 56,000
ANZREEs SSIBAAE 25 152,115 154,382 A2,267
= 60,846
- 91,269
405 KH&HFESHI 182,115 154,382 N2,267
= 60,846
- 91,269
01 T ESSHSHI 152,115 154,382 N2, 267
NAIZ R BSI|BAIAE 2=
152,115,000& 1 152,115
= 60,846
- 91,269
ANZFAEHE FEAAE U WA 18,825 0 18,825
= 7,530
- 11,295
405 KHoHESHI 18,825 0 18,825
= 7,530
- 11,295
01 T =SS H SHI 18,825 0 18,825
DAZREESAAE SSFH WA
18,825,000& 14 18,825
= 7,530
- 11,295
FEANAE 72 314,219 287,698 26,521
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FAM: OXNESEL
Ha: NS 28
el 323 FAUHE Lt (etel: =3
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 LEH2HH| 209,409 239,156 N29,747
02 =234l 209,409 239, 156 N29,747
NE2ANLE S8 RAE*
14,950,750 128 179,409
NENEMAAE RXE4 2,500,0003 12 30,000
403 XXM SA=01H 104,810 48,542 56,268
02 BI12SO0CHESHCHEE AL HI 104,810 48,542 56,268
NDAZT HEZHIZALAE SIAE>
8,785,000& *4=J| 35,140
NAZ7 SSIIEAIAE R
12,717,500& 42 | 50,870
NLFIS K2 2,800,000& =14 2,800
NXNYMHE2eAAY FXEx
16,000,000& x 1 16,000
A =23 #8sE M1 7,600 7,600 0
201 et 4,000 4,000 0
01 AtR2teld] 4,000 4,000 0
N =23 2258 23S Hal 4,000
)8 s /A2l 3,000,000& 13 3,000
)N JIEE L 4F M S
1,000,000& *13] 1,000
303 Z&az3 3,600 3,600 0
01 Za3z 3,600 3,600
NEF 23 g2 AU 1,600
)24 300,000& =2 600
2)R=4t 200,000 =3 600
2)Zed 4 100, 000& «4H 400
NEAMA(S)E EE3 =& &t 2,000
)2 R4 300, 000& 24 £ A 600
)4 200, 000& 44 2 M 800
2) &4 100, 0002 *6H = A 600
AR g2 & 0E 40,500 40,500
201 B3| 33,500 33,500
01 AtS 22/t 30,500 30,500
NANSEESFEH s &M ¢
100,000& »55| *11H 5,500
NENER 222 MA 25,000,000& =14 25,000
02 2323l 3,000 3,000
NREL3 3,000,000& 1 3,000
203 ¥R =&d| 7,000 7,000
03 AZFXHRFAH] 7,000 7,000
— 82 —
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2N ONEERD
o X8y 2
ol HEE =X L5 (el &2
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
IEEENTEREEEE
3,000,002 1 3,000
NHESER BIIAD FZ  2,000,000214 2,000
NNEHLs Ao 29
2,000,000% 14! 2,000
SHASA @2 A 1,500,745 1,877,241 A376,496
BUY RS 29 577,920 611,821 £33,901
Mot HESAY 25 150,000 252,000 £102,000
401 AlZHIL 2O 130,000 142,000 £12,000
01 Al&] 130,000 140,000 210,000
DA BESAY SS(AUSEIE 444)
16,000, 0002 * 14! 16,000
1CCTV RIFESHY 28T 114,000
2)L S CCTV 21CH 45,000, 0002 *14! 45,000
2)ESEW ARE CCTV 3104
60,000,002 * 14! 60,000
2)Z= X2l CCTV 3CH 9,000,0002 14! 9,000
405 THeHE St 20,000 110,000 90,000
01 HAUSEH S| 20,000 110,000 290,000
DAY BSHY L CCTV ZBIR0H
20,000,000 14! 20,000
FTEY 2 ¥BSMA 29 133,000 59,000 74,000
201 Lty 35,000 5,000 30,000
01 ALRelt] 30,000 5,000 25,000
N-T2Y 29 29 2,000,002 1 2,000
NEESAA SRR 3,000,002 1 3,000
DUIESABRAIAL 2HolMA 20
10,0002 #1504 15,000
1)CCTVE SAFH 2 BH0IE RS+
10,000, 00024 *14! 10,000
2 T2 5,000 0 5,000
NUEHT L EHT ZRALAEY S/ KRB+
5,000,000 1 5,000
401 AlZHIL 2O 90,000 54,000 36,000
01 Al 90,000 54,000 36,000
DRIIHSEAY ASZA 60,000,00020%14] 60,000
NEESAA 2aH DHZA
30,000,000 14! 30,000
405 THeHE St 8,000 0 8,000
01 RHAUSEH S| 8,000 0 8,000
N-T2Y 29 8285 20
8,000,000 1CH 8,000
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SN

CXEgs2H

Hu: QUIAHA FUTE A
Sl Y HBSH 29

_ _ - HEe =
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
HESAY 35 Y FABL 38,600 35,000 3,600

201 Ypre | 8,600 5,000 3,600
01 AtR 22l 8,600 5,000 3,600
NEBSA A28 204 8,600,000 * 14! 8,600
401 AN EHIL 2O 30,000 30,000 0
01 Al&l 30,000 30,000 0
DIPUEESAY(LAN) 018 L 54
30,000,000 * 14! 30,000
HPSAAAEY SN2 256,320 265,821 19,501
201 Ysre | 253,920 263,421 ~9,501
02 2=l 253,920 263,421 19,501
NESSMAIAY L CDISARIID X224
12,560,0002 * 122 150,720
NESSAL SR 6,600,0002! * 122 79,200
1)DEPC L2l X 2,000,000 * 122 24,000
203 YR FAY| 2,400 2,400 0
03 AIEXYREAY 2,400 2,400 0
NEBSA I8 REX 200,0002! * 122 2,400

UEIDICIO SBY 29 81,000 201,000 120,000

THERAAY 2 7S 81,000 171,000 90,000
203 YR FAY| 1,000 1,000 0
03 AR YREAY| 1,000 1,000 0

NPHEBAAEY 2Y YREX
1,000,0008! %14 1,000
405 XtoHz S| 80,000 170,000 90,000
01 R USEFSH| 80,000 170,000 90,000
NTPEESEYs SEUY =0
45,000,0002 *14! 45,000
CIXE AR & X 35,000,00021 * 14! 35,000

2SN B0 25t 244,070 298,020 53,950

MOIHBHHSHE 29 113,000 110,000 3,000
405 Xt&Hz S| 113,000 100,000 13,000
01 A USEFHSH| 113,000 100,000 13,000

1)DDOS(2AMHIAHS BA) LOIAAR 2=

55,000, 00021 +24! 110,000
NNEBSAAY S82 A0

3,000,000 * 14} 3,000

2RSS 23 U BOAAH 29 130,400 184,000 153,600
201 Ypre | 64,600 44,000 20,600
01 At 22l 25,000 44,000 219,000
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SN UNEE2D
M SUAEHA MNRE A

Hel: 2SS4 2o 235t (&2 &
BSA - MG (B H) - MEBAIY - BAH2 A} OH &EIE H =2
T o= I T * - = ° (= Ol =5 0:”/&,% VSso
1HiOl2lA BHAl T2 )8 204
25,000,000 * 14 25,000
02 S==294l 39,600 0 39,600
NEEESAAY SXES 3,300,000 12 39,600
207 AN 9,800 63,500 253,700
02 & AP Y| 9,800 63,500 A53,700
1) IP22l Al AE (IPScan) UserchOl & A 20K
7,000& *1,400H 9,800
405 XH&HFE SHI 56,000 76,500 A 20,500
01 XML =2EFHSHI 56,000 76,500 A 20,500
1HIOI A Al A 20K 8,000,000& 24! 16,000
)& UBTAIAE DA 40,000,000 x14] 40,000
AR HEE0 s 670 4,020 A 3,350
201 et H| 470 3,820 A3,350
01 AtR22ldl 470 3,820 AN3,350
NEdIIE F20H 120,000& * 14 120
1NZAI2 350,000& 14 350
203 YR F&d| 200 200 0
03 AIHFXGRF=EY| 200 200 0
NEEENE 24X 200,000& =14 200
BSME 2F FEH 593,555 762,200 A 168,645
B4l MSH(IPT) &XI 381,235 500,000 A 118,765
401 AIEHIZ 20| 299,985 418,750 A 118,765
01 Al&HI 299,985 418,750 A 118,765
1) IP Phone 241,545
2)2 Bt |P Phone 220,000& *600CH 132,000
2)UCAIAE 2= 14,800,000 *524! 74,000
2)softphone & I 7,680,000 14 7,680
2)Voice G/W 9,000,000 * 14 9,000
2)IPTA B (6002 M &) 18,365,000& *14] 18,365
2)UTPAHI Ol 2 500, 000& * 14 500
1)PoEARIX & IPT MH 12,440
2)PoEA R X| (24por t) 3,110,000 *4CH 12,440
1UPS(IEH W& 3HE UPS) 46,000
2)2AME UPS 1,000,000 *34CH 34,000
2)UPSSE 2 HE 2ol 300, 000& *404] 12,000
405 XH&HE SHI 81,250 81,250 0
01 A& ESEFHSHI 81,250 81,250 0
1) IP-PBX 81,250,000 1CH 81,250
BEMY(ES, M) 29 212,320 262,200 A49,880
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SN UNEE2D
M SUAEHA MNRE A

ool HESMY B HFS (el:@g
SA BB H(BH) - MBAY - B2 Ofl Ak 04 ﬁgi HRs2
201 Yot Y| 210,400 198,000 12,400
01 AtRZelt] 6,000 18,000 A 12,000
&I ADE 70} 3,000,0002 *14 3,000
NEAY 27 sx2e 3,000,0002 *14 3,000
02 222l 204,400 180,000 24,400
NB222 2 HAl 16,450, 0002 *122 197,400
NENDEI SXE4 7,000,0002 *14 7,000
203 Y=Y 1,920 1,200 720
03 AIZZAREZY| 1,920 1,200 720
DA QLHS(0FF, BHY)
160,0002 122 1,920
HPSA QFAHA RB 4,200 4,200 0
HOSADA ABEIA 4,200 4,200 0
201 LBt Y| 3,000 3,000 0
01 AtRZelt] 3,000 3,000 0
NHESASA ASTELAZY DF 2 22
3,000,0002 *14] 3,000
203 HREZY| 1,200 1,200 0
03 AIMZZAREZY| 1,200 1,200 0
NESSUARTAA HE d28s
1,200,000 *144 1,200
SHIZEA SA(SAIE) 78 100,000 40,000 60,000
oCTV D& 3 100,000 40,000 60,000
2EA CCTV DE 3 100,000 40,000 60,000
201 Yoty 10,000 10,000 0
01 AtRZ2lt| 10,000 10,000 0
1)CCTV SX 24 10,000,0002 *1 4 0,000
401 Al&HIL 20| 50,000 30,000 20,000
01 Al&H| 50,000 30,000 20,000
1)CCTV & | 50,000
2)CCTV A (16CH) 30,000, 0002 *14! 30,000
2)CCTV &1 & (4CH) 20,000, 0002 * 14! 20,000
405 XHAHE SHI 40,000 0 40,000
01 RAUSES S| 40,000 0 40,000
1)CCTVE A9IX AXI(8TH)  5,000,0002 *6CH 40,000
#FSAFU(ONLS2 D) 185,620 168,060 17,560
olzi e (CINEE D) 4,260 4,200 60
e REELET] 4,260 4,200 60
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SN UNEE2D
Hu: 2 (CXNLE2 D)
Sl o2 YHI(CINE 2D (S5 &)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
203 HRFY| 4,260 4,200 60
04 ENRYAREAY| 4,260 4,200 60
NENSILRETY (B 31Y)
355, 00021+ 122 4,260
JIE2ZH(CNEESD 181,360 163,860 17,500
p[CET 181,360 163,860 17,500
201 Yer2 ) 69,760 63,060 6,700
01 ALR eIt 67,360 60,660 6,700
1012 ASSEBY 20,0002 x292 *43] *80% 1,856
1012 ASS8Z01F 30,0008 *29% *45| «80% 2,784
18 FHI KXY (ZRIE N6, ZAI2)
400,000 *8CH *43] *80% 10,240
PEEE=I 7,00021 %312 x20A1 #1224 52,080
DEVEEN 50, 00021 4} x23] 400
02 ZZ2Y| 2,400 2,400 0
NBZR3 UL MAl 200, 00021+ 122 2,400
202 01t 111,600 100,800 10,800
01 =Uioibl 111,600 100,800 10,800
& Z ol 20,0002 %312 * 152 +122 111,600
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M =olME 2 0t
7
o Tt

o}E B U X
Sl HAS FO MO X8 (el & 2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
ZOIM BRI 3,848,586 2,721,148 1,127,438
2 247,449
Al 1,850,661
2 1,741,476
NS 25 U N 3,341,960 2,510,357 831,603
2 247,449
Al 1,859,661
2 1,234,850
NAS 0l M2ory X9 996,770 2,231,508 A1,234,828
2 189,200
Al 161,514
2 646,056
FRIHYENNG 2Y N 409, 117 1,736,798 ~1,327 681
306 &0 409, 117 1,673,763 A1,264,646
01 B2 409,117 1,673,763 A1,264,646
1)01 24| (= 26%) 228,369,000 1 228,369
NS ZREY 20,000,002 1 20,000
NIE 2 86,357,000 1 86,357
1) xRl 26,000,002 1 26,000
1) AL H] 48,391,000% 1 48,391
FREYTCO 2Y(1.257) 133,403 236,997 ~103,59
Al 22,524
2 110,879
101 2121t 97,568 85,618 11,970
Al 22,524
2 75,064
04 D2 2RSS 4 97,568 85,618 11,970
1,288 JI2H 22XS 24 97,588
2)0124t| 1,742, 00094 *42 122 83,616
Al 22,524
2 61,002
2282 S 1580002 +424 122 7,584
2)€1%3 1,742,002 %22/ 128 +2% 6.388
201 L2 33,415 33,500 A85
01 AtR2lt] 11,755 7,700 4,055
NEZH L0lzs 2 835, 00024 +11A 835
NEMARE P 1,600,000 1 1,600
NAREE 7Y 800, 0002 *11 800
EEZYE 25 7Y 20021 *5,00004 1,000
DEEESEE 4021%100,0000H 4,000
AR AL TS 40,0002 82 3,520
02 IS 21,660 23,800 £2,140
DEBIE=E 1,000, 0002 * 122 12,000
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NHAS SSAAZOC 2HEW 04
2,500,000 *4CH 10,000
ST SASMY DI HAX=D| B 50,000 50,000 0
405 AHoHESHI 50,000 50,000 0
01 MHARESFSH 50,000 50,000 0
NSASMYIIHAEI] 20 £ &X
50,000,000& 14 50,000
ZOHel HOAlE &=EI 110,900 110,900 0
HOHCl HOAIL JHE+ L SSEHH| 110,900 110,900 0
201 =&l 9,300 9,300 0
01 AtR22lHl 9,300 9,300 0
NI HOAIE HX2H DS 2,100
2)WEUME 300,000 18 23] 600
Q)WY 5,000& 300 1,500
NEMAHIIAIE E=HH| AHEIEAY =& 7,200
2)ZOHQIEOIAIL EEHY| et 2IES A
800& *2,0000H 1,600
2)QIHIEIEAIY =2t HItX=
80,000& *30& 2,400
2)HIEIEAIY =E EHIAZ
80,0003 =40 3,200
203 HRF4Hl 1,600 1,600 0
03 AIMF=XHLFEH| 1,600 1,600 0
NI HOJAIE AEHZEAL S HRES
1,600,000& 1 1,600
401 Al &HIL 201 100,000 100,000 0
01 Al&HI 100,000 100,000 0
DNZOHHOIAIL HES L &S
100,000,000 x1& 100,000
fgo 25 ¢ X& 10,380 6,200 4,180
=085 10,380 6,200 4,180
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201 LEH2 | 4,860 2,840 2,020
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NSRS AMZX A23 D 500, 000& »62l 3,000
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NP EHEE MES 50,000& *123] 600
202 O 3,600 2,400 1,200
01 =W 3,600 2,400 1,200
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Al 194,460
- 83,340
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= 416,700
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- 83,340
01 AtSIE 694,500 561,967 132,533
NES 694,500,000& =14 694,500
= 416,700
Al 194,460
- 83,340
HE & 92,200 20,308 71,892
= 46,100
Al 23,050
- 23,050
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= 46,100
Al 23,050
- 23,050
01 A2 & 92,200 20,308 71,892
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RO ZMBSEAS DSYUX HE S
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03 AlZZ=TQ R =Y 1,200 816 384
NPR2PMHIEIAG 2% S ALHS
5,0002  10% *43] 200
RO ZMEBEAL 42T AL
1,000,000 *114 1,000
AANE 2RALR 6,000 12,000 6,000
301 LBBAI 6,000 12,000 26,000
01 A B R X253 6,000 2,000 6,000
NRASINE 202 2 ng
6,000,0002 114 6,000
Atgi 2 o 4,562,240 3,632,810 929,430
= 2,071,107
Al 996,229
2 1,494,904
RE22AY 3,433,435 2,789,939 643,496
= 1,460,061
Al 681,362
2 1,292,012
307 212H0IH 1,776,408 1,300,000 476,408
= 1,065,845
Al 497,394
2 213,169
05 PIZHSIES 1,776,408 1,300,000 476,408
DAZE S 1,776,408, 0002 *1 1 1,776,408
= 1,065,845
Al 497,394
3 213,169
401 Al&HIL 20| 1,657,027 1,489,939 167,088
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186,375 200,797 N14,422
= 111,825
Al 52,185
T 22,365

301 LetEas 186,375 200,797 A14,422
= 111,825
Al 52,185
T 22,365

01 M2 63 186,375 200,797 A14,422
= N& 186,375,000& x 14 186,375

= 111,825
Al 52,185
T 22,365

JAL - 2HESE =01 AL 55,880 262,660 A206,780
= 27,940
Al 13,970
- 13,970

307 2120l & 55,880 262,660 A206,780
= 27,940
Al 13,970
T 13,970

05 QIZtRE = 55,880 262,660 A206,780
2

55,880,000& 14 55,880
= 27,940
Al 13,970
- 13,970
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Wy
0o
O
0z
=
R

495,699 0 495,699
= 297,419
Al 138,796
- 59,484

307 2120l & 495,699 0 495,699
= 297,419
Al 138,796
T 59,484

02 ezt 495,699 0 495,699

ES
ST AL 495,699,000& * 1 495,699
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= 297,419
Al 138,796
T 59,484
THEAS JIBtE S 15,716 9,031 6,685
201 et=g&l 14,916 8,231 6,685
01 AtR22iHl 5,800 2,000 3,800
DXEAIY 2 2123 FF  1,0002%3,0000H 3,000
DREAY SUSTH L AT 22
7,000& 400 2,800
03 A2 9,116 6,231 2,885
NREAY A2A F3s 4,000, 000& *13] 4,000
NXEAY BIOIED3 5,000, 000& 12/ 5,000
NAEMERIEA EE 7,700 «150H 116
203 ¥R =&l 800 800 0
03 AM=XHRS=LH| 800 800 0
DREARIIBES 85 80,0002 *1 800
Sde =XNdEE S 1,000 0 1,000
Sgs SNEA 1,000 0 1,000
=PSRN 1,000 0 1,000
203 PR =& 1,000 0 1,000
03 A=A HL=LH| 1,000 0 1,000
NEXNZN L= 1,000, 00021 1,000
HY 2L ZHI(ALZI S X IH) 166,207 171,651 N5,444
el 2HHI (AL S X 2) 52,707 45,731 6,976
FAMIE2EI 4,200 4,200 0
203 HRF4Hl 4,200 4,200 0
04 RA2SLRF=LH| 4,200 4,200 0
NEASYLLETL(ZH 173)
350,000 «128 4,200
SO o Y =FJ Q1A 48,507 41,531 6,976
101 1A 48,507 41,531 6,976
03 RIIHAZZXNE= 48,507 41,531 6,976
1,330,000& x 12~ 123 15,960
(15,960,0002+3,564,000& )*1/12%400% 6,508
=g 17,684
2NN DR4E
7,4653 x1.5+20A| 2+ 12+ 122 2,688
AEEEEES
7,4653 %1.5% 16 Al 2+« 1H «12& 2,150
REFt=E 59,720 x1H 15 896
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S AEIZ D
M HHSAAH| (Al =X D})
Sl IR Yl (ASI =TI (9l & 2
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
)AL 70,000& x1H*12& 840
2)IE544 80,000& x1H*12& 960
2) 2L 2 27,0003 x 11 XH= 12«12 3,564
2)R M4 50,000& x1H «12& 600
2) A K& Hl
(15,960,000 43,564,000 )x1/12%150% 2,441
2)KHHSHH| B X4 443,100 x2H x4 3| 3,545
1)= eS| 4,961
2)= 4| 100,000& » 1 = 12& 1,200
2)0d | 110,000& x1H =12 1,320
2)HE S|
(15,960,000 43,564,000 )1/ 12%75%*23] 2,441
1)J1EFXI & A HI 190
2)MEAU 20,000& x1H *23] 40
2) 8 HHAE S AKX 150,000 * 1 13| 150
N2 2=2 3,204
2)=01Z28ed=2 45,113,000& x4 . 5% 2,031
QJMMEES 45,113,000& x2.6% 1,173
=2 (MBI =X ) 113,500 125,920 A12,420
Jle&dl 113,500 125,920 N12,420
201 Et2dd| 44,800 50,320 AN5,520
01 Al22+2/H] 39,360 45,520 26,160
)12 AS2EH| 20,0002 * 172 *43] x80% 1,088
1)JI2 AR08 30,000& *17H x4 3| *80% 1,632
1N EAHSKHI(Z2IE D5, 2 A1)
400, 0003 *6CH*4 3] *80% 7,680
1NE224H| 7,000& *17H *20A] x 12 28,560
1) A2 50,000& x4& *23| 400
02 s394l 5,440 4,800 640
NE222= 2 HA 420,000& =12 5,040
NS AIE BHPEEHZ
200,000& *x23| 400
202 044l 61,200 75,600 A 14,400
01 2 obl 61,200 75,600 A 14,400
1)E& 04l 20,0003 x17H 15 x12& 61,200
405 KHAF SHI 7,500 0 7,500
01 MY = SF SHI 7,500 0 7,500
NEAII2L(UHMFAS) 7,500,000 = 1CH 7,500
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Lol 25X 84

LOFIAE 28 . X3

(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES Ol &F2H Ol AF o8 Hns
==X Bt 68,566,333 55,066,838 13,499,495
2 23,203,687
p] 28,500
Al 25,931,965
-l 19,402, 181
Lol 23 =X 24,909,490 20,785,958 4,123,532
= 15,110,236
Al 4,841,819
2 4,957,435
LOZXAY 2Y X 853,434 820,440 32,994
Al 379, 181
- 474,253
224 291« 755,160 721,140 34,020
Al 355,781
- 399,379
307 2I2+0|A 755,160 721,140 34,020
Al 355,781
- 399,379
02 DIHAAS X 755,160 721,140 34,020
nNzag 294 638,400,0002 * 1= 638,400
Al 304,776
2 333,624
NZ2Y ety X 116,760,0002 1= 116,760
Al 51,005
- 65,755
LoImARY 28,800 31,200 A2,400
Al 14,400
- 14,400
307 QI2+0I& 28,800 31,200 A2,400
Al 14,400
- 14,400
02 DI2HAAEX 28,800 31,200 2,400
NNolmA29 X 200,000 1270 A*12% 28,800
Al 14,400
=1 14,400
FEARY HIEZXA 16,500 16,500 0
405 KHaHE SH 16,500 16,500 0
01 MAUSES SH 16,500 16,500 0
NPYZ2Y HIEIY 500, 0002 «330H A 16,500
2o 235 T2 29 24,900 21,600 3,300
Al 9,000
2 15,900
307 QI2+0IA 24,900 21,600 3,300
Al 9,000
-l 15,900
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02 2ItBAE X 24,900 21,600 3,300
NZZOHA X Ayl 18,000,000& 14 18,000
Al 9,000
2 9,000
NIIARLI(4UHEE) 1,800,000& 14 1,800
NZ2 &AL X S| 200,000& «12& 2,400
NEZZOE 29| 100,000& x12& 1,200
DEEEERE 1,500,000& 14 1,500
CHet-ol13 XY X2 28,074 0 28,074
402 It XHE01H 28,074 0 28,074
01 S GEEX 28,074 0 28,074
PN E=Enaeals] 22,340,000& * 14! 22,340
NHA(SEM,FSH,28) 3,500,000 *14] 3,500
NHeIAE 2,234,000 =14 2,234
AS O MEOE X 23,146,628 19,137,475 4,009,153
2 14,886,638
Al 4,175,400
- 4,084,590
2Z2AY 23 510,920 393,865 117,085
Al 202,440
- 308,480
307 212t01& 510,920 393,865 117,055
Al 202,440
- 308,480
02 BlItAAE L 510,920 393,865 117,085
NAzAY 294 I 510,920,000& =14 510,920
Al 202,440
- 308,480
MAS Mot AAHHE 209,349 150,000 59,349
Al 209,349
307 gIz2told 209,349 150,000 59,349
Al 209,349
02 BltAAEX 209,349 150,000 59,349
NMAS THIOH=Ql AlAEHE
209,349,000& 14 209,349
Al 209,349
=gz 20,415,600 17,005,800 3,409,800
= 14,286,860
Al 3,061,470
- 3,067,270
201 LBt A 5,000 5,000 0
01 AtS22iHl 2,500 2,500 0
NSAAN LEE S50 100& *10,0000H 1,000
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DOl MEAHIA KIS

- _ SN E N
SN EHH .2 (3H) . EHA Ak o Gil it o Hnz2
| 7 63,622
LOISEE JIBAMHIA M 192,710 173,449 19,261
2 96,355
Al 48,177
7 48,178
307 2I2t0l 192,710 173,449 19,261
3 96,355
Al 48,177
7 48,178
05 QI2t2IEZ 192,710 173,449 19,261
NEAESEIEMEIA(SHEQ B DCIA)
10,0002 * 14 192,710
2 96,355
Al 48,177
7 48,178
NETor2el Al 24 175,440 157,811 17,629
Al 175,440
201 Lo 13,600 10,960 2,640
Al 13,600
01 AtR2elb| 4,600 4,600 0
NEARA 298| 100,000 30 4 122 3.600
Al 3.600
1A S22 AL & 1,000
2)YYESEIN 2,0002 *400H 800
Al 800
)FANESHEE 2,000% 100 200
Al 200
02 SZ2EH| 9,000 6.360 2.640
1OISHEEI| B 60,0008 x11& x 122 7,920
Al 7,920
NEARY Hste3 30,0002 30§ 2128 1,080
Al 1,080
203 A2 FZH| 2,000 2,000 0
Al 2,000
03 AMZAARFTY| 2,000 2,000 0
1A SO 2I AL & 2,000,0002 * 14 2,000
Al 2,000
301 YetEa3 159,840 144,851 14,989
Al 159,840
12 JIEt2 a2 159,840 144,851 14,989
DASIOt22IA 2 159,840
2)201 & 2l 133,700,000 1= 133,700
Al 133,700
2)2EE (42 E 12,500, 0008 * 1 12,500
Al 12,500
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==X
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M=ol MEMElA WS

A" . O (3] H)

CHIEAY - BAS

[
2

20
B
2

2)1E - EA| 100,000 * 112 *1204 13,200
Al 13,200
2)M2 - HE A 40,0009 112 440
Al 440
olzAl ABIEE X 286,792 324,451 ~37,659
COEAMESE X 183,600 206,600 223,000
201 Yer2 Yyl 6,800 9,000 A2,200
01 At 6,800 9,000 A2,200
DS - BSAY HIZTY  20,0008+3402 6,800
301 LBAI 176,800 197,600 20,800
01 ASIBHE462 176,800 197,600 220,800
NIE - 22 ZAR 5,000 x340% 527 +23] 176,800
Y2 YT 41,914 59,411 A17,497
201 LBty 6,814 24,311 A1T7,497
01 At el 6,814 24,311 A1T7,497
o2 HEUE 10,0002 #1664 2 #43] 6,640
Mol B 74,0002 1 174
203 R =Y 1,000 1,000 0
03 Al =X QR =TY| 1,000 1,000 0
NAZYELSAMY LLES 1,000,000 +14 1,000
01 Ler A 34,100 34,100 0
01 AElBHE462 33,200 33,200 0
NYE (8 24)2Y AL
100, 0002 * 166K 2 +23] 33,200
12 JIErEN2 900 900 0
N2+P2Y EH(THI £01) 900
AEEESN 100,000 * 14 A 18] 100
2) 244t 100,000 *37H 4 18] 300
2) el 10,0002 5K A +13] 500
ol2al 2s=EH 35,000 35,000 0
201 LByl 35,000 35,000 0
03 A2 | 35,000 35,000 0
o2 2aEH 35,000, 0002 *12] 35,000
G2 4l EHOIEA X2 3,858 4,620 AT62
201 Yer2 ) 1,058 1,820 AT62
03 A2 | 1,058 1,820 ~762
1A X2 1,058
2)0iH0IE JlE EXES S HE
7,700 %253 193
2)=Ql0 & DOl HE  7,700% 50 385
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JIIE=X 1
Lol 25X 84

M4 At2lgs T3

_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
2)8laat 2o 70,0002 *4JH 280
DMNREES D0f 1000002 +23| 200
203 YR 800 800 0
03 AlZ=ZQREAY| 800 800 0
10124l &0 AL HRES 80,0008 %11 800
307 I2+0|& 2,000 2,000 0
04 QIIB AL X 2,000 2,000 0
10124 242 =M S XY 2,000,0008+11 2,000
LoI=X SAAY Lals 4,420 4,420 0
201 ety 420 420 0
01 At 420 420 0
NE=XII2SESRE 2o
70,0008 +3% x23| 420
203 HRFXY| 4,000 4,000 0
03 AIZZEZYREAY| 4,000 4,000 0
DAZCH, SNALSY ARHS
,000,0002 *1 4,000
A2Y HL23 ALY 18,000 14,400 3,600
201 Let2 oy 18,000 14,400 3,600
02 232 18,000 14,400 3,600
NelHY RS 15,0002 * 1007 A * 1204 & 18,000
LOSTAL BE 300,000 286,000 14,000
CoETAL Jhe & JIsRY 300,000 286,000 14,000
TYUBRY RNES 300,000 286,000 14,000
201 Let2 oy 100,000 60,000 40,000
01 AtR22ll 100,000 60,000 40,000
NREARY AXE 100,000,0002! * 11 100,000
401 AlSHIL SO 200,000 226,000 £26,000
01 Al&H 200,000 226,000 ~26,000
NREZRY N2 200,000,0002 *1 200,000
ALE YR0L |4 37,539,640 29,055,823 8,483,817
= 7,281,413
Al 19,319,382
3 10,938,845
BEAL2IN 36,922,430 28,637,964 8,284,466
= 7,090,913
Al 19,214,132
7 10,617,385
B2 JINBSAL 29X 586,080 636,000 49,920
307 ©I2+0|& 586,080 636,000 49,920
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M JIE=X
H: AU FRO0F I4
CHel: ERAILE29X A (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
02 QIHAAER 586,080 636,000 49,920
1) OF2HAH| 10,0002 %2, 634 « 12& 316,080
NESDA 225MH| X
50,000 *450% 122 270,000
HeX e E]A4 DHnTH X 28,200 38,200 A10,000
402 DIZ2HR=0| A 28,200 38,200 210,000
01 I2tR=2EX 28,200 38,200 10,000
NESAS 0l DAY 28,200
2)gtts wal 500, 00024 %790 A 3,500
2)5021018t Al& 600,000 *9IH A 5,400
2)5001~10091 0| BHA| & 700,000 * 197 A 13,300
2)1002101 & A& (HOHQIAIE L&)
1,000, 00024 *6IH A 6,000
SSAIA SAH X2 30,000 30,000 0
307 QI2to|A 30,000 30,000 0
04 BIZtHAIE X 30,000 30,000 0
NESAA S#AH X 30,000
A RSEONEE] 10,000,000 13 10,000
2)oi2t 10,000, 000 *13] 10,000
2)ItH 10,000,000 * 13 10,000
SRAISE diuteiy X 114,800 112,000 2,800
307 QIZto|A 114,800 112,000 2,800
02 QI2tFAEX 114,800 112,000 2,800
NESAAE H - ety X2
100, 000 +287 1 A *4 2 114,800
OIS EFAIE Il A& 48,000 48,000 0
402 DIZ2HR=0| A 48,000 48,000 0
01 QIIR=2EX 48,000 48,000 0
NI P2 800, 0002 *607H & 48,000
ZZE EKAA SAIRQIAH| 4,334,817 5,273,323 /938,506
= 1,300, 445
Al 2,124,060
- 910,312
307 QI2to|A 4,334,817 5,273,323 938,506
= 1,300,445
Al 2,124,060
T 910,312
05 BI2+QIEF 2 4,334,817 5,273,323 /938,506
N2Z2EEFAE SAA A4
4,334,817,000 1A 4,334,817
= 1,300, 445
Al 2,124,060
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el

_ _ _ b=
SA BB E(B) - HEANY - BES o ST DS

| = 910,312

s B2 K 9,549,683 7,783,470 1,766,213
= 2 864,905
Al 4,679,345
| 2,005,433

307 0I2H0| & 9,549,683 7,783,470 1,766,213
= 2,864,905
Al 4,679,345
2 2,005,433

05 DI2tlera 9,549,683 7,783,470 1,766,213
1)0~4K 0l RIEES2  9.549.683,0002 *1 9,549,683
= 2 864,905
Al 4,679,345
el 2,005,433

90t D BR2 K 105,797 0 105,797
= 31,739
Al 51,841
| 22 217

307 012+0| & 105,797 0 105,797
= 31,739
Al 51,841
| 22,217

05 DI2t9IEra 105,797 0 105,797
NQYOPIIR UK2 XY 105,797,000 *1 105,797
= 31,739
Al 51,841
| 22,217

e 882 1 6.924,087 5,208,640 1,625,447
= 2.077.226
Al 3,392,803
2 1,454,058

307 0I2H0| & 6.924,087 5,208,640 1,625,447
= 2.077.226
Al 3,392,803
- 1,454,058

05 DI2relera 6.924,087 5,208,640 1,625,447
e 222 1 6.924.087,0002! *1 6.924,087
= 2.077.226
Al 3,392,803
Bl 1,454,058

DISHIOF RARRE XY 1,205,797 1,660,723 A 454,906
= 361,739
Al 500,841
| 253,217

307 012+0| & 1,205,797 1,660,723 A 454,906
= 361,739
Al 500,841
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SM: HE=X D
HE: AYS YRO0H F4
ol ESALA (el &
_ _ _ N E
SN -HH - SA(B) - MRAY - BES O &F 24 Sl aton HRE2
- 253,217
05 BItRE = 1,205,797 1,660,723 A 454,926
1)RI5AI0F RARSE X2
1,205,797 000 14 1,205,797
= 361,739
Al 590,841
2 253,217
ZOoHor RaAEsE XA 526,890 941,467 2414577
= 168,067
Al 258,176
- 110,647
307 212to1& 526,890 941,467 AA14.577
= 158,067
A 258,176
- 110,647
05 BItRE = 526,890 941,467 A414,577
NEOMOL RPAEEE X2 526,890,000 «1& 526,890
= 158,067
A 258, 176
- 110,647
ShHHAY B2 K& 787,567 831,817 A44.250
= 236,270
A 385,908
- 165,389
307 QI2t0IA 787,567 831,817 A44.250
2 236,270
Al 385,908
- 165,389
05 2IIRAES 787,567 831,817 A44.250
NEANEHOIA B2 XI& 787,567,000 14 787,567
= 236,270
Al 385,908
2 165,389
EKIM BN 24,903 27,970 A3,067
= 7,471
Al 12,202
2 5,230
307 S12t01& 24,903 27,970 23,067
= 7,471
Al 12,202
- 5,230
05 BIZtRE = 24,903 27,970 A 3,067
NESWA B0 24,903,000& 14 24,903
= 7,471
Al 12,202
- 5,230
SAIE (22N WL 2| 172,437 200,670 228,233
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A ObE
= 2
e
=

el

_ _ pSNE e
2N -3 - c2(3H) - NEME - HES ALl ‘Oﬁ,‘\ja‘g Hns
=2 51,731
Al 84,494
2 36,212
307 QI2+0I& 172,437 200,670 28,233
2 51,731
Al 84,494
2 36,212
05 DI2tglera 172,437 200,670 28,233
1RIZEIHSSASE DHD2H X
172,437,0002 14 172,437
2 51,731
Al 84,494
-l 36,212
SEAL(22Y) H2HH| 4,400 4,400 0
2 1,320
Al 2,156
- 924
307 QI2+0IA 4,400 4,400 0
2 1,320
Al 2,156
2 924
05 QIS 4,400 4,400 0
NESAIE X229 XA 4,400,0008 %1 4,400
2 1,320
Al 2,156
2 924
HRAL 2YHA 282 X 87,630 263,656 A 176,026
Al 43,815
- 43,815
307 QI2+0I& 87,630 263,656 A 176,026
Al 43,815
- 43,815
05 DIt et 87.630 263,656 A 176,026
1) & MBI T OF XHOH K| 87.,630,0002 1= 87.630
Al 43,815
-l 43,815
ESAL 29H X 610,004 880,664 270,660
Al 304,202
- 305,802
203 Y2 =AH| 1,600 1,600 0
03 AlM=FGR=ZH| 1,600 1,600 0
YR E8YR =7 1,600,000 11 1,600
307 QI2+0IA 608,404 879,064 270,660
Al 304,202
2 304,202
05 DI2tglera 608,404 879,064 270,660
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~ - S =
M- E - S(3) - HRAY - BY2 o i HIRE
1)20t 2 ROHOLEF S 608,404,0002! + 11 608,404
Al 304,202
= 304,202
SSAE SYMAH 2AH XY 3,540,028 2,804,986 735,042
Al 1,770,014
= 1,770,014
307 QI2H0IH 3,540,028 2,804,986 735,042
Al 1,770,014
= 1,770,014
05 QI2HSIEr3 3,540,028 2,804,986 735,042
NESAE 2 212 X
3,540,028,0002! * 1 3,540,028
Al 1,770,014
2 1,770,014
SSORI01T 2 X 7,425,600 1,200,000 6,225,600
Al 5,197,920
= 2,227,680
307 QI2H0IE 7,425,600 1,200,000 6,225,600
Al 5,197,920
= 2,227,680
02 IAPNBE 7,425,600 1,200,000 6,225,600
DANSSOZ0IZ Q1Y & 2%yl X2
7,425,600,0002 11 7,425,600
Al 5,197,920
= 2,227,680
ST BRAE 29 X2 380,400 285,600 94,800
Al 190,200
= 190,200
307 2I2t0IH 380,400 285,600 94,800
Al 190,200
= 190,200
05 BI2HPIEa 380,400 285,600 94,800
NELE SSAL 294 N
380,400,0002! * 1 380,400
Al 190,200
= 190,200
DOjOt ERRIANE 29 100,268 102,472 ~2,204
Al 50,134
e 50,134
307 QI2H0IH 100,268 102,472 ~2,204
Al 50,134
= 50,134
05 DI2HSIEra 100,268 102,472 ~2,204
NIHOt SEESAIL 29 X2
100,268,002 * 11 100,268
Al 50,134
= 50,134
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S IIE=XD
I AAS HR0F S
Col: BRAMSYXE 2@
_ — PSS
N33 S2(3H) - MEAMY - BES Aol ‘Oﬁ,‘\ja‘g Hlw &2
AR0IZRAR £X 2Y 335,042 213,906 121,136
Al 76,021
= 259,021
201 ety 3,000 0 3,000
03 A2 H 3,000 0 3,000
YKOLZ IR HAA 3,000,000 %141 3,000
307 SI2t0IH 152,042 53,906 9, 136
Al 76,021
= 76,021
05 SIRteIeta 152,042 53,906 %, 136
1)e121| 73,440, 000! *11 73,440
Al 36,720
= 36,720
)2l 78,602, 0008 *14 78,602
Al 39,301
= 39,301
401 N EHIL20HY] 180,000 160,000 20,000
01 Al&bl 180,000 160,000 20,000
YKOLZ2HX &bl 180,000,000% 11 180,000
BEAHIA B4 66,210 57,009 9,201
BSYHUSAI 2 4,440 4,540 A 100
201 Lete gyl 3,640 3,740 A100
01 At 22l 3,640 3,740 A100
NESHUALAS FASY 70,0008 132 x43] 3,640
203 YR FAY| 800 800 0
03 AR YREAY| 800 800 0
NESHUNAS P2z 200,0002! *43] 800
BEAL SAL 1S 6,360 6,360 0
201 Yer2ey| 4,860 4,860 0
01 AtR2t2It| 4,860 4,860 0
NI LA =9 500,0002 35 1,500
RS DI 1,500,0002 +25] 3,000
NS Zeh3tc 10,0002 30 300
NI ANSEE 20,0002 +33] 60
203 YR FAY| 1,500 1,500 0
03 AlZ{ZXYDETH| 1,500 1,500 0
DEAR I8 S Y2 1,500, 0008! *1 1 1,500
DHESAE SAK B 370 639 1269
201 Yer2ey| 370 639 269
01 At2z2l| 370 639 1269
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A IIE=EXH
= AW R0 KA
ol PRAHIA A CLEL
SA - M. CHY (B HEAY . N2 A} OH HEE =}
SH M HA(FA) - HRAE - S = &= O] AFOH S5
2)z R 3,000,000 104 2 3,000
2)R= 2,000, 000& *374 2 6,000
2)&d 1,000,000& *57H 2 5,000
EFAE SE3Md L J|IsES 297,000 282,450 14,550
= 63,500
Al 41,750
- 191,750
FRXNIAESAILE N - B+ 150,000 150,000 0
401 A EHIL 204 150,000 150,000 0
01 Al&HI 150,000 150,000 0
NESXNESAIE W2+ 150,000,000 « 1 150,000
BEANE JIsE2H 34,000 62,000 228,000
= 17,000
Al 8,500
T 8,500
401 Al&HI LR OHYI 30,000 60,000 A 30,000
= 15,000
Al 7,500
- 7,500
01 Al&H| 30,000 60,000 A30,000
NERXNFESAMLE Jls 22
30,000,000& 100 2=+ 14 30,000
= 15,000
Al 7,500
T 7,500
402 QI2HRHE0IH 4,000 2,000 2,000
= 2,000
Al 1,000
T 1,000
01 2IEXEE X 4,000 2,000 2,000
NESXNIFESAIE HHIHl XA
2,000,000& *2JH A1 4,000
= 2,000
Al 1,000
- 1,000
0ot 2= e 93,000 0 93,000
= 46,500
Al 23,250
- 23,250
402 It THE01H 93,000 0 93,000
= 46,500
Al 23,250
- 23,250
01 2IEAEE X 3,000 0 3,000
N B3 MHEAE HHlHl X
3,000,000& *1JH A1 3,000
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4= 4

1,500
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45,000
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A 10,000

402 BIZtXt=
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4 = A}

254,000
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78,400
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4=

254,000
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175,600

307 2120l &
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A600
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SN IE=R D
By ol UUSE o A

SOl TN RS (e
_ _ _ N E
SA BB H(BH) - MBAY - B2 Ofl & o Gil it o HRs2
IPEEEIE R 2,000,0002 * 13l 2,000
)29 FAISI(0IZ, AR S)HA
1,000,000 %13 1,000
203 Y=Y 500 500 0
03 AlMZ=ZRETY| 500 500 0
)0 &F2 HR=Y| 500,002 *14 500
TR ol (kE)EY O (L) RO 16,800 0 16,800
201 Ygreg| 16,000 0 16,000
01 AtR2elt| 1,600 0 1,600
NSAE 8 M= 10,0002 * 1202 1,200
DELEN=SES 100,0002 x4} 400
03 A2 Y| 14,400 0 14,400
NOU#Z 23s N 1,500,000 %43 6,000
NZAR 500,000 *43] 2,000
NI 2HME 0t0ICI0 LhisOte HE
1,000,000 %13 1,000
NOUBTY SIS DS
50,0002 x20% *574 2 2415 5,000
NAERS 100, 0002 *43| 400
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Al 36,750
- 3,025,630
2223 29 & 471,280 308,920 162,360
Al 36,750
- 434,530
201 Et24d| 253,480 72,000 181,480
01 At Zelbl 170,560 0 170,560
1NZ:I0F A EZES 2,420,000 x70m’ 169,400
NI 2MEE &Y 1,160,000& *14] 1,160
02 ss294l 82,920 72,000 10,920
1)L XE AP 2eld] 6,910,000 12& 82,920
306 =2 100,000 130,000 A 30,000
01 932 100,000 130,000 30,000
DAY 542 100,000,000& =14 100,000
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SN 2SHS D
M 25z IS
Sl 230 JBAE BE 2 29 (el & 2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES Ofl &+ o4 il i~ o Hnz2
307 BI2HOIF 112,000 106,920 5,080
Al 36,750
2 75,250
03 AtSIEHHIE X2 49,000 49,000 0
NRESSY AL2F Q12|
20,000,002 1 20,000
Al 15,000
2 5,000
P22 At 29,000,002 1 29,000
Al 21,750
2 7,250
05 pI2teIEt3 63,000 57,920 5,080
1)01& X AlS| 10,000, 00024 *1 10,000
AR E Al 8l 10,000, 0002 * 1 0,000
1)K 0 & Al E 10,000, 0002 *1 10,000
1)AISH & AlS] 10,000, 0002 *1 10,000
1)5, 24 A3 6.000,0002! 1 6.000
1)%503 7,000,008 1 7,000
DARR 223 10,000, 00024 *1 10,000
401 Al&HIL = O] 5,800 0 5,800
01 Al&H] 5.800 0 5,800
)20} AXAS HH SAH 5,800,000 «14! 5.800
oreBeIE 2 7,700 42,408 £24,708
201 Ysr2g| 17,700 6,408 11,202
01 At 22lt] 15,000 3,500 1,500
)28 020 YXE 8,000,000 14 8.000
1)orel 2 F| 4,000,0002! +14 4,000
NDHDUBY 0FR0 NEHL
3,000,002 1 3,000
02 B2 2,700 2,908 ~208
DEBlk=E= 120,0008 %122 1,440
1)R0IAH ALY 23 105,000% * 122 1,260
REFHORSN2E 2Y 8,400 8,800 A400
201 Yer2 ) 8,000 8,400 A400
01 AtR22lt] 8.000 8,400 £400
ISV FHSZ 00,0008 5202 23] 4,000
DIEHE L HASY  100,0008 5202 23] 4,000
203 ZREIH| 400 400 0
03 A= L= 400 400 0
NAes 22 200, 00021 #25] 400
FROIER ST AL 2 2,565,000 3,138,251 A573,251
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otMl = ot
stoles &
5

Holz= DIBHAIE &=

A0

. _ . e ~
Ao BB S2(B1H) - MISAY - BES Aboy e HIREY
306 EH3 2,565,000 2,223,251 341,749
01 €93 2,565,000 2,223,251 341,749

nol== 2,565,000,000& 14 2,565,000
0oIZ23 &e 22,200 31,200 29,000
Mot g X 22,200 31,200 29,000
Mot SS2HHY = 22,200 31,200 29,000
201 Leted 12,000 24,000 A 12,000
01 AFR 22| 12,000 24,000 A 12,000
N SEAHYII 2L AdX=
1,000,000& x12& 12,000
202 (4Hl 4,800 4,800 0
01 =LA b 4,800 4,800 0
1)OF2tE =R 2 20,0003 »4H 5 x12& 4,800
203 AR 5,400 2,400 3,000
03 AlMF=&Y 5,400 2,400 3,000
NolaEs 3| &=l
,000& »2H 5 x12& 2,400
Neefg & e sl
3,000,000& 14 3,000
SE2M BEE 173,480 302,480 A 129,000
3 =Xl2el 173,480 302,480 A 129,000
M S A2 23,480 2,480 21,000
201 et 23,480 2,480 21,000
01 AtE222|H] 23,480 2,480 21,000
N2 K22 g 70,000 *3H»23] 420
N2 X2 10,000& 3% #23l 60
Nest Zul 1,500,000& *271 2 3,000
NEERS 20,000,000& 14 20,000
CXNERZ 23 150,000 300,000 A 150,000
403 XX EHH 150,000 150,000 0
02 SI/12SOCHSHCHH AL I 150,000 150,000 0
noxg 150,000,000& «1& 150,000
Y HM2HE | 1,501,334 3,835,288 A2,333,954
Il 12,960
Al 359,033
- 1,129,341
ME QY MEHSE 243 1,037,434 1,044,348 26,914
Il 12,960
Al 359,033
- 665,441
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PN 23MSH
HH: ME Y HSHS sS4
el Mg 2 d2Hs g2da (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
MEHSWA 29I 215,727 219,077 23,350
Al 22,553
- 193,174
201 Let2d| 13,000 15,200 A2,200
01 AtE22(H] 12,000 12,500 A500
NAs 2SEE S =1 4,000,000& 14 4,000
NEE 829 204 1,500,000& 14 1,500
NELSEE 04 1,500,000 14 1,500
nesss 2 4,000,000& =1 4,000
NS HE HE 1,000,000& 1 1,000
02 ZE=23Hl 1,000 2,700 A 1,700
1) ek 1,000,000& 14 1,000
203 HRF4Hl 400 400 0
03 AlZZZQR =AY 400 400 0
NSRS A XNS2ZA 200,000 =13 200
NEME A2LE9 200,000 =13 200
301 Ypt8azg 200,877 195,477 5,400
Al 22,553
- 178,324
12 JIEtE2 4= 200,877 195,477 5,400
NESHsNA 2AS 136,440,000& 1 136,440
NHENsNY 2 64,437,000& 14 64,437
Al 22,553
- 41,884
405 KH&HFESH| 1,450 8,000 26,550
01 T =SS HSHI 1,450 8,000 26,550
1E O 850,000 *1CH 850
1)2 EOFAXI D] 320,000 *1CH 320
DEZIE=F=PI 280,000 1CH 280
52 MEd=sUa oz & N 163,532 166,985 23,453
201 Lere gyl 4,232 4,925 1693
01 AtE22/H] 1,232 1,925 A 693
NEEE 20 7,700 16004 1,232
03 HAH2EHI 3,000 3,000 0
NAHEA LA 435 20,000 150K 13| 3,000
202 O4Hl 3,840 3,840 0
01 =Yl 3,840 3,840 0
Negdsis 22J ol
20,0003 x4 48 3,840
203 HRF&l 15,500 19,000 23,500
03 A MZ=XHSLE=EH| 15,500 19,000 23,500
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SN 23HSD
M Mg o MRS |4
CHel: ME I NS 2435 (St &=
- _ _ P NE e
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao Om,;g; Hl =2
NMEH S 45 =& 3,500,000 14 3,500
)70 MEyx X 8,000,000 x 14 8,000
N2U X0, REZA HSDE Y42
4,000,000 14 4,000
307 QIzto|A 139,960 139,220 740
04 SIISHAIE R 139,960 139,220 740
NE2Y MBI 2 21
20,960,000 14 20,960
NEHRAS AlHE XK (lol)
6,000,000 14 6,000
NHESSI ™IS X 8,000,000& 14 8,000
NI2AEEI(16H)MEHSHE XA
105,000,000 *1& 105,000
od =304 53,025 54,425 A1,400
Al 12,000
T 41,025
201 LEr2YH| 6,250 7,250 A 1,000
Al 3,625
T 2,625
01 AFR22t2lH] 6,250 7,250 21,000
NHA=TZA 22 204 6,250,000 x 14 6,250
Al 3,625
- 2,625
203 Y2 =Z&lH| 3,375 3,775 A400
Al 3,375
03 AME=XAREXIH| 3,375 3,775 A400
NOHA=1104 XA 2,000,000& 1 2,000
Al 2,000
NAE =203 Y 1,375,000 x 14 1,375
Al 1,375
301 LEBAS 43,400 43,400 0
Al 5,000
T 38,400
12 JIEIB A2 43,400 43,400 0
NOHA=DA 2A2 43,400,000 1 43,400
Al 5,000
T 38,400
ool =1na 11,620 16,925 A5,305
Al 6,800
- 4,820
201 L2 AH| 2,620 7,925 A5,305
Al 800
T 1,820
01 AFR2t2lH] 2,620 7,925 A5,305
NO20I=20A 2E A0 2,620,000 «14 2,620
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SH: 2SS
HH: M U HSHS sS4
el ME U HRHS A (el &2
_ _ pSNE e
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl aton HRs2
Al 800
- 1,820
203 YR ETY| 1,500 1,500 0
Al 1,000
- 500
03 AIBMFXNAHRFEH| 1,500 1,500 0
NORI0IZEPRA 22ADE U el &I X
150,000& «10& 1,500
Al 1,000
- 500
301 LetEaag 7,500 7,500 0
Al 5,000
- 2,500
12 JIEtEA S 7,500 7,500 0
NUHES0IERLA 2AZE 750,000& +10& 7,500
Al 5,000
- 2,500
Hglol & A9 Zawa 23,250 25,825 A2,575
Al 1,200
- 12,050
201 Let2d| 7,750 10,325 A2,575
Al 1,200
- 6,550
01 AtE22(Hl 7,750 10,325 A2,575
NEA4NA 2E0M 4,750,000& x14 4,750
Al 1,200
2 3,550
NEZADA A AXE 300,000& «10& 3,000
203 HRF&H] 500 500 0
03 AHEFIHRFAH| 500 500 0
NEADA PADE U HEIEI X
50,000& 10 500
301 YptEaazg 15,000 15,000 0
Al 10,000
- 5,000
12 JIEtE2 4= 15,000 15,000 0
NZALNA ZAIE 1,500,000& x10& 15,000
Al 10,000
- 5,000
T2RMEH=E 28 X2 30,000 36,000 26,000
307 212t01& 30,000 36,000 26,000
02 2ItAASE X 30,000 36,000 26,000
NPRRAMENSE 2 X
30,000,000& 14 30,000
Az2s )2 (dsER) 29 500,000 525,111 225,111
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SA: 2SS
Hu: M2 Y HRHS S4
el ME U MRS 2 (B9 &2
_ _ _ N E
A -3 -H2A(SH) - HEAMY - BES O AF K @Egj HwsZ
A 300,000
2 200,000
YA 500,000
Al 300,000
2 200,000
1 H=H - 2SRSENE 500,000
DEEEERIET 332,000
2)XIE T 72,000,00021 * 12 72,000
Al 43,200
2 28,800
2ASZ M 70,000,00021 * 12 70,000
Al 42,000
? 28,000
2)cSE H4 40,000,000 * 1% 40,000
Al 24,000
3 16,000
2DES M 30,000,0002 52 150,000
Al 90,000
= 60,000
Nz 2ERY3 36,773
2)NEOH 332,000,000 *0. 85% 2,822
Al 1,693
2 1,129
2)a e 20 332,000, 0002 *0.009+50% 1,494
Al 897
2 597
2)MTHEE  332,000,0002*(27.36/1,000) 9,084
Al 5,450
2 3,634
2)=0I013 332,000, 000! *9x50% 14,940
Al 8,964
2 5,976
)AL 332,000, 0002 %5 08%+50% 8,433
Al 5,060
? 3,373
DBEE8= 2,400
2) b 2 Xt 40,0002 %32 +122 1,440
Al 864
- 576
EBETIES 20,0002 *42 * 122 960
Al 576
2 384
DEES] 80,0002 %2 +122 1,920
Al 1,152
2 768
EEE 22,295,002 *1 22,295
Al 3,377
2 8,918
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2H: 2SS
Ha: ME U MRS S4
el ME U MRS 2 (el @g
_ _ _ N E
SA BB H(BH) - MBAY - B2 O A+ 24 Gl o HRs2
TENEET] 4,200,000 * 122 50,400
Al 30,240
2 20, 160
NEH 2 o=l 4,711,590 +114 4,712
Al 2,827
? 1,885
1)CH3l &I 3,500, 0002 53| 17,500
Al 10,500
= 7,000
PEAAE 27,000,0002 *14 27,000
Al 16,200
= 10,800
)& X &bl 3,000,000 *144 3,000
Al 1,800
= 1,200
1)ed4 SZE 24 26 2,000,0002 1 2,000
Al 1,200
2 800
ATX HISH 25,920 0 25,920
| 12,960
Al 6,480
2 6,480
307 2120/ & 25,920 0 25,920
| 2,960
Al 6,480
2 6,480
05 QI2tSiEta 25,920 0 25,920
NAZX HISH 25,920,002 *14 25,920
| 2,960
Al 6,480
2 6,480
2RI OIOIEO OFF DA 29 14,360 0 14,360
201 Yereg| 4,440 0 4,440
01 At 4,440 0 4,440
1)0I0IE0l bR DA BF 0
4,440,000 +144 4,440
203 Y=Y 2,000 0 2,000
03 AIMZZREZY| 2,000 0 2,000
1)OIDIE0l OFR WA DR ¥ Ual&It N
2,000,000 *144 2,000
301 YErEA3 7,920 0 7,920
12 JIEtE A 7,920 0 7,920
1)OIDIE0l bR WAl ZAI2  7,920,0002x1 7,920
HMENE &5 U 29 463,900 2,790,940 A2,327,040
MBS HES L S 28,000 25,000 3,000
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A 2SHSL
M Mg o MRS |4
SRl MSAE =25 Y 29 (e @
_ _ PG ==
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
201 B2 2,000 0 2,000
01 AtS2t2ibl 2,000 0 2,000
DAIESA 28 2570 2 JIe =2l
2,000,000 * 14! 2,000
401 AIEHIZ 208 26,000 25,000 1,000
01 AlZHI 26,000 25,000 1,000
DHs2 S5 WA 40,000& 650 m 26,000
MEY=E2 L JIE HSAE S 2L 30,900 34,940 4,040
201 et 30,900 34,940 A4,040
02 3323l 30,900 30,940 A40
N&EJIe2 2,000,000& x12& 24,000
Nast=Ee3 250,000 x12& 3,000
NEJtEEA 1,000,000 14 1,000
NEsea € A0SV =48
135,000& »12& 1,620
NEFNERES 100, 000& 23] 200
NRBHIAIAE Q3 90,000& 122 1,080
HEANd &5 & JIs:2d 205,000 122,000 83,000
401 AIEHIZ 208 205,000 122,000 83,000
01 A&l 205,000 122,000 83,000
DHSAE &5 2 JIs2EY 205,000
2)QAMERE OIALE B2
3,750& %20,000m’ 75,000
2)QIUAINOIEE RE E=
35,000& *3,000m" 105,000
2)HYAE AB 25,000,000 14 25,000
TZ2FUNSHEH =FAIE WA 200,000 0 200,000
401 AIEHIZ R0 200,000 0 200,000
01 A&l 200,000 0 200,000
DEEPIRS 70,000,000 141 70,000
negd 30,000, 0003 141 30,000
1) 01 24D 100,000,000 * 14! 100,000
dEH=s =4 634,867 653,500 A 18,633
HEHs 245 634,867 653,500 A 18,633
SHEH XMSAE sXZel 154,867 153,500 1,367
101 el 94,567 88,200 6,367
04 JIZHZE2NSES 94,567 88,200 6,367
DHSAIE 2el 94,567
2)218 45,0003 «7H »270 85,050
INBHRES(EER) 9,517,000& 1 9,517
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SN 2K
Hu: MBS S4
ool MEHS B (9l & 2
_ _ _ Muo
A B3 C9(30) - MRAY - B2 Ao il b o B2
201 Yot Y| 48,300 49,100 A800
01 At 2ty 22,000 17,000 5,000
e STA 29 U ADE
7,000,00024 *14 7,000
NHSAL Fbl 15,000,0002 1 15,000
02 2Tl 26,300 32,100 5,800
DEBl=E= 700,0002 *122 8,400
Nast+ze3 9,000, 00024 *14 9,000
)| QHE & 2,200,000% *14 2,200
DUSAL Soitia 28 282
6,700, 00021 *1 4 6,700
206 2| 12,000 16,200 A4,200
01 MEHl 12,000 16,200 A4,200
DESYI(LED)S 400,000 * 1505 %0.2 12,000
SN2SE MEHSAL X 480,000 500,000 20,000
308 XHXIEHH SO & 480,000 500,000 20,000
EPENEEES 480,000 500,000 20,000
NS DSSY AXMCTH X4
480,000,0002! 14! 480,000
WEEREESEND 2,520,000 2,432,536 87,464
HeHxi = 2,520,000 2,432,536 87,464
2IVHSHE IS 2 2,520,000 2,432,536 87,464
309 BIILBAHED 2,520,000 2,432,536 87,464
02 BA- BHANHEZ 2,520,000 2,432,536 87,464
NRE2TUHSME et 2,520,000
2)01 24t 810,000,0002 1 810,000
2) 2t 1,710,000, 0002 *14 1,710,000
HY2SAAL (RSAHS D) 370,377 359,843 10,534
=2GH (A 233,397 223,623 9,774
Meolz2 | 4,200 4,200 0
203 YR ETY| 4,200 4,200 0
04 BEASHAREY] 4,200 4,200 0
NENSIYLETY (Y 219)
350,0002 128 4,200
SaMSAL BRI 22| 229,197 219,423 9,774
101 121l 229,197 219,423 9,774
03 RINHA22 XS4 229,197 219,423 9,774
1)7122 1,330,000 *5 122 79,800
1403
(79,800,000 +21,384, 00021 ) 1/ 12%400% 33,728
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SN 25 HSD
M WY YA (2SS D)
SHol: ol 2 Y| (R3HHS D) CERL
RA B SA(BH) - NRAY - B 01 e HRE2
1N+g 73,498
2NN DR
7,465%%1.5420 Al 24524 %122 13,437
2)EYU2R4Y
7,465%1%1.5+16A| 204524122 10,750
)R BEIN Y 59,7202 %52 » 15 4,479
)R+ Y 70,0008 5% » 12 4,200
2= 4 g
(40,0002 +524 #1228 )+(20, 0002 +5% » 122 ) 3,600
ESPINE 21,384
3)19% Xt 27,0002 * 191 X}+ 12+ 12 6.156
3)174 %t 27,0002 #1742 Xt 124 » 12 5,508
3)124 %t 27,0002+ 124 Xt#1% » 12 3,888
3)114 &t 27,0002 1161 X124+ 12 3,564
3)74 & 27,0002 +7 Xt#124 » 128 2,268
2)9I M4 50,0002 5% » 128 3,000
2)213 Xl 2|
(79,800,0002+21,384, 000! )1/ 12¢150% 12,648
DEEERET 25,248
2)34lH| 100, 00021 +524 128 6,000
2)0i bl 110,002 *52 128 6,600
2)= B E M
(79,800,0002+21,384, 0008 )1/ 12+75%+23] 12,648
1)J1EH X 2 2 1,850
2)NYIBTE LAY 150,000 5 *13] 750
2)MeHl 20,0002 *5% 523 200
2)II =] 180, 0002 ¥5% » 14 900
DEELEE 15,073
AELIEEIEE 212,274,000 4. 5% 9,553
2)MTHBE 2 212,274,000 2. 6% 5,520
2B (SEH K D) 136,980 136,220 760
o= 136,980 136,220 760
201 Y2y 57,780 57,020 760
01 ARl 51,060 49,820 1,240
nIle AREE 20,0009 +21% »43| +80% 1,344
1012 AFRBS0I8 30,0008 212 %43] 580% 2,016
18 E HHIR KB (ZIE 17, = A1)
400, 0002 #BLH *431 +B0% 10,240
1S234t) 7,000 %222 x204! » 122 36,960
NEMT ] 50,0002 *58 523 500
02 B2 6.720 7,200 £480
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PN 23MSH
Y HH2HAH (2SS
&2l JI2Z (23 =) (ctel: &
_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
N3=2=2 2 HMA 6,720
)RER3 420,000 * 122 5,040
2)&522(01SHE) 70,0009 %20 * 12 1,680
202 04l 79,200 79,200 0
01 =WOYI 79,200 79,200 0
1)E 50| 20,0008 x22 Y *152 12 79,200

- 150 -




A URA0A D
HE: A #E 7H
ol QIREAHIA NS o HMeg
S .- 2.2 (3 HEAS . HH 2 HEE =D}
—r—lo—||_‘r|(9—lj:”) IS A - S = Of] AFoH S©
AN 706,055 604,893 101,162
= 7,000
T 699,055
SAH Y A 463,626 328,618 135,008
= 7,000
- 456,626
QIR AMEIA A 216,557 203,937 12,620
QIRA =249 64,557 53,937 10,620
201 B2 36,297 39,047 A2,750
01 AtR22iHl 35,097 37,847 A2,750
1N28= M0 (A 250,000& «37H 9,250
NeRE AIREEH 250,000 x12& 3,000
NFgsEs. =2 ¢ o9
2,000,000 x1& 2,000
Nt=E2AHEE Ld=EX 04
1,500, 00021 * 14 1,500
1OIRA SHAFH(ZEX) 1,100,0008 «33] 3,300
NEIA HIXE SAPLH 50,0008 x128 600
NERAA(2AZ0, 05, SBUA S)
7,370,000& x14 7,370
NeA =2 X2 180,000& =12 2,160
NeAY stE0 L 2eld 300,000& *43] 1,200
NEFMAH(RELSE) 71.06&+25,0000H 1,777
NEEBHAARE2Y +g
70,0003 x4 +62 1,680
NYUAXTHARYS2E = 70,0002 *3E *63 1,260
02 832234l 1,200 1,200 0
1)SolZHl fetze 89 100,000& »12& 1,200
203 LR =& 3,840 3,840 0
03 AMHZ=THIFAHI 3,840 3,840 0
NAEZNERAEE 22 720,000& 1 720
NelgxgfAes 249 720,000& 14 720
NOABT OA, INEAHES YL S|
2,400,000 x14 2,400
401 Al HI LS Y 19,000 5,000 14,000
01 Al£HI 19,000 5,000 14,000
NYRA S & |X2el
5,000,000 x1& 5,000
NAD 2FMH 14,000,000& 14 14,000
405 XtotE SHI 5,420 6,050 A630
01 MM =SFSHI 5,420 6,050 2630
NEAI 2 (KHHAS) 5,000,000& =1CH 5,000
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A URA0A D
M. 2A HAE AN

el YREAMHIA S (ctel: &
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
N2AMAEI] 20 (UHFS) 420,000 +1CH 420
ChaSdH 29 152,000 150,000 2,000
201 LetEIH| 2,000 0 2,000
01 AFR 22l 2,000 0 2,000
DAl - 2SESHH 2 MX
2,000,000& 14 2,000
308 XX HHSO0IA 150,000 150,000 0
05 XAXEHM2AEES 150,000 150,000 0
DAl - REESHE 294l 150,000,000 1 150,000
He s QIRAAIAE & 217,636 102,776 114,860
oL ZI| X 22 59,680 99,820 240,140
201 LetEHH| 59,680 55,820 3,860
01 AFR22lH| 5,480 5,180 300
NEXNEA AXZ(4HA) 1,100,000& 14 1,100
NARS(EH, BEY S) 1,500,000& 1 1,500
NoLZEX (SAEHEX) 0K
48,0003 x5t A+12& 2,880
02 =234l 54,200 50,640 3,560
NSAMAMNER 200,000 *7IH 2+ 12 16,800
N&EJIe= 120,000& = 12& 1,440
NS X8 (2101) 140,000 *21CH* 123 35,280
NS4&3E 2 | 170,000& 43| 680
ZZAAE S/WS X 2,956 2,956 0
308 XX HHSOIA 2,956 2,956 0
05 XXEHMZtEES 2,956 2,956 0
NS ZAAE S/NS X2 2,956,000 «1& 2,956
S JISA2ALEY 2F 155,000 0 155,000
207 Ao Y| 77,500 0 77,500
02 ™AIHE Y| 77,500 0 77,500
NIIS22/AIAE S/WR=Hl 77,500,000 14 77,500
405 AHeHESHI 77,500 0 77,500
01 XL SSFSHI 77,500 0 77,500
NIIS22IAIAE H/WR=Hl 77,500,000 14 77,500
A=EE (ALY S 29,433 21,905 7,528
= 7,000
- 22,433
MBS HAES 29,433 21,905 7,528
= 7,000
- 22,433
101 14| 22,433 21,905 528
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=N el
XNz &2
S Tt =)

Al

el

M- E® .l (3) - MEAY - BES Aol e =2
04 JIZtHIZ2E2NHEE S 22,433 21,905 528
NHAELREX 22,433
2)el24 | 36,020 x2H 252+ 113 19,811
NEBNREEZ(EER) 2,622,000 14 2,622
201 LBt 7,000 0 7,000
= 7,000
01 AtE222lHl 7,000 0 7,000
1et~=Y| 7,000,000& 1= 7,000
= 7,000
HY2IZH (LA 242,429 276,275 A 33,846
OlA2AHHI(RIA0AD) 4,620 4,920 A300
FMNeIE2AY| 4,620 4,920 A 300
203 HRF&H| 4,620 4,920 A 300
04 BASSIHRFEHI 4,620 4,920 A 300
NEA2ILSFIH(HA 37Y)
385,000 x12& 4,620
Jl2dyl (oA 237,809 271,355 A 33,546
Jl2Z | 237,809 271,355 A 33,546
201 LBt 3| 104,609 115,155 210,546
01 AtE222|Hl 96,209 104,955 A8,746
N2 AAREEHI 20,000 »37H +43| x80% 2,368
N2 MR2E8308 30,000& »37H *43| x80% 3,552
NI HHI KK (Z2IEHII13, 5 A12)
400,000& » 15CH x4 3] *80% 19,200
NaER=E 8.41& 9,500 x99 x12& 8,629
NS=234tl 7,0003 37 H 204! x 12 62,160
NEMT LI 50,000& 38 *23l 300
02 5234l 8,400 10,200 21,800
Na3z32= % MA 700,000& 123 8,400
202 O4Hl 133,200 151,200 A 18,000
01 =Yl 133,200 151,200 218,000
NE&0 20,0002 »37Hx152 123 133,200
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A NHREAMIAE
Mz NSAH 2435
el 2SS X (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
X2l E ALK 2 326,434 303,375 23,059
= 23,193
T 303,241
A=A 245} 227,081 204,951 22,130
= 23,193
T 203,888
A22AES X2 227,081 204,951 22,130
= 23,193
T 203,888
22 AMEs X 53,185 30,820 22,365
201 LEt2HH| 35,785 21,520 14,265
01 AFRZ2lH] 35,785 21,520 14,265
NS EE2E2 M 14,125
)28 XI2T M 2,50024 *500 & 1,250
2)SOIIIME S A MZE 22,0002 1,000 2,000
)X EA SAUE MZE 1,000,000 «33 3,000
XN =ANES EE ¢ =
3,000,00024 *13] 3,000
2)XFRAZ A AAIX HIE 3,500,000 %13 3,500
XA EA EE LAE HoH ME
27524 %5, 00004 1,375
NRKAZ AL AEES(IE = 9,500
)X Z AR MEZ (It Te
35024 %20, 0004 7,000
2)3E &2 2YH|(EW .22 )
2,500,000 x 14 2,500
NNASAA &5 X)) 2 20,0002 x250 4 5,000
NXASA SEIAS =E 70,0002 x172 43 4,760
NX2AL SOIJIYE IS M
6,000 * 10000 £ 600
NEANEE AZH 22 2 100,000 * 122 1,200
N 2ALLE &3 JH| 300,000 x23] 600
203 Y2 =Z&H| 7,400 7,800 A400
03 AM=XAR=KIY 7,400 7,800 A400
NEAE 2AEs J2 =
5,000 902 »23| 900
DXASAEMY 243 g2 =X
5,000 x302 *30€E! 4,500
NAFAESAL T2 e 42 =X
2,000,0002 x 14 2,000
405 KHAHE S 10,000 0 10,000
01 AR SEFSH 10,000 0 10,000
NXL2ALX IHE 23D 3,500,000 = 1CH 3,500
NXL2ALX IHE 2l D] 130,000 *50CH 6,500
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SN
X XH .
S Tt

el

KA SAXA S
R SA 2435t
AESAS K2

- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
ANEEMI g X 13,340 13,600 260

201 LEt2AH| 6,340 5,800 540
01 AFR22/H] 6,340 5,800 540
NAL2AL JIZDS DM MB(EAE, AH00)
3,000 «800% 2,400
1)O3tHI0l RS WM M= 10,000 *200F 2,000
1)OL3tHI0l HE S Zeidte 80,000 =54 400
1)OI2LOI0I, M 208 223 7,700 x2000H 1,540
301 et A= 7,000 7,800 A800
10 SAIAHIEAZ 7,000 7,800 A800
X2 AL OFILOIOI ZALR 400,000 x10H 4,000
NRFAZAL B2DS 2AI2 300,000 10 3,000
ANEAML 282 A 15,914 15,914 0
= 7,957
- 7,957
301 LEIBAS 15,914 15,914 0
= 7,957
T 7,957
12 JIEtB A2 15,914 15,914 0
NRFAZAIX B2 15,914,000 14 15,914
= 7,957
T 7,957
X2EA DCIHOIH 2H 32,806 33,077 A271
= 15,236
- 17,570
101 Q14| 32,806 33,077 A2T71
= 15,236
T 17,570
04 JIZH22REES 32,806 33,077 A7
NS, &84 DOUOIEH 29
30,472,000 14 30,472
= 15,236
T 15,236
Nexa 2,334,000 14 2,334
X2 A BA 2H 50,670 40,140 10,530
201 L2 HH| 41,970 35,940 6,030
01 AFR2t2lH] 7,970 8,940 A970
NEASES X2 22Xt 500,0002 *12CH 6,000
NXSL2AIXNE S Z2HIE 80,000 *150H 1,200
N2Y NASAK ZEH 7,700 *1000H 770
03 SAIR2ZH| 34,000 27,000 7,000
NRASAF NEX 23 4,000,000 %13 4,000
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A HESAKAH
M THESAH 2453

Sl HEBAES X (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
DREZAR A3HEO] Z TS
5,000,002 x23] 10,000
DRFZARS & A 29
15,000, 00024 *13] 15,000
DRFSA AL 938 3,000,002 %13 3,000
NYSE HAW NASASD 29
1,000,008 x23] 2,000
203 AR =Y 1,000 2,000 A1,000
03 A= LREY] 1,000 2,000 A1,000
DRASA NEX +245 AREZ
1,000,008 *13] 1,000
01 YsrBA2 7,700 2,200 5,500
10 BAAHIR A3 7,700 2,200 5,500
NEME ATE MARIR 25 70,00020+58 350
DRAZA SH AARIR 25 70,00020+58 350
DRASAZAUE B2 AYE A2
500, 00021 +3E4 #25] 3,000
NYSE FAE URSASD SAR
100,000% 102 x23] 2,000
DRAZA =218, A3& BAR
500, 00021 *4 2,000
HesAd 2% X 24,300 38,400 ~14,100
206 W& 4,500 6,000 A1,500
01 T2l 4,500 6,000 A1,500
NIISEAE 2#S 2|
50,0002 *67H = Al E+#53] 4,500
301 YA 19,800 32,400 A12,600
12 JIEHB A2 19,800 32,400 £12,600
DRFZAR HSZH 5,002 %300+ 122 18,000
101018 AR Sl
5,0002! %102 +35] + 122 1,800
N Z2A 2S X2 36,866 33,000 3,866
201 L2yl 2,366 0 2,366
01 AR eIt 2,366 0 2,366
NISISZY F0 24 TS AlY 2,366
2)24 ITS A 150,000 ¥ 1574 ITS 2,250
2)24 BAX EE 7, 700215 1 TS 116
203 AR =Y 1,500 0 1,500
03 AlMEZAR=TY| 1,500 0 1,500
NISIS 2 gAY =2
100,000 ¥157H I TS *13] 1,500
01 YLrBA2 33,000 33,000 0
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A HESAKAH
M THESAH 2453

S MHRZABS X (25 &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Hnz2
12 JER A3 33,000 33,000 0
1S B9 HESA 20F 29 N
150,000 * 15)H A+ 122 27,000
1)RHRZ AL 20l BSHl 200,000 30EH 6,000
HY2 ALY (HHSAKIAE) 99,353 98, 424 929
ol 2l (IR ZAXI A E) 45,083 44,604 429
e REET 3,000 3,000 0
203 HRFY| 3,000 3,000 0
04 ENRYAREAY| 3,000 3,000 0
NENSYYLET (B 7Y)
250,000% 122 3,000
RAZAXNE HREE Q12| 42,083 41,604 429
101 124l 42,083 41,604 429
03 RINHA2E X4 42,083 41,604 429
12122 1,330, 00024 #1212 15,960
14012
(15,960, 0002 +2,592, 00024 )1/ 12+400% 6. 184
4g 12,085
SN
7,465%%1 5520 Al 2412 %122 2,688
2)EY2R4Y
7,46521%1 5+ 16AI 24121122 2,150
)R RBEINAY 59,7202 12152 896
) RATSY 70,0002 1 122 840
)20 27,0002 %81 Xh+12 * 122 2,502
2) M 4G 50,0002 1 128 600
2) 24 X 2 bl
(15,960,000 +2,592, 00024 )1/ 12+ 150% 2,319
DECIEF 4,839
RN 100,000 %1%+ 122 1,200
2) 01t 110,000 %124+ 122 1,320
2) 2= £l
(15,960,000 +2,502, 00021 )+1/ 12+75%+23] 2,319
1)2IEFXI 2 Z b 190
2) X2 h 3l 20,0002 %124 23] 40
D)MAHBEE XY 1500008 1Y +18] 150
DEETEEE 2,775
AERICEEE= 39,068, 000! +4. 5% 1,759
2T EE 39,068, 0002 %2, 6% 1,016
2 ZHI (R Z AR R E) 54,320 53,820 500
2 54,320 53,820 500
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A HESAKAH
HH: HH2AAH(KHRE A
o

|
Eel: JI2ZHI(KANSAXEE)

S HE - S(EH) - NRAY - BES Of) &t o4 S
0f 4 o
201 LetEdH| 29,120 28,620
01 AtE22/Hl 16,920 16,420
Nole AREE 20,0003 7 H 42| *80% 448
NIE MRES0IR 30,0003 +7H 43| x80% 672
NP ZHISXIHI(Z2IE D2, S ADI1)
400,000 *3CH *43| x80% 3,840
nNs2=4tl 7,000& «7H «20A1 x 128 11,760
NEAMZHYI 50,0003 =28 x23] 200
02 33234l 12,200 12,200
N3=2=2 £ HMA 12,200,000& * 14! 12,200
202 O4Hl 25,200 25,200
01 =W 25,200 25,200
NEZ0H 20,0003 x7H 15 x12& 25,200
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A XS EH

Ma: XM B
SR HeHAIE 01EFH (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
UNRSEE DA 2,501,226 3,325,508 N824,282
Al 1,056,400
T 1,444,826
ANSEH 43t 586,152 408,992 177,160
MeHAIE Ol2sd 20,000 9,000 11,000
HSANE 245t 20,000 9,000 11,000
201 LEH2HH| 15,000 4,000 11,000
01 AtR22itl 15,000 4,000 11,000
NESAE Jlsd 28 EESHH S
3,000,000& =14 3,000
NESAZE otd Y 12,000,000& » 14! 12,000
203 HRF4Hl 5,000 5,000 0
03 AM=XHS=LH| 5,000 5,000 0
NESEANE 845 RFX 5,000,000 14 5,000
TZOISHAIE 2tel 44,000 1,000 43,000
=2 AUSAE el 44,000 1,000 43,000
201 Let2E] 8,000 1,000 7,000
01 AtR2teld] 2,000 1,000 1,000
NN BHAANE (S EE2E S)A2e
2,000, 000& 14 2,000
02 3323l 6,000 0 6,000
nNgeg L oARa S 6,000,000 14 6,000
203 ¥R =& 36,000 0 36,000
03 AZFXHRFAH] 36,000 0 36,000
DAEIRAAIEY AA (3T, X S)
36,000, 000& 14 36,000
Jlgotl £ &8 x4 508,740 384,360 124,380
HRAAE HEH 2H 118,150 100,320 17,830
201 et 6,100 0 6,100
01 AtR2teld] 6,100 0 6,100
1NIH0IE =& M| 1,100,000& =14l 1,100
DHAAZHES 2HHI 5,000, 000& =14 5,000
202 O 24,000 30,000 26,000
03 =2HR0HHI 24,000 30,000 6,000
NEZHYI 8,000, 000& *3IH = 24,000
203 HRF4Hl 12,150 11,820 330
03 AMH=XHIRFAH| 12,150 11,820 330
Nedz =z s 884 2l
600,000& *37H= 1,800
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A XS EH

H: N9EH &43
@2 Do) E2 88 X4 (&2 &
_ _ _ Muo
2N -3 - c2(3H) - NEME - HES Ol &F2H loﬂ/l\_Fo” Hns
HlY S alsAdlg X 97,800 83,000 14,800
201 Br24| 15,800 1,000 14,800
01 AtR22telyl 15,800 1,000 14,800
NOHAEXS EB2 ME S
100, 0002 *20H *4 3] 800
N30 HAE S 1,500,000& 1021 15,000
203 Y RF&Y| 2,000 2,000 0
03 AEBFAHR2F=EH| 2,000 2,000 0
NXAs+E &8s 20,000 * 10090 & Xl 2,000
402 BIZHXFE20| M 80,000 80,000 0
02 OIZHCHSH AR HI 80,000 80,000 0
Nea 201 03HE N
80,000,000& » 14! 80,000
Jlet 840|945 K& 34,280 33,880 400
201 Et29h| 7,480 7,080 400
01 At22tell 7,480 7,080 400
NJ=22sds 449 70,0008 *6H <43 1,680
)& =9 HE 100, 000 * 104 1,000
NEBEHE (BE2H0 S) 100 & x5, 0000H 500
1)AFEI Q13| 200& x2000H x203] 800
NANEBHESLS 247180 S22 M
150, 000& * 1090 1,500
NA2HEUNES CIXNYSHX Hs M=
500,000& *43| 2,000
203 PR=&| 11,800 11,800 0
03 AIFEHRFXY| 11,800 11,800 0
NEAIY 435 2H RFA
200,000& x53] 1,000
NatF3ZN=2 GRFEY 10,800,000 » 14 10,800
307 QIz2to| A 15,000 15,000 0
02 QI2tFAB X 15,000 15,000 0
NP2 Z25 ZFad XY 15,000,000 14 15,000
CIXIE 22 CEO Academy JH& 10,000 10,000 0
402 QI2tXE01 A 10,000 10,000 0
02 QI2HCHEH A HI 10,000 10,000 0
1)CEQ Academy Z A2 2,000,000&x1H+13] 2,000
1)CEQ Academy SHAIE Xtz
8,000,000 * 11 A *13] 8,000
SHEXNHAXETCS 502 & 10,000 10,000 0
306 =2 10,000 10,000 0
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A XS EH
g NS3H 243t
el Jlgotll E2

3 td (9 &e
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
01 &3 10,000 10,000 0
NEIXNSTINEMNHEHZ (I 230201 & XX )
10,000, 000& 12| 10,000
2 MS 2= A iz 11,300 0 11,300
201 LBt H| 9,700 0 9,700
01 AFR 22| 9,700 0 9,700
NEEE HME 2 M
5,500 x700F 24! 7,700
NE=HAL 29| 1,000, 0003 *24 2,000
203 HRF&H| 1,600 0 1,600
03 AIBMFXHE =&Y 1,600 0 1,600
NESEAIZE FAI2 29
800,000& »23| 1,600
CXNEgRZ2@BI0NT)SS EBHE 95 ALY 44,800 0 44,800
201 LBt 41,400 0 41,400
01 AFR 22| 41,400 0 41,400
NAMRARS B ¢ 70,0003 10 *23] 1,400
)& 10| 10,000,000& * 14! 10,000
NEEZE M 30,000,000& * 14! 30,000
203 HRF&H| 1,000 0 1,000
03 AEFIASFAY| 1,000 0 1,000
NCOXEEHE SN SR
250,000& »43| 1,000
402 2I2H X201 2,400 0 2,400
02 QI2HCHEH AL HI 2,400 0 2,400
NAAH Y &Il 100,000 & +6H 4 2,400
SoterE 2tel 13,412 14,632 A1,220
Soterd 2el 13,412 14,632 A1,220
201 LBt A | 5,744 5,044 700
01 AtE222|H] 5,744 5,044 700
nNaitzelfA¥s =4 70,0003 x6E «13] 420
Nsat2 MK EXE 21,2502 +1,60004 2,000
NAMXEA EE2 HME 700 624,0002 14 624
Ns. =48 A2 & ZAHl 700,000 14 700
NHANSE 2 S 1,000,000& =23 2,000
203 AR F&H| 3,468 5,388 A 1,920
03 AMEFIHRFAY| 3,468 5,388 21,920
NENLLEHE 29 16,0003 4 H x123] 768
NAHIXX 20l SAESK& 100,000 *123 1,200
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A XS EH
g NS3H 243t

el SIterE 2 (el =@
- _ = dEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot HusZ
DXHEAIRZ HHHEH 2
1,500,000 *13! 1,500
301 LErE2AS 4,200 4,200 0
12 JIEt24 3 4,200 4,200 0
DEAXIPZEALNMEIARSS B
30,0003 * 10H «3L #2323 1,800
DOHHXIES HE 30,0003 x 10H «2L %23 1,200
NS 32 L A, g2
30,0003 20 +22] 1,200
=.UH2 uws % MM gdat 203,200 168,300 34,900
“&2 =Hz3 Jlgt 25 131,500 141,500 A 10,000
Ao & RSEA wJ 23t 104,500 114,500 10,000
201 EH2HH| 22,500 22,500 0
01 AtR22iHl 22,500 22,500 0
1NE%9Hl 8 500,000 »5& 7 17,500
NEEg 8 2t +=&H 5,000,000 * 14| 5,000
202 O4Hl 36,000 36,000 0
03 =20 36,000 36,000 0
NHEY 22 ol 9,000, 000& *4JH &= Al 36,000
203 AR =& 26,000 26,000 0
03 AMF=XHIL=LH| 26,000 26,000 0
N2 - et&, JIEEFYUHl S
26,000,000& » 14| 26,000
301 et a= 20,000 30,000 210,000
08 LIeI=& 0l 20,000 30,000 A 10,000
nNoiel NREA =& MU
20,000,000& 14 20,000
NAHSAIHE 22 &0t 17,000 17,000 0
201 LEH2HH| 3,000 3,000 0
01 AtS2t2ibl 3,000 3,000 0
1)S%dl 8 600,0003 12 +5& 3,000
202 Oddl 9,000 9,000 0
03 =2HF NI 9,000 9,000 0
NHEE 22 ol 3,000,000 3«12/ 9,000
203 ¥ =&l 5,000 5,000 0
03 AMH=XHRFAH| 5,000 5,000 0
NJ18sg g, X g4l 8
5,000, 000& 13/ 5,000
St SMS Mt EHS 10,000 10,000 0
306 9= 10,000 10,000 0
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RS DA,

M F U s L gEZAA
el PHO IS 8 =S Hel)
SN C(BH) - NRAY - HES Aro e 2
01 =43 10,000 10,000 0
Neca 10,000, 000& *18] 10,000
FMuE g8 38 63,000 16,800 46,200
oHel XOHEAIRHS HAE 33,000 16,800 16,200
201 eIy 10,500 6,300 4,200
01 AbR2t2lH| 4,500 5,300 A800
DR 1,500,000& 14 1,500
NEBZE B2 2t =8|
1,000, 000& *33| 3,000
03 A2 ZHI 6,000 1,000 5,000
DES-IE-PNERCE-TN"PNCTE=
6,000,000 =14 6,000
202 (48| 8,000 0 8,000
CIEEEET 8,000 0 8,000
NelEX L20itl 2,000,000 x2H 23| 8,000
203 YR FAY| 9,000 5,000 4,000
03 AlZZ=ZQR=AY| 9,000 5,000 4,000
Ne - ot&, J1gs1y
3,000,000 * 14«33 9,000
301 et2 4= 5,500 5,500 0
08 2API=& 04| 5,500 5,500 0
1)=el, Al S 5,500,000& * 14 5,500
A= SSHI L2t 30,000 0 30,000
201 LBt 30,000 0 30,000
01 AFR 22l 30,000 0 30,000
NESHTL2HBIH=A) 15,000& 2,000 30,000
U TOHEAIZE nE 243t 8,700 10,000 A 1,300
AU THEAIZ wE 243t 8,700 10,000 A 1,300
203 HRF&H] 6,000 6,000 0
03 AlZEZIQ2 =AY 6,000 6,000 0
NRoE JIEE 24l
2,000,000& *300 = Al 6,000
301 LEtEAZ 2,700 4,000 A 1,300
08 2IBI=& Nl 2,700 4,000 A 1,300
NZE=FCIAL MAYEl S 300,000& *37H & Al *33] 2,700
A S AZotE 22| 13,112 9,713 3,399
A S Az ot a2 13,112 9,713 3,399
NA S AZ oA 22| 4,332 4,573 A4
201 LBt 1,332 1,573 A241
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A THAS H D
HE: A2 ZH|(THAS A D)
Chel: ol 2 H|(THAHS] H 1) (ehel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
NEASILRFEHI(HE 19Y)
350,000& <128 4,200
204 X P LAYl 12,600 12,600 0
03 SR ESHI 12,600 12,600 0
N2HEgs2& 50,0003 x6E «12& 3,600
nNadgg3 50,0003 x3E «12& 1,800
NSARIEY 2 100,000& 3H 12 3,600
NAALL IR 50,0002 x6H 122 3,600
JI2 B3I (M AFS A D 115,060 114,762 298
Jl2&ZH| 115,060 114,762 298
201 LBt 3| 46,660 46,362 208
01 AtR 22/t 41,660 41,362 298
NilE MRsEEYI 20,000 »19H 42| x80% 1,216
N2 MRE8308 30,000 199 »43| x80% 1,824
NHEYFHHISAHI(Z2IE I3, S ADI2)
400,000 *5CH *43| x80% 6,400
NS234tl 7,000 « 19 204 123 31,920
NEMTH 50,000& 38 *23l 300
02 ZE=23Hl 5,000 5,000 0
NRERS S 5,000,000& =1 5,000
202 O4Hl 68,400 68,400 0
01 WY 68,400 68,400 0
DEESGE:] 20,0003 x 198 15 «12& 68,400
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SA: M1
B Mol HFX B

ool MR A (Etel: &8
= o (5 = T S =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 BlusZ

M 13k 830,949 852,865 £21,916

Meiol oty oty 578,109 608,005 129,896
M 496,575 521,397 124,822
RSA L Ao+ Fa 496,575 521,397 N24,822
201 Yer2ey| 389,526 391,890 ~2,364
01 At 2l 167,526 110,897 56,629
DIXM M, &2, 28, 22 S
5,026, 0002 122 60,312
DRLMS MO S8ty 12,276,0002 +33] 36,828
NEABOAY S2 15,000,000 *1 5,000
DAL S ESAAOIE 340,0009! * 128 4,080
NHEE ®X SI| Set448
600, 000! * 122 7,200
NDHTEH S DINAEHE ZAED| ]X
4,960,0002 * 14 4,960
DAlSI+e 22X Mo 1,340
2R FAEOIR) 120, 0008+ 12 %23 240
2N FAE(ZD) 50,0002 * 124 23| 100
RS 7Y 10,0009 %100 1,000
DLNESBHARS >
70,0008 x4 23 560
DASELSS Sl 7,0002 5362 52 « 122 15,120
DRSS/ SAFY 1,000,0008 1 1,000
DXZAE Be 60,0008 *36% 2,160
NH2$Y e 222 18,965, 2408+ 18,966
02 22| 222,000 280,993 158,993
NB2R2 S 18,500,0002! * 12 222,000
203 YR FAY| 7,800 7,800 0
03 AlZXYDETH| 7,800 7,800 0
DAY Z2ge =7 7,800,0002 * 14 7,800
303 TAB 90,949 121,707 £30,758
01 =& 90,949 121,707 £30,758
DAGEE 24 F+EA3 14,971
2)2000E & M2 347,650, 0002 * 1% 3,477
2)200841 € M= 114,500, 0002 3% 3,436
2)2007H S OIF M2 161,146,002 5% 8,058
DRLHEE Hlol4e F4+Ta3 71,078
2)2000E & M2 359,541,600 * 1% 3,59
2)20084 & M 2 380,012, 0002 3% 11,401
2)2007H S OIF ME  1,121,619,0002 5% 56,081
NHZ+Y 2424 L SBI2 A4S 4,900

- 178 -




SA: M1
B Mol HFX B

SETRVYIIEEN (sl &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
2)2R+=2N 1,000,000& * 18 A *13] 1,000
)2 M 500, 000& 2% M *13l 1,000
2)HEM 300,000& 3= M 13l 900
2)=H2M 200,000& 4= A +13l 800
2)RSSRA ANAS 200,000& 6«13 1,200
405 AHeHESHI 8,300 0 8,300
01 XYL SSFSHI 8,300 0 8,300
NHE X2 M S 2l 0H 8,300
2)PDA 1,540,000 +5CH 7,700
2) Xt HH A =M 200,000& =3 CH 600
HE=E018 2H 81,534 86,608 A5,074
HEFEIIA A L &HE 81,534 86,608 A5,074
101 Q1 Z4H| 13,024 12,672 352
04 JIZtHIZ22HEsE+ 13,024 12,672 352
N =012 AP o2t
37,0003 x8H «22 L 42 «50% 13,024
201 B3| 61,810 62,101 A 291
01 AtE222/Hl 59,983 60,274 A 291
NNE =& JrAZ AL 59,983
2)8E === 89,487,000 » 1 x50% 44,744
2)2IM Y SHIRAEH S
24,520,000 * 1E *50% 12,260
2)HPMAP =278 R X2 4H
1,800,000 * 1E *50% 900
2)REAEIIFIRS +g
70,0003 *9H «53| x50% 1,575
2)S2=4ltl 7,000 *6H 22 « 122 +50% 504
02 =234l 1,827 1,827 0
DHEZEINA ZA 2R L HA
3,654,000 * 1 *50% 1,827
202 O4H| 3,600 2,640 960
01 =Wl 3,600 2,640 960
INE =LA ZALG Bl 7,200,0002 * 1 *50% 3,600
405 AHoHESHI 3,100 9,195 26,095
01 ML ESHSHI 3,100 9,195 26,095
NS =IO A R AL 2P L WA 3,100
2)UBtEAM ZElH D 1,400, 0003 *1CH*50% 700
2)BA 1,800,000 * 1CH*50% 900
2)3E o2 & ZElHD|
3,000, 0003 = 1CH*50% 1,500
HY2IZHI(M21D) 252,840 244,860 7,980
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52| 47,700 46,500 1,200
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Y ESEEESY 4,500 4,500 0
NENSYYLET (BY 35Y)

375,000 « 122 4,500
204 X242 43,200 42,000 1,200
03 SHYP 4 43,200 42,000 1,200
Naege o 100,000 *36% * 122 43,200

|22 (M2 1) 205, 140 198,360 6,780
bl 205, 140 198,360 6,780
sty 75,540 72,360 3,180

01 A2l 75,540 72,360 3,180
012 A28 20,0002 35 *43| *80% 2,240
12 A28 30,0002 35 *43| +80% 3,360
1S ZHI R X (ZRIEII6, = A1)
400,000 +7CH *43] *80% 8,960
S22z 4| 7,00021 +362 x20A! # 122 60,480
DEVEEN 50, 00021 *5E} x23] 500
o1t 129,600 126,000 3,600
2Ol 129,600 126,000 3,600
1) &2 04t 20,0002 %36 % * 152+ 122 129,600
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S
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S B HI(MS2)

Jl2 3l (NlSR2mt)

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
NP ZHIFXIHI(Z2IEHII6, SADIT)

400,000& +7CH*42] x80% 8,960
nNs2=4t 7,000 +37F »2041« 123 62,160
NEM7H 50,000& 58 #23] 500

202 O 133,200 133,200 0

01 =W 133,200 133,200 0
NEZHYI 20,0003 37815 <128 133,200
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SN

X{ ZH -
o= -

chelr X& 2

_ _ _ MEc
SN CR(EH) - NRAY - BES are 01 &t o8 e
FSHEED 372,141 322,366 49,775
= 5,880
- 366,261
FSL 23t 199,531 149,446 50,085
= 5,880
- 193,651
A= 2 98,022 30,022 68,000
M2el2a 23 21,742 22,492 AT50
201 LetEIH| 17,142 17,542 A 400
01 AtR22/H] 17,142 17,542 2400
122 a sHEY 5,520
2)=52 2ely 160,000& «12& 1,920
2)stE 7 & Zel 300,000 *43| 1,200
2)HtE ZEXA 800, 000& »32l 2,400
Ned 22= 250,000& »27H 6,750
NOJANA QIMbI 3,000,000& 14 3,000
NEEgsYEL 3 RANExH
78,0003 201123 1,872
405 KHoHESHI 4,600 4,950 A 350
01 T =S HSHI 4,600 4,950 A 350
1)S At 4,000,000& = 1CH 4,000
12 A MEDI 600,000 = 1CH 600
Network-RTKOIl 2 FZ AR ALA| 50,000 0 50,000
405 AHoHESHI 50,000 0 50,000
01 RH&t&d 50,000 0 50,000
1)GPSY & ZHI
50,000,000 +1CH 50,000
NBESEI|= 11,280 7,530 3,750
201 LetEd 10,000 6,250 3,750
01 AR 2 10,000 6,250 3,750
DEE] 10,000, 000& 14 10,000
203 HRF 1,280 1,280 0
03 AlZ= 1,280 1,280 0
IDRAES 1,280,000& 14 1,280
=387 & 15,000 0 15,000
201 Et2d 15,000 0 15,000
01 At 2 15,000 0 15,000
DEL 15,000,000& 14 15,000
EX &l 2,280 2,780 A500
EXNSEINSH 2,280 2,780 A500
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A SRl (BIH) - MIBAY - B S Aro e =2
203 &l 1,280 1,280 0
03 HPR= 1,280 1,280 0
23 1,280,000& 14 1,280
301 a3 1,000 1,500 A 500
12 a3 1,000 1,500 A500
H ch Hl < Za3
500, 000& 224 1,000
= & 37,130 40,640 A 3,510
= 5,880
- 31,250
I 2| 29,130 40,640 211,510
= 5,880
- 23,250
201 LetEdH| 18,870 19,360 A 490
01 AbR22lH| 18,870 19,360 A 490
1)EFALX 2 & 750,000& »3& 2,250
naelz 2¢ 2,000& *3750H 750
NM=L ZH R 2,400,000 14 2,400
NELE=SE ME 3,000 =4, 0004 12,000
NMFL<33 &g 70,0003 +7E 33| 1,470
203 HRF&H| 1,280 1,280 0
03 AHEFIHRFAH| 1,280 1,280 0
DMEAAMY R2FT 1,280,000& 14 1,280
401 9 = [ b 8,980 20,000 A11,020
= 5,880
- 3,100
01 8,980 20,000 211,020
FANEE SN2 8,980
HE 980, 000& =64 5,880
= 5,880
SHSH 6,200% *500H 3,100
HEd S (RS XIS HE 8,000 0 8,000
201 234l 8,000 0 8,000
01 AtE222|H] 8,000 0 8,000
=4 St (EXIE)HMZ 8002 *10,0000H 8,000
DAXNEA L 2 37,345 38,605 A1,260
PP 37,345 38,605 A 1,260
201 234l 35,585 36,845 A 1,260
01 AFR 22| 29,520 30,780 21,260
1)IHE 3 AIXI Ot 25,000,000& =14 25,000
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SN RESMELBD

Y YA (RESAZFED)

&l JI2ZH(RFsSMEED) (el &)
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
Jl=&Hl 168,410 168,720 A310

201 Let2d| 67,610 66,920 690
01 AtE22|HI 64,660 63, 120 1,540
Nile ARsE 20,0003 »27 & 43| *80% 1,728
NI MRES0IR 30,0003 »27 & x4 *80% 2,592
NI TR (TIE D9, ZAMIN1)
400,000 »10CH *4 2] *80% 12,800
nNs2=4tl 7,000 x28H «20 4! x 12& 47,040
NEAMZHI 50,000& 58 23] 500
02 2234l 2,950 3,800 A 850
N3=22= £ HMA 2,950,000& 14 2,950
202 O4Hl 100,800 100,800 0
01 =LA bl 100,800 100,800 0
NEZE0YI 20,0003 »28H x 152 «12& 100,800
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B e
Sl B 2N FUFHAY (9l &2
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o e HRE2
ICEENEEE 70,0002 %23 140
DFEAWAS SAMON TS 42 1,400
2)J1= 70,0002 +7% %23] 980
2)Z 1t 30,0008 +72 23] 420
2R 2Y4L 2,720
2)Jl & 70,0002 +8% *43] 2,240
E 30,0002 +8% x23] 480
203 R =Y 2,000 1,600 400
03 AMETYREY| 2,000 1,600 400
DHAEMY F2ET) 2,000,002 1 2,000
207 91Tt 86,000 300,000 A214,000
R=EETT 86,000 300,000 A214,000
DHAE o THHESE ZHIHE
86,000,0002 *1 86,000
FATOHL Hy) 7,840 9,100 A1,260
201 Y2 5,840 7,500 A1,660
01 At 5,840 7,500 A1,660
DESTONL FUIAY 2t =013 1,840
2)8 4ot M 10,0002 *27H 200
2)OHLY BT R 3,000 *5002 1,500
)83 NREE 70,0008 x23] 140
DN & HAS 2133 HN
40021%10, 0005 4,000
203 REWY| 2,000 1,600 400
03 AMEXYREXY| 2,000 1,600 400
DIHHLAY HR=TY) 2,000,008 1 2,000
HYSH AU (FHRBWLD) 131,980 130,417 1,563
A2 (EHEZNLD) 7,500 7,500 0
LR 7,500 7,500 0
203 PREWY| 7,500 7,500 0
01 JESYYLEY) 3,300 3,300 0
NEACKR 29 3,300,008 1 3,300
M EASYARETY 4,200 4,200 0
NEASYYLEZH (I 18Y)
350, 00024 + 122 4,200
D=2 (FAHSZHE D) 124,480 122,917 1,563
o= 2l 124,480 122,917 1,563
201 L2 52,480 47,247 5,233
01 At 2l 42,780 40,100 2,680
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Y HHSHAH (FHZHLD)
Eel: JI2ZHI(FASZHE ) (el &)
_ _ _ N E
SA-E . S(E) - MEAY - BES 0l & o G SImE=ET
NJl2 ARsEH 20,0003 » 18 43| x80% 1,152
NJE MRES0IRE 30,0003 =18 43| x80% 1,728
NP ZHIFXIHI(Z2IEH D5, S ADI1)
400,000& 6 CH x4 x80% 7,680
nNS2=4tl 7,000 x19H «20 4! x 12& 31,920
NEAM7HYI 50,0003 =38! »23] 300
02 23234l 9,700 7,147 2,553
N232= % HAl 9,700,000& x1& 9,700
202 (4Hl 72,000 68,400 3,600
01 =AY 72,000 68,400 3,600
DEELG]:=] 20,0003 x20H x 152 «12& 72,000
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A ZAICIA 0t

Ha: CAHE U SACIK =X

ool FNE SANE 2 (el @2
SA B HRA(SH) - MRAY - B 0l & o e HREZ
S AICHAH Q! It 718,210 580,090 138, 120
SAIAHE 2 SAICIAC =& 612,350 468,950 143,400
MAE SAIHE =& 602,550 18,450 584,100
SAHE =8 30,550 16,850 13,700
201 B3| 28,950 15,250 13,700
01 AtR 22/t 28,500 15,250 13,250
NEAHEAHE 2@ B4 2g 10,000
2)Jl2 70,000& 108 x103l 7,000
2)=1t 30,000& 108 x103l 3,000
NEAHESHSIAS 12 HaSY 3,500
2)J& 70,0002 x5H +73] 2,450
2)= 1 30,000& x5 +73] 1,050
ngesls 1,500,000& =103l 15,000
02 =234l 450 0 450
Na3e= % HMAl 450,000& 14 450
203 ¥R =&l 1,600 1,600 0
03 AEFXHRFAH| 1,600 1,600 0
NEAAE dRFX 1,600,000 14 1,600
AR HE =8 10,000 1,600 8,400
201 LBt 3| 9,000 0 9,000
01 AtS 22l 9,000 0 9,000
ngesils 1,500,000& *43] 6,000
NEDM & 24X oIy 1,000,000& =32l 3,000
203 ¥R =&l 1,000 1,600 A 600
03 AZFXHRFAH| 1,000 1,600 A 600
NDXRHLAAHE 2 =X 1,000,000& 14 1,000
HESA N2 A= HEH 253,000 0 253,000
201 LetIH] 3,000 0 3,000
01 AtR22/Hl 3,000 0 3,000
ngegsils 1,500, 000& =23 3,000
207 Ao 250,000 0 250,000
01 &SI 250,000 0 250,000
DXRESHE WEH S8 2
250,000, 000& * 14 250,000
SMEES TASIEHIAIY =A 309,000 0 309,000
203 R4l 1,000 0 1,000
03 AIM=XHSL=EH| 1,000 0 1,000
NAUERE CASAFHIAY 27
1,000,000& 14 1,000
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A ZAICIA 0t

Ha: CAHE U SACIK =X

ool FNE SANE 2 (el @2
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
207 HFIHEHI 308,000 0 308,000
01 22E Sl 308,000 0 308,000
NAGEE TABLZHRANE HY+ LB
308,000,000 * 14l 308,000
SACIRRl =& 9,800 450,500 A440,700
SACXRAE 23 9,800 20,500 210,700
201 et 8,800 19,500 A 10,700
01 AtS22/Hl 8,800 19,500 A 10,700
DAL 23 2@ = 8,800
2)Jl& 70,000& 10 x102] 7,000
2)=1t 30,000& 10 *62] 1,800
203 HRF4HI 1,000 1,000 0
03 A =X HSLE=EH| 1,000 1,000 0
NOXe 42 = 1,000,000& 14 1,000
HHE2EZHI(ZAICIX D) 105,860 111,140 AN5,280
oIA2HYI (S AICIXEQI ) 4,200 4,200 0
FANISE2AY| 4,200 4,200 0
203 R4l 4,200 4,200 0
04 RA2ILRF=LH 4,200 4,200 0
NENSYLLENY(B 179)
350,000& «12& 4,200
Jl2ZHI (S AICI ARl ) 101,660 106,940 N5,280
JI=&Hl 101,660 106,940 A5,280
201 LEH2HH| 40,460 42,140 A 1,680
01 AtER22/Hl 39,260 41,180 A 1,920
NJIE MREEYI 20,0003 = 17H »4 3| x80% 1,088
N2 AREE0I= 30,0003 *17H »43| x80% 1,632
1S E TSI (ZE D4, ZAII2)
400,000 *6CH *43| x80% 7,680
NE=2=4tl 7,000& «17H*204 %123 28,560
NEAM72YI 50,000& »3&! x23] 300
02 =234l 1,200 960 240
Na3e= % HMAl 100,000& «12& 1,200
202 O4H| 61,200 64,800 A3,600
01 =Wl 61,200 64,800 3,600
NEZHYI 20,0003 17815 «12& 61,200
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SHT TARE NS
o CANE @ F|

=

0

S eI SMEHISEX P HEAS (¢t &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

T A E O D 168,060 196, 060 A 28,000

SAINE ¥ FH| 67,880 90,000 N22,120

el SMEHIS& X7 HEAIS 27,000 31,800 A4 ,800

tels T AIEE & 27,000 31,800 A4 ,800

201 LBt29H| 22,400 27,200 A4 ,800

] 22,400 27,200 A4,800

50000024 %23 5,000
NSRS HE4Z 100,000 «10% «43] 4,000
NEX,AS Solgegs42
5002 *3,00021 x23] 3,000
1) OHLH & HI & 1,2002 *2, 0005 *43] 9,600
NI2se s =gl 200,000 *43] 800
203 YREAY| 4,600 4,600 0
03 AlZ =R =Y 4,600 4,600 0
NEASBHEIAIY DIRRRE A=Y
4,600,000 *114 4,600
YSEDIAL US 12,500 22,000 A9,500
USERIAL MF 12,500 22,000 9,500
201 Ygreg| 8,500 18,000 9,500
01 AtR2elt| 8,500 18,000 29,500
DRIFAL ASAY 2|
1,000,0002! %33 3,000
NDSHSA BYN2LY
25000021 *12 x 128 3,000
Nae2n2 2,500,0002 *13] 2,500
203 HRFAY| 4,000 4,000 0
03 AIBZ=RHREZY| 4,000 4,000 0
NRIFALME U DAY Y25
4,000,0002 114 4,000
DEAE OIXX =8 WAL 7,800 13,000 4,800
DEAE OIXX SN 7,800 13,000 4,800
201 Yer2g| 15,800 11,000 4,800
01 AtR22lt| 15,800 11,000 4,800
NRFALOIHINLAIY A2BDR
2,500, 0002 <23l 5,000
NRBAL 0IRX ANLLBS S 2R
1,000,000 %23 2,000
DHLAY 2 QS HE U B2
2,000, 0002 23| 4,000
ISR H24LY 100,000 «10% «43] 4,000
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SN OISHEASD
B A5 22

Sl TARASE FROM (e &2
_ _ HE T
SN-EHH S (3H) - HEAY - BES Off &k il i~ o Hn=2
NEBAMY AR 25,000,0002! * 14! 25,000
HEHS RO 22 48 8 150,000 0 50,000
401 Al BI2 2 CHY| 150,000 0 50,000
01 Al 150,000 0 50,000
DIHZHS RO 22IHE 8 S
150,000, 0002 *14] 150,000
A= 0pHHOl 2 4,000 0 4,000
201 Lpr2 o] 4,000 0 4,000
01 At 22lt] 4,000 0 4,000
DESVEES 20,0002 %2002 4,000
AgAEE Tl F 22,460 22,460 0
AYASE BEES 25 22,460 22,460 0
201 L2 20,960 20,960 0
01 AtR22lt] 10,960 10,960 0
DEE 20,0002 +8% 960
NAY AES U |
10,000, 00024 *1 10,000
2 BB 10,000 10,000 0
OI#ARBDXA SHRI
10,000, 00024 *11 10,000
203 ZRETH| 1,500 1,500 0
03 AIMETLREY] 1,500 1,500 0
1260t AS S =T 1,500,000 11 1,500
HHSAZH (OIBLEAS D) 154,750 153,260 1,490
TR T 4,200 4,200 0
SRR 4,200 4,200 0
203 ZRETH| 4,200 4,200 0
04 RASYLRETY] 4,200 4,200 0
NENSALRFT (B 24)
350, 00024 + 122 4,200
=2 (OS2 AS D) 150,550 149,060 1,490
o=l 150,550 149,060 1,490
201 L2 56,950 54,060 2,890
01 AtR22lt] 56,950 54,060 2,890
712 A28 S 20,0002 242 x43] *80% 1,536
1012 MREZ0IR 30,000 <242 43| «60% 2,304
1) 8 IR (ZRIE IS, ZADI)
400, 00021 *6LH #4531 +80% 7,680
DEEEE 7,000 %26% *204! #1202 43,680
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fA: OISO H=N
Y HH2HAH(OIEU2ASD)
&l JI2ZH(0tEU2A=) (el &)
_ _ MNuE o
SN B SRA(SIH) - MBAY - BAS Ol & 4 01l & 01 s
NEAMTH 50,000& 48 #23] 400
N2yl &g 150,000 *9CH 1,350
202 O4Hl 93,600 90,000 3,600
01 =Wl 93,600 90,000 3,600
NEZNYI 20,000 x26H 15 <128 93,600
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SN ZESAD
Hm: Z272 X
SRl MBR TV EM Y e (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
ZEC A 5,141,101 7,658,142 ~2,517,041
=2 290,259
Al 305,472
2 4,545,370
Z202 #F 3,784,909 6,524,053 £2,739, 144
Al 226,800
2 3,558,109
MEA 3R T4 L 22 1,337,279 2,921,553 A1,584,274
IAW MSAL L BANL &R 80,240 150,240 AT0,000
301 LBA 240 240 0
10 BAAIHIR A3 240 240 0
NI HSALS 85 B
30, 00021 *42 x23] 240
401 Al&HIL 20| 80,000 50,000 A70,000
01 Al&H] 80,000 148,000 68,000
NBAL HSAE L BAAE &3
80,000, 0002 *14! 80,000
WEE T 50,000 50,000 0
401 Al&HIL 20| 50,000 50,000 0
01 Al&H] 50,000 50,000 0
PECR-ETELT 50,000, 0002 * 14! 50,000
2AS |NLS 22 72,639 62,513 10,126
206 2| 47,639 42,513 5,126
IET 47,639 42,513 5,126
1)BUS BT (BE, AFI|, SHES) 47,639
) U BT (DES,2000)
28, 16021 #110%+6985 *0.3 6,487
2)HI o Y I (DE S, 2000)
46,2602 *110%+6985 *0. 1 3,552
2) %410 495,0002 *110%+2024 %0. 1 1,089
2)SJI2 WA 180,0002 *110%+69850.05 6,911
2)EFE WA 3,500,0002 *110%+20240.2 15,400
2)FM WA 4,275 % 110%10,000m+0. 1 4,703
2)2RAES FIIGH FHY
13,2002 46545 *110% 9,497
401 Al&HIL 20| 25,000 20,000 5,000
01 Al&H] 25,000 20,000 5,000
BRS B4(BZoFI| SIS 2A)
25,000, 0002 *14! 25,000
T (YT, 0R0IBY S) | 132,000 102,400 29,600
201 L2y 108,000 91,600 16,400
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SN
X XH .
S Tt

ok

M- &9l (3H) - H2AY - BHES Aro Soe HlmE2
01 AFR22lH| 20,400 15,600 4,800
DR R=lE =] 1,700,000& x123 20,400
02 3224l 87,600 76,000 11,600
Na32=2 2 HAl 100,000 #6524 123 78,000
NAIE &KX 800,000& = 12& 9,600
206 M=l 24,000 10,800 13,200
01 MH=z=Hl 24,000 10,800 13,200
nN=2e 2 oelolsd, 020ty S |
2,000,000& «12& 24,000
23 ZHEAY =& 9,400 9,400 0
201 LBt F Y| 3,400 3,400 0
01 AFR22lH| 3,400 3,400 0
NEAMSXN2HAS & = 3,400
2)J1& 70,0003 x5 x83| 2,800
2)= 1t 30,0003 x5 *43] 600
203 HRF&H| 6,000 6,000 0
03 AEFIHRFAY| 6,000 6,000 0
128 ZHAIE AMEA 500,000& = 12& 6,000
A0lE8 T2 29 8,000 10,000 A2,000
201 et 3,000 3,000 0
01 AFR 22l 3,000 3,000 0
NZZ O 24| 3,000,000& =14 3,000
301 Let2 a3 5,000 7,000 A 2,000
10 dAtAHIEA S 5,000 7,000 A2,000
N2AMZ 5,000,000& =14 5,000
SR=S28 MY IIEE e A 985,000 0 985,000
401 AlEHIZ 2 985,000 0 985,000
01 Al&t| 985,000 0 985,000
1) 24| 525,000,000 * 14! 525,000
1) S AtHl 460,000,000 14 460,000
gFH =X 24 2 el 2,243,640 3,000, 100 AT756,460
Al 226,800
- 2,016,840
OtHIE gal=sX =4 34,000 400,000 A 366,000
401 AIEHIZ 2 34,000 400,000 A 366,000
01 Al&H| 34,000 398,000 A364,000
NESSMIIAIY 34,000, 0002 *14] 34,000
FUA A2 At 440,000 450,000 210,000
401 AM&HIL 2048 440,000 450,000 A 10,000
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SN ZESAD
m: 22 FX
ol MEXM =X X4 U el (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
01 Al&H] 437,000 446,000 A9,000
122N 437,000, 0002 * 14! 437,000
03 Al& S CH| 3,000 4,000 A1,000
1) Al & 2 CH bl 3,000, 0002 *14] 3,000
OIH BUAXY 50,000 50,000 0
206 2| 50,000 50,000 0
01 T2l 50,000 50,000 0
NRAZXY 50,000,002 * 14! 50,000
ITAEES Y T 90,000 35,000 55,000
401 Al&HIL 20| 90,000 35,000 55,000
01 Al&H] 90,000 35,000 55,000
)BTAE 24 B 90,000,000 * 14! 90,000
SATEES =5 178,000 0 78,000
Al 106,800
2 71,200
401 Al&HIL 20| 178,000 0 78,000
Al 106,800
2 71,200
01 Al 177,000 0 177,000
RES 391K (LZ2) 177,000,000 14! 177,000
Al 106,200
2 70,800
03 Al& S CH| 1,000 0 1,000
DREELE 1,000, 0002 14! 1,000
Al 600
2 400
EZE BRR 200,000 200,000 0
206 2| 200,000 200,000 0
01 T2 bl 200,000 200,000 0
2R 20 5002 *100, 0002 ¥4 3] 200,000
=X +22A L HEY 50,000 100,000 50,000
401 Al&HIL 20| 50,000 100,000 50,000
01 Al&H] 50,000 100,000 50,000
=X +224 2 WY
50,000, 0002 *14! 50,000
BE DU 20l L 50,000 80,000 30,000
401 Al&HIL 20| 50,000 80,000 30,000
01 Al&H] 50,000 80,000 30,000
BE, DL 20I52 &
50,000, 0002 *14! 50,000
Jlza H5@ Ty 50,000 120,000 A70,000
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SN ZESAD
M. T=2]2 EX
el MEFH =X X4 Y 22 (el &2
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
401 Al&HIL 20| 50,000 120,000 A70,000
01 Al&H] 50,000 120,000 A70,000
)l2+25E 83 50,000, 00021 *14! 50,000
Jt2 4 Of F=X EH 50,000 50,000 0
401 Al&HIL 20| 50,000 50,000 0
01 Al& ] 49,000 50,000 A1,000
1)t24 Ofe) YR=X ELAL
49,000, 0002 *14! 49,000
03 Al&=CH| 1,000 0 1,000
1) Al & O bl 1,000, 0002 *14! 1,000
24 IR 50,000 50,000 0
401 Al&HIL 20| 50,000 50,000 0
01 Al&H] 50,000 50,000 0
1)t24 JFXXI| AR 50,000, 0002 *14! 50,000
AUS M5= 50,000 50,000 0
401 AlAHIL 20| 50,000 50,000 0
01 Al&H] 50,000 50,000 0
NALS M52 50,000, 0002 *14! 50,000
N2EX ARD HH| 90,000 90,000 0
401 Al&HIL 20| 90,000 90,000 0
01 Al&H] 89,000 90,000 A1,000
2= AR HH| 89,000, 00021 *14! 89,000
03 Al& = CH| 1,000 0 1,000
1) Al & 2 O bl 1,000, 0002 14! 1,000
BIE LR AT 50,000 100,000 50,000
206 2| 50,000 100,000 A50,000
01 W&l 50,000 100,000 50,000
NEIE LRIl =atAY +27¢
25,0002 %2, 0005 50,000
£2ATH AR 588,040 595, 100 AT7,060
Al 120,000
2 468,040
101 24| 450,720 439,920 10,800
Al 100,000
2 350, 720
04 JIAH2EZHE LS4 450,720 439,920 10,800
NBA=X 2L (PHRANSNLLS L)
45,0002 x36% %2302 1.2 447,120
Al 100,000
= 347,120
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SN Z2EAID
M 22 FX
Sl MEZEH =X X4 U e (erel: @2
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
1)&ee 10,0002 %362 * 13 3,600
201 Ysre | 61,320 74,180 A 12,860
Al 20,000
- 41,320
01 At2elt| 48,000 60,980 A12,980
DEEEER=TE 1,500,0002 * 122 18,000
Al 5,000
= 13,000
DY Y AxE 200,0002 * 152+ 102 30,000
Al 10,000
= 20,000
02 ZZSIH| 13,320 13,200 120
DAIEZHIR XY 1,110,0002 * 128 13,320
Al 5,000
= 8,320
203 YR FAY| 5,000 5,000 0
03 AlBZEX YR EAY| 5,000 5,000 0
1)ZY, =XES AZEX  5,000,0008 1 5,000
206 M 71,000 76,000 A5,000
01 e 71,000 76,000 5,000
DAIEE T4 S mY| 22,000,000 *1 22,000
1elerE nel 4,000,00021 * 14 4,000
D=X0,ot24 22 Wal
22,000,0002! *1 22,000
)32, Hess® S zel He
23,000,0002 *1 23,000
OlE MEIZE RXIL 73,600 0 73,600
101 2124t 49,100 0 49,100
04 JIZH2EXS B4 49,100 0 49,100
)OI BR| QIO 45,0009 x5 *180L 1.2 48,600
DEZ=E 10,0002 *524 15 500
201 Yer2ey| 9,600 0 9,600
01 AtR2telt| 4,800 0 4,800
DEEER=1 400,0002 * 128 4,800
02 BB 4,800 0 4,800
DA ZE S 400,0002 * 128 4,800
206 THEH 14,900 0 14,900
01 Tl 14,900 0 14,900
NEJALS, MMz S el HEH
14,900,0002 *1 14,900
S BESIA X 150,000 0 150,000
401 N EHIL 2O 150,000 0 150,000
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SN ZESAD
M@ Z292 HXE
el MEFH =X X4 Y 22 (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 Al&| 150,000 0 150,000
NEYES TEHIA 43
150,000, 0002 * 14! 150,000
SAMEH =29 Y 2 X 203,990 602,400 £398,410
20 Sz Zi| 100,000 100,000 0
401 AEH L2 100,000 100,000 0
01 Al&l 99,000 99,000 0
)2 SAE HUIAF  99,000,0008 *14! 99,000
03 Al& S CHY| 1,000 1,000 0
1) Al & O bl 1,000,0008! %14} 1,000
g4 I 40,000 40,000 0
401 Al&HIL 20| 40,000 40,000 0
01 Al&| 40,000 40,000 0
DEEES=-TH 40,000,000 *14! 40,000
AR =X 2RI 63,990 62,400 1,590
201 Yer2g| 17,700 20,600 A2,900
01 AtR2elt] 7,500 10,400 A2,900
DEIIES=11 500,000 *122 6,000
DHLRS TS PAS FHIY YT
500,002 %33 1,500
02 B2 10,200 10,200 0
1) Xt R X 3,000, 0002 *3CH 9,000
1)AI& ZHI X 10,0002 x122 1,200
203 Y= 2,400 2,400 0
03 AlZZ=XQ =Y 2,400 2,400 0
1) AHE 2 X O 2 900,000 *14 900
1)A1 S8 A 900,00024*13] 900
1)S 28 A 600,0002! 1] 600
206 T2 43,890 39,400 4,490
01 T2l 43,890 39,400 4,490
1&g, =22l Ha 600,000 *122 7,200
NAISY ALE £279  10,0002+1,500%F 15,000
NSRS T, 20F 22l TR
600,0002 *122 7,200
DHBLR (£2FA)TL-HEUS
5,000 1,0003= %2 10,000
N=NALS 22SB(QUAH)TY
35,0002 *100S 3,500
=Xzl Hyl PY(FIS S)
330,000 *3CH 990
NE LIS 506,212 232,652 273,560
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A FESAD
I A THEHE X
Chl: AFSITHGH Ol & (&9 HM
) _ _ poNE
A -3 -H2A(SH) - HEAMY - BES Of] AF R lOﬁ/l\_Fgﬁ Hos
= 290,259
Al 78,672
- 137,281
ARSI THOH Ol & 506,212 232,652 273,560
= 290,259
Al 78,672
- 137,281
stedois 2l 87,126 169,880 AB2,754
= 42,520
Al 15,286
- 29,320
101 2144l 84,481 163,930 AT9,449
= 39,875
Al 15,286
- 29,320
04 JIZtHZ22HESE+ 84,481 163,930 AT9,449
NYHoEA(EHIMNESNESS L&)
84,481,000 =14 84,481
= 39,875
Al 15,286
- 29,320
206 XH2Hl 2,645 5,950 23,305
= 2,645
01 MZHl 2,645 5,950 23,305
[DELRS Bl 2,645,000 x14 2,645
= 2,645
M MHIA S 14,072 51,238 A37,166
= 8,443
Al 1,689
- 3,940
101 Q14| 13,172 48,946 A35,774
= 7,903
Al 1,581
- 3,688
04 JI2ZtMZ22XSE+ 13,172 48,946 A35,774
NeIHE(EEEMNENRLES ZF)
13,172,000& 14 13,172
= 7,903
Al 1,581
- 3,688
201 €Et23| 900 2,292 AN 1,392
= 540
Al 108
- 252
01 AFR 22| 900 2,292 AN 1,392
NuEEsdl, &ds S 900,000& » 14 900
= 540
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P EEZ AL
Ate THoH & X
o A THOH Ol 2

- _ _ pSNE e
SM-BH-H2A(FAH) - MIRAY - BES AFoH 'Oﬁ,‘\ja‘g HusZ
Al 108
- 252
A2 X CHEH 12,580 11,534 1,046
= 520
Al 234
- 11,826
201 Et29H| 12,180 9,900 2,280
= 360
Al 162
- 11,658
01 AtR22ldl 12,180 9,900 2,280
1A= XS 500,000& =14 500
= 200
Al 90
- 210
1) A2 - =S =g
60,0003 x4 =47 11,280
1AE X =% 400,000& =14 400
= 160
Al 72
- 168
202 04t 400 400 0
= 160
Al 72
- 168
01 =2WAHI 400 400 0
NMEXNSES 400,000& =14 400
= 160
Al 72
- 168
=3 =R 392,434 0 392,434
= 238,776
Al 61,463
- 92,195
101 ol 24H| 333,657 0 333,657
= 200,195
Al 53,385
- 80,077
04 JIZtMIZ2 2R ESE 333,657 0 333,657
N33 =2 333,657,000& =14 333,657
= 200,195
Al 53,385
- 80,077
201 dEt23| 43,927 0 43,927
= 26,071
Al 7,142
- 10,714
01 At=2teltl 43,927 0 43,927
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FA: FETAL
g g Mol g Al

CHol: AFRITHOH Ol 2 (e e
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F K Ol AF o8 Blusz
1)BZ £Jt0I| SUZH 43,927,0002 +1 43,927
2 26,071
Al 7,142
2 10,714
202 0fH 14,850 0 14,850
2 12,510
Al 936
3 1,404
01 =Uothl 14,850 0 14,850
22 £3t310| ot 14,850, 00081 » 11 14,850
= 12,510
Al 936
3 1,404
BHSAAL (TEEAID) 849,980 901,437 A51,457
OIHP A (EEZAID) 701,500 767,037 65,537
e BEEET] 4,200 4,200 0
203 YR FAH] 4,200 4,200 0
04 RASLLREA| 4,200 4,200 0
NENSSLDSTY| (B8 259)
350,000 * 122 4,200
TA=T 22l Q1Y 697,300 762,837 165,537
101 Q124H| 697,300 762,837 165,537
03 RI|HAZ2AE S 697,300 762,837 765,537
10123 1,330,0002 152 « 12 239,400
1)4012
(239,400, 0002 +58, 320, 000! )*1/ 12+400% 99,240
1)ag 228,314
AWEEEES=
7,465%1%1.5x20 Al 2t+158 » 12 40,311
2)EYIR4 g
7,465%1 1,55 16A1 2t+152 » 12 32,249
)R B EINSY 59,7202 * 158« 152 13,437
2)RYTALY 70,0008 * 158 « 128 12,600
2)ot=mag
(40,0002 172 * 122 )+(20, 0002 34 » 122 16,320
)
2)2EINEZ 27,0002 124 X152 128 58,320
2)A Mg 50,0008 * 152 128 9,000
2) It X 2 bl
(239,400,000 +58,320, 000! )+1/ 12+ 150% 37,215
APUEETHEE A= 443, 1002 +52 x43] 8,862
1)=2l 24| 75,015
2)S 4l 10,0002 152 * 128 18,000
2) 0t 10,0002 152 * 122 19,800
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SN ZECAID
M HH2AFGUI(FETAIDL)
R QIHAH|(EETAIL) (ctel: &
S E O (EH) - MBAIY - B Of o S Hl R =2
Ol &
2)YE SOt
(239,400,000 458,320,000 ) *1/12%75%*2 37,215
3
DEEPNERL ] 9,750
2)et &g 50,0003 x2F +12& 1,200
2)ME s 20,0003 15 x23| 600
2)Il=l 190, 000& 15 »23| 5,700
)N AAE S HAH| 150,000 15 *13| 2,250
niaeg3a 45,581
2)=0HZ2 23 641,969, 000& *4.5% 28,889
QNNNMEE R 641,969, 000& *2.6% 16,692
(ZFEAID 148,480 134,400 14,080
i 148,480 134,400 14,080
282 Z | 58,480 51,600 6,880
01 AbR2t2lH| 54,880 49,200 5,680
Nl MR8 20,0003 »22H *43| *80% 1,408
NIE AIRE 30,0003 223 *4 3| *80% 2,112
NAFYEHHIRX glED15, S AD12)
400,000& +7CH »43| x80% 8,960
nNs234tl 7,000 x25F #2004 x 123 42,000
NEAMFLHI 50,0003 x4 & 23| 400
232 ZH| 3,600 2,400 1,200
Nases ¢ 300,000& =12& 3,600
(021 90,000 82,800 7,200
=LY 90,000 82,800 7,200
NEZ0 20,0003 x25F x 1524 x12& 90,000
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A It2Z 20
g 2= ZHl

ool B0 U ¥ A (25l &2
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2

bk 1,129,713 1,173,265 43,552

z02 HY 137,071 74,655 A37,584
ZDS Y 2L A 137,071 74,655 A37,584
202 TN HE L F| 137,071 174,655 ~37,584
201 LByl 32,791 35,435 A2,644
01 Attt 21,316 27,085 A5,719
PEENET TSR 6,120
2)|2 70,0002 6% 1231 5,040
2)E 1t 30,0002 +62 63| 1,080
NEESHE (AR, 2EE)
3,000,0002! +14 3,000
EHZDSHY A2E 7 200,008 122 2,400
NZDSCE L BN Fo=
140,000 +8% *15] 1,120
NEHZNE SEos 2yl
L0002 *841 482 122 5,376
)9 ZNS AYH AT M
1,2002 %2, 5000H 3,000
1)Se BNS 50 AF MA
300,0002 14! 300
02 B2 11,475 8,400 3,075
2223 % MAl 11,475
2)0lS TSR3 200,0002 128 2,400
2)SII2ER2 1, 75021 %4,50021 7,875
BN SHBUANAY SAARE (UPC)
100,000 %122 1,200
202 04t 7,680 12,480 A4,800
01 2Uioibl 7,680 12,480 A4,800
N2 SEo oibl(2UH0iI)
10,0002 +8 % +82 # 122 7,680
203 YRFAY| 1,600 1,600 0
03 AlZ =R =Y 1,600 1,600 0
)ZDS &4 AIMETY 1,600,000 1,600
307 BI2HOI 70,000 117,264 A4T7,264
05 PI2teIEr2 70,000 117,264 ~47,264
DEEESnER-BI=E1
20,0002 %1, 75074 +23] 70,000
401 AlAHIL 20| 25,000 0 25,000
01 Al&H] 25,000 0 25,000
2y 2N LYW DY L 24
25,0002 *1,0007H 2 25,000
ZZeX B2AMH =2 130,813 138,513 AT,700
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SH: 2RI
Ha: ZTEI BeAMH =
ool ZBEX e (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
228X 22 116,533 125,933 A9,400
Z2EN HHIA YL BRAME 89,550 99,550 10,000
201 Yer2g| 56,750 56,750 0
01 At 2ty 56,750 56,750 0
NE2 2 GE=X SE=y
227,000 *250%: X 56,750
203 YREZY| 12,800 12,800 0
03 AlZ =T R =Y 12,800 12,800 0
DEEEEIEIRE S 2,000,00024 *14 2,000
NE2DER Y& 10,800,0002 *14 10,800
401 Al&HIL 20| 20,000 30,000 210,000
01 Al&| 20,000 30,000 10,000
1)AHE QI E X F b 10,000, 0002 * 1 10,000
N228Xel ALl 10,000,0002 1 10,000
ZTEX BRA(HAI) 2L WIS 26,983 26,383 600
201 Yer2g| 10,800 10,200 600
01 Attt 1,800 1,200 600
NDXAN, FEES 2 150,000 * 122 1,800
02 222 9,000 9,000 0
)B2ZR3 % MAl 9,000,000 *114 9,000
303 Ea3 16,183 16, 183 0
01 maZ 16, 183 16, 183 0
T2 5HE(PH) BAZ MRNE 22
323,649, 0002 *5% 16,183
TABY HREX 14,280 12,580 1,700
DoAY AP 14,280 12,580 1,700
201 Ygreg| 11,280 9,580 1,700
01 At 22l 1,600 2,200 600
N2aEls IR BaLL(lR)
70,0002 *4% *43] 1,120
NS4EIE 2 BaLY (2D
30,0002 *4% *43] 480
02 BZ2YH| 9,680 7,380 2,300
2223 ¥ MAl 8,800,000 *114 8,800
NSLUDUY NS BHE
100, 00024 *82 *110% 830
203 HRFAY| 3,000 3,000 0
03 AlZZ=TQ R =AY 3,000 3,000 0
NEAZN AR 3,000,000 *114 3,000
RN 602,020 605,345 A3,325
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SM: JIRZ B
PSEE j}gg:qmt”
o9l 2HAIZE FH (S &)
- MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 BlusZ
sYAEE I 592,020 591,340 680
29 CH Y CANIS Y 592,020 591,340 680
201 Yereg| 13,020 12,340 680
01 AtR22lt] 10,020 9,840 180
NeFEs S2ZAH 7,0008*102 9% «122 7,560
N5 M= 140, 00024 9% * 18] 1,260
EZES O L YREX 22F 2
10,0002 * 1224 1,200
02 2=l 3,000 2,500 500
NZZ23 2 HAl 3,000,0002! 11 3,000
202 01t 21,600 21,600 0
01 =UHotHl 21,600 21,600 0
Ne® 2 CANIE BHY, LSS S
20,0009 *9% 102 * 12 21,600
203 R EY| 6,000 6,000 0
03 AlBZEZ I @EA| 6,000 6,000 0
)2Y CHO% YLEX 6,000,000« 6,000
307 12+0I & 8,400 8,400 0
05 QI2t9IEr2 8,400 8,400 0
DEXSSH (AT S) 270,00024 *20CH 5,400
XS4 S (ZIY S)
3,000,000 144 3,000
401 AIEHIL LT 10,000 10,000 0
01 Al&H| 10,000 10,000 0
NEE SXAL &3 5,000, 0002 11 5,000
NEHALS b 5,000, 0002 17§ £ 5,000
402 SI2FXHEOIF 533,000 533,000 0
02 CI2HCHEAFEIHI 533,000 533,000 0
NEYC-SY LINY U L AS2e
533,000,0002! * 14 533,000
ST HANLS B 10,000 14,005 ~4,005
ST HANLS B 10,000 14,005 ~4,005
401 AlEHIL L] 10,000 10,000 0
01 Al&Hl 10,000 10,000 0
NS4 GANLS 0/FY|
2,000,000 *57 £ 10,000
WEETIGEER) 39,000 5,000 34,000
EESIE NS 39,000 5,000 34,000
SO NFHAIL 9IS 29 39,000 5,000 34,000
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D It2Z 20
S MRESOIR23 A
D UWEHA RIS

S E(B) - NRAY - BAS Aro e 2
SIHBNHES 39,000 5,000 34,000
02 SAt- SEHINEE=Z 39,000 5,000 34,000
N8 XNEAHA 21 29
39,000,000& 14 39,000
& HI(Ot23 21 220,809 249,752 A28,943
HI(Ot=2 3 2 0t) 51,369 49,772 1,597
2 22| 7,500 7,500 0
HE =& 7,500 7,500 0
J22I PR 3,300 3,300 0
NEZUNE= 29 3,300,000& 14 3,300
04 EASIHFFEHI 4,200 4,200 0
NEMSILIEEH(Z2 28Y)
350,000& x12& 4,200
Ch=S R ol H| 43,869 42,272 1,597
jelal=] 43,869 42,272 1,597
03 RIAHAZZHE > 43,869 42,272 1,597
Nz 1,330,000 *1H 123 15,960
Nao=
(15,960,000 +2,916,000& )*1/12%400% 6,292
N=¢ 13,650
2)NMZt2 2
7,465% x 1,520 Al 2+ 1B« 12 2,688
)52y
7,465% x1.5%16A| 2+ 1H + 12 2,150
Q)RS HF MY 59,7203 x1E x15¢ 896
Q)X EHAY 70,0003 x1E 122 840
2) 5= 100,000& x1H «12& 1,200
2)2 I3 27,000 x93 x1H«12& 2,916
) Mg 50,0003 x18+12& 600
2) It AIXI &8I
(15,960,000 42,916,000 )*1/12%150% 2,360
BRI 4,880
2)3 4l 100,000 x 18 »12& 1,200
2)0d 8l 110,000& 18 » 123 1,320
2)YE SOt
(15,960,000 +2,916,000& ) *1/12x75%*23] 2,360
IIELXI 2 E Yl 190
)P H A S AXY| 150,000 *13]x1H 150
)M tHsl 20,0003 23| x1H 40
niaega 2,897
2)=elAZed 2 40,782,000 *4.5% 1,836
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SA Jt2Z 2t
M HHP2IHHI(Ot=2
Erel: iz (Ol 2 cro @ el
I:I}\_I X ZH C|—O|(;| j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ =2}
QNTHEEZ 40,782,000& *2.6% 1,061
|2l (Ot23 20 169,440 199,980 230,540
Jl=3| 169,440 199,980 230,540
201 et 65,040 73,980 A 8,940
01 AFR 22| 60,400 69,340 28,940
Nl A2 20,0003 25 43| *80% 1,600
Nl M2 30,0003 »25H 43| *80% 2,400
NEZTHHFXE (ZRIEHII6,=AI)
400,000& »7CH 43| x80% 8,960
nNs2=4 7,000 x28F «20 4! x 12& 47,040
NEMTY 50,0003 x4 & x23] 400
02 2224l 4,640 4,640 0
Na3e23 4,640,000& =14 4,640
202 O4dl 104,400 126,000 A 21,600
01 =LA bl 104,400 126,000 A21,600
1NEZ 0 20,0003 x29H x 152 «12& 104,400
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dM: Tz oHZet &5 3|
&@: S22 (ctel: &
SN HH G (EH) - MBAY - BYS o e s
CALn 9,811,586 12,544,349 A2,732,763
T2 olZet =5 Fh| 9,294,756 12,038,679 A2,743,923
T=ZIE 2,585,000 4,088,800 A 1,508,800
MEES 375265 T 2IE (EXEA) 500,000 400,000 100,000
401 A &HIYL 2048 500,000 400,000 100,000
01 Al&H| 500,000 400,000 100,000
1) 24l 500,000,000& 14! 500,000
TEZTWFH E20H4 100,000 220,000 A 120,000
401 AIEHIZ 2 100,000 220,000 A 120,000
01 Al&t| 100,000 220,000 2 120,000
124l 100,000, 000& *14] 100,000
RR28 HE~118-142H( SR OBOIER Y ) =2 Y 70,000 360,000 A 290,000
o
401 A &HIYL 2008 70,000 360,000 A290,000
01 Al&H| 70,000 360,000 A290,000
1) 24l 70,000,000& =14 70,000
SAAHEANE(ZEZ2)RX 22 1,540,000 2,500,000 960,000
401 A &HIL 204 1,540,000 2,500,000 A960,000
01 Al&t| 1,535,000 2,495,000 2960,000
NO=& 7 24| 1,040,000, 0002 * 14 1,040,000
NASHAEX BAH 495,000, 0003 * 14 495,000
03 Al =20HY| 5,000 5,000 0
DECE = 5,000, 000& 14 5,000
CEIHE & II=NEaH 29 10,000 8,800 1,200
201 LBt 3| 4,000 2,800 1,200
01 AtS 22l 4,000 2,800 1,200
szt asded 100,000& 10 43| 4,000
203 HRF&Hl 6,000 6,000 0
03 AIBMZF=XNHRFEH| 6,000 6,000 0
NEZNHE g2 & 2URAF2 6,000,000 «1 6,000
DHES 43-46H X (SUOIIDIEL ) =2 HE 365,000 0 365,000
401 A &HIL 2048 365,000 0 365,000
01 Al&HI 365,000 0 365,000
1) 24l 300,000, 000& * 14 300,000
1) S At 65,000,000& =14 65,000
S22 ¥ ANE2 FA2e 4,554,500 5,874,055 A 1,319,555
2 E2A40 B 2,599,500 2,566,325 33,175
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dM: &=z QT 5. F|
el S23H € AME=S 72 (et =3
SA-EFH - SA(SAH) - MREAY - BES Off &F OH gl,liafg BlusZ
203 LR =& 3,000 2,300 700
03 A=A HSZ=LAH| 3,000 2,300 700
NEZAMES RFZ 3,000,000 x1& 3,000
206 M=l 66,500 64,025 2,475
01 M=l 66,500 64,025 2,475
12eH 21,000 x200m’ 4,200
NEXZZAA 26,0002 1504 3,900
Nz AA 12,0003 2004 2,400
N&20tA 2 10,000& *5,000= 50,000
DAIHE RIS 1,500,000& 45 6,000
401 AIEHIZL 20U 2,530,000 2,500,000 30,000
01 Al£Hl 2,530,000 2,500,000 30,000
1) 3 Att] 2,530,000,000& x1& 2,530,000
2l S2AEE E 810,000 810,000 0
201 et 10,000 10,000 0
02 33234l 10,000 10,000 0
NEIANEESH(BEHLER)
10,000,000& x 1 10,000
401 AEHIZ R0 800,000 800,000 0
01 Al£Hl 800,000 800,000 0
1) 3 At 800,000,000& 1 800,000
U SHEFH 300,000 300,000 0
401 AIEHIZ 208 300,000 300,000 0
01 A&l 300,000 300,000 0
DENE:] 300,000,000& 14! 300,000
ANEUZ AEHel 2dlas =4 300,000 460,000 160,000
401 AIEHIZ 208 300,000 460,000 A 160,000
01 Al&HI 300,000 460,000 160,000
1) 3 Att] 300,000,000& 14! 300,000
CZAE Eolitle SHEE Jtg 25,000 15,000 10,000
307 QI12told 25,000 15,000 10,000
06 283 25,000 15,000 10,000
NEHEEE 25,000,000 14 25,000
CE2ANEE FLEEEY 70,000 70,000 0
401 AIEHIZL 20 70,000 70,000 0
01 Al£Hl 70,000 70,000 0
NAE2 3LEZ 94 70,000, 0003 14 70,000
DHgEA ¢ Nss 450,000 0 450,000
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SN CR2HALY
M T2 0T = Hyl
oelr TREH L AEE X2 EERE
_ _ _ HAc =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
401 AlEHIL S THYI 450,000 0 450,000
01 Al&H 450,000 0 450,000
1) 2 AHH 450,000, 000! 14! 450,000
HEH® =& 206,325 203,625 2,700
I o) = 206,325 203,625 2,700
201 ety 44,225 41,525 2,700
01 Al 22l 24,000 21,300 2,700
DHAEMI 2 SSSHE 2,200,000 *14! 2,200
1Ml & &= 100, 000! *26% 2,600
NASASA(0F2, §Y F2A2011E 22)
60, 000! *2 * 1602 19,200
02 ZZ29| 20,225 20,225 0
DHAXH(Hesel L ARE20)
4,000,0002 *3CH* 1 12,000
X2 1,50321 *3Z+304 *600 £ 8,225
206 T2l 82,100 82,100 0
01 X2l 82,100 82,100 0
1) 512+ &5 (25kg) 5,0002! %15, 000 CH 75,000
122 21,000 «100m 2,100
1)JIEIHI& 2 Kb 5,000,0002 * 14! 5,000
307 2I2H0| A 80,000 80,000 0
05 QI+ Era 80,000 80,000 0
1) Hl & 012+ &t 80,000,000 *1 80,000
AL ML L 2X 1,948,931 1,872,199 76,732
2 RS HH L R 972,721 969,108 3,613
201 et Y| 535,240 633,014 AQ7,774
01 AlR22ll 1,175 0 1,175
NEYI2X Zei= 2 140,0002! 52 700
NEY22X OHESBE 20§ 50,0002 *1EH+5 250
L2 29 20 45,0002 * 1 5% 225
02 Zz29| 534,065 633,014 08,949
NSRS
(4,50021+10n*302 *61.82 ) *1,989kW*106%+110 512,965
4t 122 *80%
NIZE DAY L oISHSY (B2, A
2E 2 282) 10,000,00024 % 14! x 1 10,000
NIIRS DA L 0IBX S
1,6009 *141%2, 400 £ 3,840
NEMR2 11,0002 *110%+503] & * 122 7,260
206 M2l 187,481 86,004 101,387
01 X2l 187,481 86,004 101,387
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NHEE2H0 =T (200W), 1
29,4002 *110%+ 1,426 S %0. 27 12,452
OHESCH0IEHZ(3/0W), VeSS
30,8002 110%*2, 2755 +0. 27 20,811
DHES2H0ISHEI(TON), 1S 2
22,6002 x110%*2, 1225 +0. 1 5,276
HEE2H0IS A D (200N), 1E S
48,000 «110%* 1,426 S +0. 1 7,530
HESCHOIEHAD|(3/50W), IS8
49,2002 *110%+2, 2755 %0. 1 12,313
NS LA 93,483
2)848 339,500 %110%*3,344=%0.03 37,465
2)SII7HNe 339,500 «110%* 1505 56,018
DEr =M 32,0002 *110%*3,344= 0. 1 11,771
WI2sedges
3,500,0002 *110%*23324 0. 01 8,971
401 Al&HI LS 250,000 250,000 0
01 Al&H] 250,000 250,000 0
1) 2 Al 250,000, 0002 * 1A 250,000
2 2otS HHl ¥ 8X 880,239 820,730 59,509
201 LEt2HH| 275,628 231,783 43,845
02 2Z24H| 275,628 231,783 43,845
NESHIIES
26.902 %692, 555W* 106%+ 110%* 12 260,668
NECHSEI|HEEA 17,0002 *800S * 110% 14,960
206 K24l 204,611 188,947 15,664
01 M24I 204,611 188,947 15,664
10 S 2t0l =24 = (70W)
23,6002 x110%+7 , 2635 +0. 27%90% 45,818
NHES2A0IEHI(200W), DEE
29,4002 *110%*3225 *0. 27*90% 2,531
1N EE 20| EHE I (70W)
22,6002 110%*7, 263 *0. 1x90% 16,251
HEE2H0IS A D[ (2000), DE S
48,0002 *110%*3225 *0 . 1%90% 1,531
1)COMB I | OFX I (70W)
139, 2002 *110%*1,200S *0. 27*90% 44,650
NASEEIIES
46,5002 *110%*7 , 7855 *0. 2%90% 71,677
1)GPSE 2 J| W Al
68,0002 *110%* 1,000 *0. 2x90% 13,464
NEUEIIRA
33,3002 *110%*8, 7855 *0. 03*90% 8,689
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SN

c=2
M T2 omgl =& Ay
xo 2

el A& A =Xl EEEEE]
- _ _ PSEN=
SM-BH-H2A(FAH) - MIRAY - BES Ol & oK 'oﬂ/'\_FOH HusZ
401 AlEHIZL 204 400,000 400,000 0
01 Al&HI 400,000 400,000 0
1) 3 Attl 400,000,000& *14] 400,000
29 2H 248 A2 31,104 41,400 210,296
201 223 16,104 26,400 210,296
02 =323l 16,104 26,400 A 10,296
N&EINLS 600,000 *110%x 128 7,920
e = 600,000 *110%*8& 5,280
NEIIEH] otd 2| E 220,000 *110%* 12 2,904
401 AlEHIZL 20 15,000 15,000 0
01 Al&HI 15,000 15,000 0
1N&9| 15,000,000& * 14 15,000
S| A2 50,235 40,961 9,274
201 23| 15,235 15,961 NT26
02 =323l 15,235 15,961 ANT26
N&EIILS 130, 0003 *5H 2 x110%* 122 8,580
NEJNEHE =42 70,0003 *11CH*110% 847
NS BESHEE 40,0002 *11CH*110%* 12 5,808
401 AIEHIZ 20b] 35,000 25,000 10,000
01 Al&HI 35,000 25,000 10,000
1N&9| 35,000,000 * 14 35,000
Not2XE JIMAIEE EH & |X 14,632 0 14,632
201 LEtE3F| 14,632 0 14,632
02 23234l 14,632 0 14,632
Nsxa28Ie23 3,110
2)Jl2e= 5,280 *35kW+106%*110%*12& 2,586
2222 93.5& *400kwh* 106% 110%* 122 524
NZ=Ys M3
(4,500 +15A1 2+ 30 61,82 ) x 14kWx106%+*110 6,330
%x 122
NHIAZEI] STRH(ESR)
1,600 x1CH*10 £ *»12& 192
Ne+8 &4 1,000,000& * 1 &~ 1,000
1)AIE &Hl | Xld] 4,000
)" A4gEI] L =8 HY|
2,000,000 * 14 2,000
2)x==8Z FH| 500, 000& *4CH 2,000
HY2AHU(E2A 41 516,830 505,670 11,160
QlESAY(=2H A 1) 335,470 323,690 11,780
Mg 23| 4,260 4,260 0
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SN ERALD
Mo HHSYPH(T2ALD)
Sl QAR (TR HE D) (29 @e)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
203 Y2 FAY| 4,260 4,260 0
04 2ASYLRETY] 4,260 4,260 0
NEASSYRETH (FL 31Y)
355,0002 12 4,260
SRS QA 331,210 319,430 11,780
101 o121 331,210 319,430 11,780
03 2I|HAZ2AE 4 331,210 319,430 11,780
17123 1,330,000 %72 * 128 111,720
1403
(111,720,0002+29,484,0008! ) 1/ 12+400% 47,068
e 112,194
AVEELES=
7,70421 51,5420\ 2H572 12 19,415
AELISEESS,
7,704 %15+ 16A1 2472 128 15,532
)RS EINSY 61,6308 %72 *152 6,472
)Y ~Y 70,0008 572 * 128 5,880
2) =AY 9,360
3) 2 Xt 40,0002 %72 *128 3,360
OEPENE 20,0009 x258 128 6,000
DEEPIIG=! 27,0002 131 Xp+7% 12 29,484
) Mg 50,0002 7% » 122 4,200
2) It X 2 bl
(111,720,00024+29,484, 0008 ) 1/12%150% 7,651
2)HoI & S| 50,0008 572 * 128 4,200
DEEEE] 35,291
2) 34| 10,0002 7% » 128 8,400
2) 0t 10,0002 72 » 128 9,240
2) % & &I
(111,720,00021429, 484,000 ) 1/ 12+75%+2 17,651
3l
1)JIEH R Z bl 3,190
2)EtE g 50,0008 12 * 128 600
2)HE 3l 20,0008 +7% +23] 280
2) Il =H| 180,000 7% 114 1,260
2)NQOIBEE HWH 150,000 7Y 11 1,050
DRI = 21,747
AELISERI=E 306,273, 0002 »4.5% 13,783
MRS Z 306,273, 0002 =2. 6% 7,964
2B (E2ALD) 181,360 181,980 A620
1| 181,360 181,980 £620
201 Y] 69,760 70,380 A620
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SN

C2A40
Y HH2YAH(=22441)
o J2dul(E2HE ) (ctel: &
DA HB L CP(E) - HRAY - BAS 01l &k o Soe s
01 AFR22lH| 67,360 66,180 1,180
NJE MREEHI 20,0003 29 43| *80% 1,856
NI MRES0IR 30,0003 29 43| *80% 2,784
NP ZHISXIHI(Z2IE D6, S ADI2)
400,000& +8CH x43| x80% 10,240
nNs224tl 7,000 *31H x204! x 123 52,080
NEAM2YI 50,0003 x4 &l x23] 400
02 22234l 2,400 4,200 21,800
N3=2=2 2 HMA 200,000& «12& 2,400
202 (4| 111,600 111,600 0
01 =Wl 111,600 111,600 0
NEZHYI 20,0003 31815 <128 111,600
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A X==2 T
Z#: X - ot 22

ol BHE AlEE el (el &2
i _ . rSJEL== -
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
Xl == TH 1t 5,241,662 9,048,493 A 3,806,831
Xl - ot 2tel 4,037,568 7,383,338 A3,345,770
ofd AlE= 2l 511,650 3,536,400 A 3,024,750
ofd AlIE= &l 311,650 191,400 120,250
201 B3| 8,900 8,900 0
01 AtE222lHl 7,400 7,400 0
aldB ADERY) 3,800,000 14 3,800
N EFY 2AIIS YRB
600, 000& »1CH+6 L 3,600
02 2zl 1,500 1,500 0
Na32=a2 2 AAl 1,500,000& 1 1,500
203 HRF&Hl 2,750 2,500 250
03 AIBMZFXNHRFEH| 2,750 2,500 250
NotEAlE gRFXY 2,750,000& 14 2,750
401 A &HIL 2048 300,000 180,000 120,000
01 Al&H| 300,000 180,000 120,000
1)3 & AIE SHHIAIR (5)H5HR)
300,000,000& =1 300,000
OFFA Ze|xA & MY &X 200,000 0 200,000
401 AIZBIL 2] 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OIrEE BRIEA Y MUY L
200,000, 000& » 14 200,000
sz sxze 2,411,318 2,531,318 120,000
ot=% &4 813,100 893,100 A80,000
201 Let2d| 13,100 13,100 0
02 2223H| 13,100 13,100 0
Nseeyg olsdsea 600,000& 14 600
NIlSseYd ~2BEH0 BHE
500,000 *1CH+14A 500
Nilser2yg A=l 3,000,000& =14 3,000
1)IISEe Y AISEH S|
9,000,000 14 9,000
401 A EHIZL 2048 800,000 800,000 0
01 Al&HI 795,000 795,000 0
N&UStEE ZE3A 795,000,000& =14 795,000
03 AIZ=R0bl 5,000 5,000 0
1) %1514 ZAFAlE 2T b 5,000,000 14 5,000
THE Xl grtl 200,000 240,000 A 40,000
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A X2 TH
Y X -5t 2el
&2l ot ®X2a (e E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
308 XX HHSOIA 200,000 240,000 240,000
05 NXIEM2EE= 200,000 240,000 A40,000
NEHEM2 grey] 200,000,000& =1 200,000
8220 =4 150,000 150,000 0
401 A &HIL 2048 150,000 150,000 0
01 Al&H| 150,000 150,000 0
N2 SE0 THESA 150,000, 000& 1 150,000
ot A= E= 1,248,218 1,248,218 0
203 R F&d| 2,500 2,500 0
03 AEFXHSFAY| 2,500 2,500 0
1ot A REX 2,500,000& 14 2,500
206 =Yl 45,718 45,718 0
01 =4l 45,718 45,718 0
Not=& AlEE B0 2 45,718
2) ot =2+ (D=250mm ) 25,9803 302 780
2) ok 2=2+(0=300mm ) 33,3703 *30&2 1,002
2) ot =2 (D=450mm) 41,4203 x202 829
2)t==2(D=600mm) 66,6503 x202 1,333
2)PVCGt==2+ (D=200mm) 36,000& 502 1,800
2)8l880] =2 2 2E(FH0.4+0.5m)
27,000& 200 5,400
2)8l=280l 2 L A (FH0.4+1.0m)
48,0003 »100= 4,800
D)MEELY U B (D=648m)
110,000& *50H 5,500
2)MEER W 2 & (D=766m)
180, 000& *207H 3,600
2INUE(=5E) 33,0003 50 £ 1,650
2)AHE 2, 7473 x500L 1,374
2)H A 230& *2,000Z & 460
2)835t= 10,500& 5002 5,250
2)StZ A 16,000& »100m’ 1,600
2) X+ (#467) 14,000& = 100m* 1,400
PPSEN=I=E=IDN 198,000 *30m 5,940
2)JIEt B=EXM & 28|
3,000,000& * 14 3,000
401 A &HIL 2048 1,200,000 1,200,000 0
01 Al&H| 1,200,000 1,200,000 0
N&UW St=AIE2 B3 A
1,200,000,000& 14 1,200,000
SESEZE 2| 1,114,600 1,315,620 A 201,020
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EAREPNESS= O\ W)y
M X - ok 2el
CHel: USEHIE 2 (S &
_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
gLy 29 714,600 715,620 A 1,020
201 LEH2HH| 710,520 710,520 0
01 At 2t2ibl 30,520 30,520 0
NA2EF LI 20,000,000 =1 20,000
N MNY= 120,000& «21H 2,520
NAEJIEH § R4 228 P
8,000,000& =14 8,000
02 3323l 680,000 680,000 0
N2=223 2 MA 540,000,000& 1 540,000
1) &I A At 70,000, 000& 14 70,000
1)=& 5,000,000& x1& 5,000
NAIE &l 2 XY 65,000,000& 14 65,000
301 et d=z 4,080 5,100 A 1,020
12 JIet24 =3 4,080 5,100 1,020
D=ZALSEu 22 NHAHI 24
30,0003 *x34& 42| 4,080
SSEZZE ZH 200,000 200,000 0
401 AIEHIZ 208 200,000 200,000 0
01 Al&HI 200,000 200,000 0
NUSEZE L =S2FHIAMSOIH,HI,ES)
200,000,000 * 14! 200,000
g8 & =222 =& 100,000 100,000 0
401 AlEHIZ R0 100,000 100,000 0
01 A&l 100,000 100,000 0
NS Y 2222 FLIAM
100,000, 000% * 14 100,000
==d2EE 89 100,000 0 100,000
401 AEHIZ R0 100,000 0 100,000
01 Al£Hl 100,000 0 100,000
NASEZY =FAE2(12Ha) 3LEZ
100,000, 000& =14 100,000
Kol & T Ol 127,152 652,905 A525,753
XH ol Ab& CHHI 54,281 563,121 508,840
=2 HHI M H = 26,600 27,800 21,200
201 Bt 21,000 21,000 0
01 AtR22iHl 20,000 20,000 0
[DE= PN R 10,000,000& x 1 10,000
DSYHT U =22 ME 20
10,000, 000& »1& 10,000
02 3323l 1,000 1,000 0
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gAM: X XH 2t
2 THoH & THE ol
el Tterd 2tel (&9 HM
SA - HE . CR(B]H) - NBEAIY - HA2 Al OH &EIE Ho=2t
- co=m s IR ° - (= S = =5 0:”/|l|,% Lsa
ANHMFXH I =AY 2,205 2,268 AB3
ni-aegds g2 7,000& 218 x153] 2,205
dotE A=z 840 1,800 A 960
12 JIEtE 43 840 1,800 A 960
et &2 Xt ab 20,000 6«73 840
Mettisess 3,056 13,896 A 10,840
201 LBt A Y| 3,056 13,056 A 10,000
01 AtE222|H] 756 2,156 A 1,400
1) M eHCHEl 22 =4 Sl
7,000 x108% 756
AL ZHI 2,300 10,900 A8,600
DI 22 =d 2,300
)89 M 100, 0002 =54 500
2)2d BB 100& x 15,000 1,500
2INREE( 300,000& *14] 300
O Z32S 59,170 61,570 A2,400
T M NF 24,000 24,000 0
B2 A 24,000 24,000 0
01 AtE222|Hl 24,000 24,000 0
NEA=E 100,000 & * 1350 W =1 Al 2¢ 13,500
NuEE WMHE 300& *35,000% 10,500
OtEME O & AL 15,970 18,970 23,000
201 LBt 12,750 12,750 0
01 AR 22| 12,750 12,750 0
N 2ses E22 M 150& *45, 0005 6,750
NP0 HSAI RSHA HE
5,000& x700% 3,500
DAt E 2 A8 X dxE
450,000& »2CH 23] 1,800
Ntz 28 324
70,0003 x10¥ =13l 700
203 HRF&H| 3,220 3,220 0
03 AEFXHSFAH| 3,220 3,220 0
1)JIEFZ I 5,000 140 700
NetdE oY R FEA 7,000% *30E x12& 2,520
tE =X AHIA 19,200 18,600 600
2 Bt2 ZH| 19,200 18,600 600
01 AFR 22| 19,200 18,600 600
Nt S XA AANY 48,0003 4000+ +* 19,200
MEES(XI=2Mt) 354,157 278,597 75,560
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S XA 2T D
M YRES (XL

Sl S HHKS (25 &2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES 0ff &+ o4 il i~ o Hnz2
TEP L= 354, 157 278,597 75,560
Mg2e|dls 853 354,157 278,597 75,560
02 JISEE=2 354,157 278,597 75,560
01 JIZHES 354, 157 278,597 75,560
D 22IZHES(3UB RS A 1/100)
106.,246,813,3602 /3/100 354, 157
#H2 YA (XL D) 722,785 733,653 A10,868
ozl 2 ot (X1 2D 484,865 470,013 14,852
e REEETE 4,860 5,160 A300
203 ZREAH| 4,860 5,160 A300
04 ENSYAL Y| 4,860 5,160 A300
NENSIYLET (Y 1Y)
405,0002! * 128 4,860
SHEAAE U StEBRIR 22| 480,005 464,853 15, 162
101 2124l 480,005 464,853 15, 162
03 RIHA22RE 4 480,005 464,853 15, 152
o1z 1,330,00021 10 * 128 159,600
14012
(159,600, 00021 +45,360, 00021 )1/ 12+400% 68,320
1)4g 165,428
ANEIIEEE
704211552041 20+ 102 %122 27,735
AETEEESS
7,70420%1 5+16 A1 2t+102 * 122 22,188
)N RBEINAY 61,6302 %102 * 152 9,245
)R TS 70,0002 %10 * 128 8,400
2)Jt=4g 20,0002 #6225 * 128 14,880
2)2LIMAZ 27,0008 * 14 X+ 102+ 122 45,360
2) Mg 50,0002 %10 * 122 6,000
2) I X 2 bl
(159,600,000 +45,360, 00021 )1/ 12 150% 25,620
2)CHEI S| 50,0002 %108 * 122 6,000
BECIEF 50,820
RN 100,000 * 102 * 122 12,000
2) 01t 110,000 %102 122 13,200
2) 2= £l
(159,600, 00024+45,360,000% )+ 1/ 12+75%+2 25,620
5]
1)J1EHXI 2 Z bl 4,300
2)p g 50,0002 1122 600
2)x2 h 3l 20,0002 10 *23] 400
2)Il= b 180,000 * 102 +1 1,800
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SR RIS
A HAH2AAH(X=LTH)
©el: QIER A (X2t (&9 :&d)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
)R YA AE Z&H  150,0002 %10 13 1,500
(DEIREE=g= 31,537
2)=2UAHZRES 444,168,000 *4. 5% 19,988
A EEE 444,168,000 *2.6% 11,549
Jl2Z8I (X2 THat) 237,920 263,640 N25,720
JI=238l 237,920 263,640 A25,720
201 LEt=EH| 86,720 92,040 25,320
01 Ab=2telH 84,720 90,040 A5,320
1)J12 AL EFH 20,0003 x22H 42| x80% 1,408
N2 AREE0IF 30,000 x22H 43| x80% 2,112
NEZEHHI SR (ZRIEII7,2AI1)
400,000 *8LH 42! «80% 10,240
NE=Z2=4tl 7,000 42 »2041 « 123 70,560
NEM7HI 50,0003 =48 »23 400
02 3323l 2,000 2,000 0
Na2223 2 MA 2,000,000 14 2,000
202 OdH 151,200 165,600 214,400
01 =LHOYI 151,200 165,600 A14,400
NE&E0LI 20,0003 »42F 152 »12& 151,200
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SN DESED
HH: YNE DEHY 75
ool DEANMS HE U Hy (Erol: @2

_ _ SIEN
SN CR(EH) - NRAY - BES 01l &k o il i~ o {imE=Eh
E=g=:F SNl 936, 862 839,626 97,236
WA WSEE A= 787,842 718,586 69,256
WEANEE &5 & FHl 627,580 641,000 213,420
= ANWSHS 302,000 301,000 1,000
203 HRF&AH| 1,000 1,000 0
03 AMHEFIHSFAH| 1,000 1,000 0
N=ARSAY HRFZ 1,000,000& 1 1,000

401 A EHIL 204 301,000 300,000 1,000

01 Al&HI 300,000 300,000 0
N=AlD SN AL 300,000,000& =14 300,000

03 AIZR0iHl 1,000 0 1,000
NF0IEH 2= ol 20,0003 10 *53] 1,000

WEXHTAIL(ZEHAM) BH 151,200 151,200 0
203 HRF&AH| 1,200 1,200 0
03 AIM=XHSL=LH| 1,200 1,200 0

NLSHEAIE HRFZ 1,200,000& 1 1,200
401 Al EHIL 204 150,000 150,000 0
01 Al&H| 150,000 150,000 0
NRSHMAIL (ZEE #H AlE)
150,000,000& =1 150,000

AAEA220 &5 .8 & =X 23 55,800 65,000 29,200

201 et 5,800 15,000 29,200

a]] 1,000 15,000 214,000
NRAENFIE A" X2l

1,000,000& 1 1,000
02 3323l 4,800 0 4,800
N&IJIZ 400,000 x12& 4,800
401 AlEHIZ 208 50,000 50,000 0
01 Al&HI 50,000 50,000 0
NDRAENE2T &5 L FHy|
50,000, 000& =14 50,000
Helol2s+9Y AIEdE EH 50,700 50,700 0
203 ¥R =&l 700 700 0
03 AMH=XHRFAH| 700 700 0
NAMFXHR2F T 700,000& 14 700
401 AIEHIZL 20U 50,000 50,000 0
01 AlEHI 50,000 50,000 0
1OE0IES7Y A2 EH
50,000,000& 14 50,000
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DEHE
WS NEHF A=
DEALS 85 2 |

SN EY O (BH) - MRAY - BLS Aol Bl
Ol &k
CER(B#A) HHEXIE F 40,000 40,000
401 AIEHIZ 2] 40,000 40,000
01 Al&HI 40,000 40,000
N2 oHHEXIE J Y| 40,000,000& =14 40,000
HASIHN &Yl 20,000 20,000
401 A &HIL 2048 20,000 20,000
01 Al&HI 20,000 20,000
NHASIHO &bl 20,000,000& =14 20,000
C2EESMNE UWSASHEBRRE 29 3,100 3,100
201 LEt23| 2,100 2,100
01 AtE222|Hl 2,100 2,100
NEZHESSMNE WSASUHHARS 2
70,0003 x5E 63| 2,100
203 €S F&| 1,000 1,000
03 AIMFXH =&Y 1,000 1,000
NEZHSIMNE WSLASUHHARS 2
1,000, 000& x1 1,000
WNEISENMEHAUBAR}S 2 4,780 10,000
201 LBty 3,780 8,000
01 AFR22lH| 3,780 8,000
NISIS2AMAUUAAS 2G4+ 3,780
2)J12 70,0003 7 Z 63| 2,940
2)x= 1t 30,0003 *7Z *43] 840
203 HRF&H| 1,000 2,000
03 AIMFAZRFAH| 1,000 2,000
NUEISHZAMEUHHRARK/S 2
1,000,000& 14 1,000
st 2el 77,862 61,116
X AS I 22 8,930 7,130
201 Let243| 8,930 7,130
01 AtE222|Hl 480 480
NEX NHSX HE 6l0E 4002 %10024+128 480
02 2223l 8,450 6,650
XS IEAl 60,0003 = 1CH»23] 120
NHIFLAME 60,0003 = 1CH =13l 60
NS SRS 100, 0002 * 1 CH »23] 200
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T 42,000
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= 84,000
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T 42,000
307 QIZto|A 168,000 180,000 A 12,000
= 84,000
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- 42,000
05 It E2 168,000 180,000 A 12,000
NHISHOtS H A 22 MHI A ALY
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= 84,000
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A2 MBS XA 2 ALSEN HA 582,195 515,071 67,124
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101 Q14 77,952 80,288 N2,336
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SOl 21 MEBEH XM U ALMEH N (B9 &2
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES O AF K @Egj HwsZ
BEET 52,0002 x4 *1632 33,904
p 16,952
2 16,952
NSNS Z(BEE) 1200008 *42 62 2,880
g 1,440
2 1,440
2)EF 01| 54,0002 *4% 2,216
g 1,108
2 1,108
201 Ygreg| 17,000 12,900 4,100
p 5,100
Al 3,400
2 8,500
01 AFR 22/t 17,000 12,900 4,100
NEABRAAY 29 U 22
6,000,0002 * 1 16,000
g 4,600
Al 3,400
2 8,000
)= A DR 500,0002 x2% +1 1 1,000
g 500
2 500
203 YR FY| 384 384 0
03 AlMZ=ZREFY| 384 384 0
)EABRIAY ARET 3840002 11 384
206 T2 H| 223,200 127,224 95,976
g 63,612
Al 47,988
2 111,600
01 M2l 223,200 127,224 95,976
NYAR U HR0F 25 FAK PY
223,200,000 * 11 223,200
p 63,612
Al 47,988
2 111,600
AMSEYNE 29 31,604 32,288 684
101 o121 17,604 18,288 684
04 JIAH22RSES 17,604 18,288 684
NAMBNSHESE HAA 17,604
2)oI=gy 50,0002 x2 % +27 U +6% 16,200
NSNS Z(ZEE) 117,008 2262 1,404
201 Y2 Y| 14,000 14,000 0
01 AFR 22/t 14,000 14,000 0
NAMSEDENE 29 U 22
14,000,000 %11 14,000
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SN BABEY
HH: HNSAFU(2ARI D)
Sl QIS AH (FABT D) (el &2
SH-EH . C(BH) - NRAY - BES Off &F oA giﬂgﬁ; bRz
HHSY A (2AYI D) 5,310,514 5,297,935 12,579
ol (2AUT D) 5,107,453 5,091,619 15,834
N0 2| 5,107,453 5,091,619 15,834
101 2121t 4,878,053 4,877,539 514
01 = 4,206,462 4,088,967 117,495
NEAL HAST 2,409,455
2)USH(2HAZT)  66,082,0008 1+ 66,082
2)UBHE B J|SH (92Y) 2,179,881
3)52 2,896, 1002 *42 122 139,013
3)62 2,457,200%1 158 « 122 442,296
3)72 2,028, 5002 x44% 122 1,071,048
3)82 1,385,900 *10% * 128 166,308
3)92 973, 90021 +62 122 70,121
3)71573 2,354,8002 12 » 122 28,258
3)71583 1,919,200 +7 122 61,213
3)71592 1,825,400 x4% 122 87,620
3)715103 1,167,000 %1%+ 128 14,004
2)4013(B242)
2,179,881,00021 %1/ 12+90% 163,492
NED2L4S(YEET IISH 928) 488,432
2)52 9,796 %I *B0A| 2442 122 28,213
2)62 8,312 x60A] 24+ 15% * 128 89,770
2)72 7,457 +B0A| 2H+45% * 122 241,607
2)82 6,682 +60AI 2H+ 7% * 122 81,788
2)92 5,9932! x60A] 24+ 10Z * 128 43,150
2)102 5,420 x60A] 24+ 1 122 3,904
DEEES=! 342,002
BIES= 79,200
3)bH 2 Xt 40,0002 *872 122 41,760
ORBIEFTE 20,0002 * 156% * 122 37,440
2)RHABHH| B E 4 46,815
3)58D 59,4002+ 18% *43| 4,277
3)nsetn 443, 10021 +242 4 3] 42,538
2)F2LYINNB (LB EH IS 87Y) 97,200
3)251 01 & 130,000 +212 » 122 32,760
3)2041014 25140/2F 110,002 +24% + 122 31,680
3)155014 20A0/2F 80,0002 *18% +122 17,280
3105014 15012 60,0002 +9% * 122 6,480
3)5L1014 10E0I2F 50,0008 *15% « 122 9,000
2)9lE 2R 12,600
OEIE= 40,0002 *1584 122 7,200
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SN 2ABT D
B #HSAAH (SAUID)
LT IR CERED
SN - B S(3) - HRAY - BAS P e HlmE 2
383 30,0002 * 152 * 12 5,400
2)HSTLRLEY  2,179,881,0002 «4.8%:30% 31,391
2)JIEYRLY(2AH) 4,440
3)53 50,0002 * 124+ 12 600
3)6.72 30,0002 +82 * 12 2,830
3)8.92 20,0008 *42 * 12 960
2)ABYRLS (AR, 25, %2 J|%) 46,284
3T 2043 909,0002! * 12+ 12 10,908
3)YBOI5Z (A B AL Y)
818,0002! * 12§+ 12 9,816
3) AL 70,0008 *42 * 12 3.360
3)2t5 Al 50,0002 *242 * 128 14,400
3)2IZ I (A HRI AL, BRIXIB A
50,0002 * 132 » 128 7,800
NSHSH LG 40,0002 *42 * 12 1,920
AR TERN= 30,0008 #5212 1,800
DFIISBE TAIA BRlag
30,0002 2% » 128 720
D)HALLY(SAAL SR SAK)
36,0002 * 12§+ 12 432
2RUBRW 4 50,0008 %22 * 12 1,200
AEIESENS 500,0002! +32 * 128 18,000
1)3 % Z A 130, 0002 932 128 145,080
RS2 XL (e IISH 02F) 140,640
2)53 140, 0002 42 122 6.720
2)6,72 130, 0002 60 * 122 93,600
2)8~103 20,0002 +28% 122 40,320
DEEESIEIEEISIESREY
2,179,881,0002 *1/12+120% 217,989
DIFHXI R (e, 0SS 928)
2,179,831,0002!/ 12+16. 7%+ 122 364,041
1)2 k2 A H 98,823
243 LT (2R
66,082, 0002 *0.66+1/12+1/30 162 1,939
2)YBHE J|SE g
2,179,881,0002! »1/12¢1/30 162 96884
02 JIEE B4 624,098 743,884 A 119,786
170 2= (7)) 578,801
2)H N 23 365,290
3)7H2 (4%) 56,000, 000% *4% * 114 224,000
3L (29) 53,696, 000% 2 * 114 107,392
3)0r3(19) 33,898, 0002 * 12411 33,898
2)8 el 15.514,0002!*1.0152 15,750
2= 4 g 7,200
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SA BABEY
FE: HHRIZH(2A& D)
Chel: clA2AH|(EHEE )
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
3) b < Xt 40,0003 x7H+12& 3,360
3)&EHI= 20,0003 16E ~12& 3,840
) HEHIBEX S 4,021
)=t 59,4003 »2H x43] 476
) NSEr 443, 1003 »2H »43] 3,545
)=y 86,328
3)2AHOIS) 1,312,000& x»4H <123 62,976
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N &EHI KXY 300,000& x14 300
e L 640 640 0
NEEF SRR 640 640 0
NALAE F2FA 640,000& 14 640
o120l & 3,160 2,565 595
2=l 3,160 2,565 595
DIIELEH T2 A M E X 230,000 x12& 2,760
NARLEESMH 400,000& 14 400
g 2 Al 26,564 21,052 5,512
jeial=] 16,137 16,195 A58
JIZt2=2NHsE= 16,137 16,195 A58
nelsy 50,0003 x1H 27« 11& 14,850
NASHEE2(BEEE) 117,000 1F 112 1,287
22 A 3,737 3,657 80
AR 22l 737 657 80
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|’\_|

12b ket
Ao MHIA HE

tel

t [0t

¥ H

JO}

r

SN F . CR(3) - o . B Aro Bl =2
0l &
NIZHY EHx22 16,830& x5 *43] 337
NEIRALL DI 100,00021 *4 & 400
02 23234l 3,000 3,000 0
N Z&EHI KX b 3,000,000& 1 3,000
307 212t01& 2,440 1,200 1,240
01 A =H=H| 2,440 1,200 1,240
NEAE & LA WS4 120,0003 =128 1,440
Nexote 40,000 254 1,000
405 ItHatH S| 4,250 0 4,250
01 TN =SS HSHI 4,250 0 4,250
nNegield SIaaD) 2,000,000& = 1CH 2,000
NAHsHLEXTEEX 2,000,000 «1CH 2,000
1)HBIS 250,000 = 1CH 250
A e H A 149,387 120,415 28,972
101 el 16,137 16,195 A58
04 JIZtHIZ2E2NEE S 16,137 16,195 A58
neleg 50,0003 x1H+272+112 14,850
NAsSHEEa(B8E 117,000« 1G+11& 1,287
201 LBt 3| 5,850 4,580 1,270
01 AtS 22l 2,850 1,580 1,270
NE=22 A3yl 500,000& =14 500
NARZHAZ WS 50,0003 +7H 350
1)H =~ X2/l 2,000,000& 14 2,000
02 E&E=23H4l 3,000 3,000 0
NAAMEHIS KL 3,000,000& =1 3,000
307 212t01& 121,900 99,200 22,700
01 elg2¥d =l 121,900 99,200 22,700
[BRAR=:] 700,000 x12& 8,400
1) 2 AFAl 2 CH 113,500
2)2- A 700& *5,000% 3,500
2) U A FIE A AL 5,000& *10,000H 50,000
2)E HH A 500& +8,000& 4,000
2) B A 500% *8,000& 4,000
2) Y E X KHE A 25,0002 *1,000 25,000
)&, XA 15,000& *1,000& 15,000
2)8 YA 6,000& *2,000 12,000
401 AlEHIZ 2 3,500 0 3,500
01 Al&HI 3,500 0 3,500
NI E S I AL 3,500,000& *13] 3,500
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A AZ2el
2

HH: o
ool el (el &2
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 %ggf; HRs2
405 THAHE S 2,000 440 1,560
01 XYL S SFSHI 2,000 440 1,560
Nagxedd SI|awI| 2,000,000& = 1CH 2,000
HAIS==2Z el 109,061 0 109,061
101 el HH| 62,411 0 62,411
04 JIZtHIZ22HEE+ 62,411 0 62,411
DL 50, 0002 *3% *272 *112 44,550
DABTIEES(2ER) 17,0002 %3112 3,861
NALAGA AR 212l (AIZHH)
40,0003 7 503! 14,000
201 LBt 3| 7,700 0 7,700
01 ARl 7,200 0 7,200
NESHLT L 2 EH 1,000,000& 1 1,000
N2sWa2Z 2AH 2,400,000& =14 2,400
NUAMSEZ 2 2 AtY| 1,800,000& 14 1,800
NAIRE A2 2 2,000,000& 14 2,000
02 T2yl 500 0 500
NRESYS 500,000& 14 500
203 HRF&Hl 1,000 0 1,000
03 AIBMFXNHR =& 1,000 0 1,000
Nug Z278# 2 1,000,000& 14 1,000
307 2U12t01H 25,450 0 25,450
01 A2 =H| 25,450 0 25,450
1)EESAAAE 16,750,000 *14 16,750
NEAAISH L ADE 7,700,000 14 7,700
NEJIS 8A U 2R2s 2
1,000,000& 14 1,000
405 KHAHFESHI 12,500 0 12,500
01 RHAUSEH S| 2,500 0 2,500
NH&=240] 3,000, 0002 = 1CH 3,000
N AR EI] D] 6,600,000 «1CH 6,600
NLE= 1,000,000& *2CH 2,000
DIEAANLNES HED 450,000& 14 450
NS 50,0002 *3CH 450
o|f e 8,500 2,000 6,500
=02 = Zal 2,500 2,000 500
201 LBt 3| 2,000 1,500 500
01 AtE222lHl 2,000 1,500 500
DECEP TPVl 1,000,000 1] 1,000
NELSSME 1,000,000& 1 1,000
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SN

iZ2te| ot

M SHoASNHIA B
chel: oze| =k
S - MM .CQ(FH) - MBAIY - BAS A} OH HE ot
203 LR =& 500 500 0
03 AZFXHRFAH| 500 500 0
Nl gRFT 500,000& 14 500
X € SSHA W= 6,000 0 6,000
201 YEH2HH| 5,000 0 5,000
01 AtR22itl 5,000 0 5,000
NEEE M 1,000,000 14 1,000
NA2E 8 7¢ 2,000,000 14 2,000
nNAzE & 234l S 2,000,000& =14 2,000
203 LR =& 1,000 0 1,000
03 AIZFXHRFAH| 1,000 0 1,000
NSS™MILE dRFA 1,000,000& 1 1,000
TZEH 2 220,231 187,035 33,196
Il 100,180
Al 62,361
7 2 57,690
& 224 U=s 7,300 7,300 0
201 Let2E] 7,000 7,000 0
01 AtR2teld] 7,000 7,000 0
NEEE & 4587 HE 1,000,000 14 1,000
NRALEH =239 3,000, 000& *22] 6,000
203 LR =& 300 300 0
03 A=A HSZ=LH| 300 300 0
NFRLEHLNE dRFA 300,000& =13 300
Lol ox 2EE 200,660 111,300 89,360
Il 100,180
Al 50,090
T 50,390
203 ¥ =&l 300 300 0
03 AIMZ=XHRFEH| 300 300 0
NECoXEE gRFA 300,000& 14 300
307 220l & 200, 360 111,000 89,360
p) 100, 180
Al 50,090
T 50,090
01 A2 =H 200,360 111,000 89,360
Neelox2s X 195,760,000 14 195,760
Il 97,880
Al 48,940
T 48,940
NEeloxl ArE2el 4,600,000 x14 4,600
Il 2,300
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SA: ABBRID
Ha: A0 BAHIA KB
el pLE AL (B9 &2
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Of) &b o il i~ o HRs2
A 7,150
2 1,150
FOHOIS 2EATTAY 12,271 12,935 664
Al 12,271
101 o121 6,004 6,004 0
Al 6,004
04 JIAH2RRSES 6,004 6,004 0
ey 52,0002 2% +27 U %22 5,616
Al 5,616
DASRRES(2E2) 97,0002 x2 %22 388
Al 388
201 Y2y 3,307 4,100 AT93
Al 3,307
01 AFRZelY 3,307 4,100 AT93
NESSHE 1,0008*2, 0272 2,007
Al 2,007
NTLEA DI HE 8002 +1,600% 1,280
Al 1,280
307 212H0I 2,960 2,831 129
Al 2,960
01 A2LR2| 2,960 2,831 129
)EATE I 2,960,0002 * 18l 2,960
Al 2,960
20t 22l 223,560 215,380 8, 180
g 67,068
Al 78,246
2 78,246
=S NI SIEZFS 223,560 215,380 8, 180
p 67,068
Al 78,246
2 78,246
201 Y2 Y| 3,000 5,000 A2,000
g 900
Al 1,050
2 1,050
01 AtR2elY 3,000 5,000 A2,000
E2 S 2ellg 3,000,0002! 114 3,000
p 900
Al 1,050
2 1,050
403 RXISHSKHZO0|H 220,560 210,380 10,180
p 66, 168
Al 77,196
2 77,196
02 =JI2HS 0l CHBHCH 8 AL 220,560 210,380 10,180
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SN AABRAD
M3 FARMHIA HB

Tre

ool 20t (el @2
_ _ _ N E
SA B HRA(SH) - MRAY - B 0l & o G SImE=ET
nNe 2JA8dls N 220,560,000& 14 220,560
Il 66, 168
Al 77,196
- 77,196
A OH R B 22T 5,29 8, 152 A2,860
= 2,646
Al 1,323
- 1,323
MOHMED| AZH N 5,292 8,152 A2,860
= 2,646
Al 1,323
- 1,323
201 LetEI| 400 256 144
= 200
Al 100
- 100
01 AtS 22/t 400 256 144
DA Z 2| 400,000 1 400
= 200
Al 100
- 100
403 XXM SA201H 4,892 7,896 A3,004
= 2,446
Al 1,223
- 1,223
02 BII2SHHSCHA AL I 4,892 7,896 A3,004
1) A2 & | 4,892,000& 14 4,892
= 2,446
Al 1,223
- 1,223
FHAAS A2 2E &4 31,372 41,860 A 10,488
ols2d4 23 31,372 41,860 A 10,488
101 Q14| 23,472 32,340 A 8,868
04 JIZtHIZ22HsEE+ 23,472 32,340 A8,868
1erey 50,000 x2H 272 +8E 21,600
NASHRE=a(E-E) 117,000 «2H «8 & 1,872
201 Let2d| 5,500 6,800 A 1,300
01 AtE22(Hl 4,500 5,800 21,300
NEESHE L A28 22 4,500,000 «1 4,500
02 2323l 1,000 1,000 0
NoISHATY L Iyl L2l
1,000,000& 14 1,000
203 HRF4Hl 1,200 1,520 A 320
03 AHEFIHRFAH| 1,200 1,520 A 320
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A

229 S AHI

A B
ot

SN
X XH .

o =

oF
R’

ok
ol

= O
= =

el

ry

olololo o | o o o o o o
(&) (@) o o (&) () N~
(ep) (ep) (@) (@) o (ep) (<o}
n0 N[N T N RN ™
Klo
E
=)
SE HAEBEBEE S EERIEIE SERE
N | clo|r|[T|T »| &> > M 3 JI| < o
. — — — — | = s}
o 3r
uiled
K=
() () o O () o o o O () o O O O O o O o (@) (@) () o o (@) o O o (@) o O o o o o O o
(@] o o O o (@) (@) o O o o O O O O O O © © <t (=) (@] (@) < <t < Al < M < (@) o Q [co o] [ee]
N|ININ N[R]NR] Q| QAR © © o ¥ © Q1o |~ T ¥ N o|O oo S N N < S B I A N Bt
— |- ~|d]la]l~—|- || & « &» « & —|—|— cl|lol|lc ~ © ) al
=
(o]
<J
=
J ol J = AR ~ < 5 « J mJ o] Ki0 = mJ
— Al — N M © NN O — — — Al (aN] o —
% T . §YYTYT 3 e = 53 %)
) o -3
o od S o T T 58 S ® 2 S
o o o o O O O o o D oS o o (@) * o
R [ S S S S & &S S 3 s S S - WX S
BJ S o S o o o 9 o & s < o x S ©
(V] (@) (] o O 0w O w0 o™ < (ap) [QNE J._ o <
. - - - N ] - & A - OF — Kl Ok -
- - . = =3
ol 8
=< ok N
IF Rr
3 Hio = 23
S =4 0 ol I3
= Kk < ok X
C) wﬂ W ] =
oF Bl < 10 Y]
Il KJ oD W=D ) o =) = =) =) Al
Al | &I D 7 n o~ {0 ) KJ ) au) KJ 20
- Wl s | = R0 ol il Kk 0 Kk T
_I_u o ~J = ﬁ_ljo o} o} _”_T . _”__v —
RO |= | al U__Lg. < TR - = = Z = ) o = a0 -
* N~ _ — o) o — ™ — ™ RO
oF Ho or 0B
=<

ol

ol

RO
0
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ro g2 ry
JY 02 0

H0 Mo &

=

08 09 MV
ooy
— [T
N =
oM Y
ST

oy
U

=

CHB L OB - MBEAY - BA2 Aol e HRS2
Hi (24222 o) 4,200 4,200 0
23| 4,200 4,200 0
AR =AY 4,200 4,200 0
EN2IERFE 4,200 4,200 0
NENSEL2FXH(H| 229)
350,000& *12& 4,200

(A2 ) 147,980 135,310 12,670
Hl 147,980 135,310 12,670
282 A 61,580 56,110 5,470
A2 22|l 56,780 49,510 7,270
1)J12 AIREEH| 20,000& *22H *4 3| *80% 1,408
1NII2 ARES0R 30,000& #22H *43| *80% 2,112
DNAAZHI KA (Z2IEH D7, 2 A1)

400,000& *8LH *4 3| *80% 10,240
1E2234H| 7,000& 24 204« 12& 40,320
1) EA P2 50,000& *3&! x23] 300
1)L = (J=2) 40,000& x30H *23| 2,400
S=294| 4,800 6,600 A 1,800
NeEUse 2 400,000& x12& 4,800
(005 86,400 79,200 7,200
=Wl 86,400 79,200 7,200
1)E& 0 20,000 x24H * 15 x12& 86,400
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SH: PYBAR
3l Ngols 2 N
ool AFES N (69 @ e

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

TESAR= 3,002,993 2,976,580 26,413

Ngeols 29 XN& 1,551,603 1,466,683 84,920

odgs A& 1,292,523 1,314,283 A21,760

o¥as KA 937,813 967,573 A29,760

101 elH| 6,137 6,137 0

04 JIZtMZ22XSE+ 6,137 6,137 0
NaI2g Bx 6,137
) 35,0003 x2%H +80 5,600
JINEXNREZ2(BEEE) 537,000& 14! 537

203 HRF&H| 47,600 47,600 0

03 AIBMFXAHR =&Y 47,600 47,600 0
Nozeg g2FA 12,000, 000& =1 12,000
Nodas gRFA 8,000,000 =14 8,000
NoAEs dRFA 4,000,000& =14 4,000
NARIE JH &St 15,600,000& 14 15,600
NE2/AS ot HESH| 8,000,000& =14 8,000

205 °&id| 844,476 844,476 0

01 2 H & =H| 211,200 211,200 0
nN7o 1,100,000 *16F x 123 211,200

02 23=Y 402,240 402,240 0
17 2,095,000& x16H x12& 402,240

05 E2IZSSZHI 86,800 86,800 0
N7 4,800,000& +16H 76,800
10l AFE AR 21 3 1,000,000& 10 10,000

06 J|22IFRF&H| 102,800 102,800 0
Noldc 24| 102,800
2)2l & 3,300,000& x1H«12& 39,600
2)2 ol & 1,600,000 *1E 123 19,200
)a U A E 1,100,000& x3E x12& 39,600

2)HAZAMEHAAZ AJAE

1,100, 000& 1 x43| 4,400

07 SJEHEAMEES 4,000 4,000 0
NadsEoN 22 4,000,000& 14 4,000

08 SIRICIAZRE= 19,602 19,602 0
N=0a3 3,300,000 *11H 123 x4 5% 19,602

09 QAIHLRES 17,834 17,834 0
NALEE 3,300,000 x16H *12& +2.705% 17,139
NAINQLYEE 17,139,000& *4 . 05% 695

304 ASFESS 39,600 39,600 0
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SN BN
Hm: xeols 2o Ng

ool o¥Es XY (649l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
03 QA& HELS 39,600 39,600 0
XL OIst A L &oH, BY SOz
AYY 1,100,000 %242 13| 26,400
NER AHE QI8 Zof
1,100,0002 * 122 * 18l 13,200
Mol HIDAIE 2 2HRE =X 85, 060 84,260 800
201 Y2 Y| 800 0 800
01 At/ 800 0 800
PEEEE PN RS =
100,000 *4% 23| 800
202 01t 20,000 20,000 0
04 =M 301t 20,000 20,000 0
Ngeoe 23t 20,000,0002 * 11 20,000
203 YR =X 15,000 15,000 0
03 AIBZZHREAY| 15,000 15,000 0
N2HDE FL=TY| 15,000,00024 *14 15,000
205 2| 3lH| 39,260 39,260 0
04 =201t 39,260 39,260 0
NEE= olslge 39,260
2)o% ¢ wolF 2,500, 0002 %2 *130% 6,500
2)o| 2l 1,800, 00021 * 142 * 130% 32,760
301 YBrBAZ 10,000 10,000 0
08 2IBIEH 0Ll 10,000 10,000 0
DEEIEL=I L] 10,000,002 #14 10,000
2 HIDAIE 2 98 MO 36,000 36,000 0
201 Yereo| 8,000 8,000 0
01 AtR2elt] 8,000 8,000 0
MOILE ZA2 2,000,000 43| 8,000
202 01t 8,000 8,000 0
01 =Uoit] 8,000 8,000 0
DAMOILE 2 2 BIDAIE(RS)
8,000, 0002 11 8,000
205 2| 3lH| 20,000 20,000 0
03 =Uyoit] 20,000 20,000 0
DAMOILE 2 2 BIDAIE(SIR)
20,000,0002 11 20,000
IOy A 70,950 74,950 A4,000
201 Yer2o| 70,950 74,950 A4,000
01 AFR22/H| 30,000 30,000 0
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SN

ToABAE=

3 ALz =2¢ N
el odgs N (etel: =3
SN EB -GS - MBAY - BES 0 & 24 e HRE2
N2HRB U LLEM S BE $0]
50,0002 1004 5,000
NZEDI(SH) Aslge JEE 20
10,000& *2,500H 25,000
03 A2 HI 40,950 44,950 A4,000
1) &I E CLALS] 5,000, 000& *13] 5,000
HEH 2213 W@ I & A
5,000,000& * 12 5,000
NEAZTHAH(MSHAL S 2SHA
20,000,000& 14 20,000
1)012101 2SI ME A N 8,500& 700 5,950
1) 23t & & A 5,000, 000& =1 5,000
SIANY 2E & 2el 162,700 151,500 11,200
201 et 126,300 151,500 N25,200
01 AtS 22l 25,100 21,500 3,600
NMER=E= 1,300,000& x12& 15,600
NELX A=2 2,000,000& =14 2,000
N7as AR= 150, 000& #25H »23| 7,500
02 23234l 101,200 130,000 A 28,800
N3=22= £ HMA 70,000,000& 14 70,000
NXES X 2eldl(30) 20,000,000& 14 20,000
NaAE =X 2eldl 10,000,000& =14 10,000
NEIREA 018 100,000& 128 1,200
405 KHAHFESHI 36,400 0 36,400
01 HARESF=H 36,400 0 36,400
N2LHTV(A LRSI A) 700,000 »2CH 1,400
DA (HHFS) 35,000,000 *1CH 35,000
SEEs R 2t 259,080 152,400 106,680
3o et 68,580 50,880 17,700
201 et 50,880 50,880 0
01 AtS 22l 48,000 48,000 0
Nz & Al 35 L2t
12,000,000 *42 48,000
02 =234l 2,880 2,880 0
NS E2ALAMAE RANE+Z
240,000 <128 2,880
405 AHeHESHI 17,700 0 17,700
01 MHARESF=H 17,700 0 17,700
NEX7EII 3,000,000 «3CH 9,000
NZ=NHIIEE 2,900, 000& =34 8,700
OEEE 243t 190,500 101,520 88,980
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SN POUBIARR
my: xgols 2Y X
_b‘l_ 2

el 2EEs 22 & Chel i E @)
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
201 LEH2HH| 152,500 78,520 73,980
01 AtE22/Hl 152,500 78,520 73,980
NeEegs sg4 W 30,000,000& *12l 30,000
NEEE CHHMT &2t 15,000,000& 14 15,000
123 AAI g2t 8,000,000 *42] 32,000
NAHEA 2= 24,000,000 =14 24,000
NEM=7HI 5,000,000& 14 5,000
AR elstg 5,000,000& x1& 5,000
o H e A2t 10,000,000& *13 10,000
NEZELSAT 10,000,000& 13l 10,000
NEEE oHUIMOoI& (M0l ) M=
10,000,000& *13 10,000
16t 7223 MXZYO0I= SAZ2
1,500,000& * 13l 1,500
16t 23 MBI =FH M
10,000& =1,000& 10,000
SR =2 8,000 8,000 0
A E =R H 2= A 8,000 8,000 0
Ne2gs gRF 8,000,000& x1& 8,000
o IR 2| 30,000 13,000 17,000
& AR EH | 30,000 13,000 17,000
EHOIX HE 30,000,000& 14 30,000
HH2SZH(RAZMNRZ) 1,451,390 1,509,897 A 58,507
QA 2HHI(FAZ AR =) 1,279,679 1,342,426 ANB2,747
fAMIE2EYI 1,279,679 1,342,426 ANB2,747
101 el H] 1,201,239 1,263,986 ANB2,747
01 E= 1,201,239 1,204,692 N3,453
ngets o EXHA | J|ISE(25Y) 723,022
) HEM(MR2E 66,082,000 «1H 66,082
2)S =M (24 606,406
3)5= 2,961,300& «2E »12& 71,072
3)6= 2,512,100& x4H « 128 120,581
3)7= 1,990,300 x11E *12& 262,720
3)8= 1,749,000& »3E 123 62,964
3)J1=83 1,855,600& x4H 123 89,069
)0z (E32+2)
606,406,000 *1/12%100% 50,534
NEUSG 211,575
2)ZWU2 R (520161:24Y) 130,784
3)5= 9,796 & *x60A| 2t+2H x 12 14,107
3)6= 8,312& x60A| 2H+4H x 122 23,939
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FZH(FASIMNRR)
HH (FASARR)

CEE (S - MRAY - HAS

22
J2

=1
R
121

3)73 7,457 %60l 2t 112+ 128 59,060
3)83 6,682 %60 Al 2H+7 2 * 122 33,678
2)ESY 17,760
3)tH 2 Xt 40,0008 x22% * 128 10,560
3)EHE HlI% 20,0009 *30% * 122 7,200
APUELTCESS= 2,961
3)Estn 59,4002 5% *43| 1,188
3)nSsn 443, 1009+ 12 %43 1,773
2)H 2L (24F) 28,800
3)251101 & 130,000 +7% » 128 10,920
3)201 01 &2544 018 110,0008 6% * 122 7,920
3)15E 01 4204018 80,0009 0% « 122 8,640
3)10E 01 &H150I8F 60,0008 * 12« 122 720
3)54101 41014 0] 8 50,0008 1+ 12 600
2)HYDZRNEL2L LS (2XY)
50,3372 2%+ 115 x50% 5,789
IHRTBRALY  602,794,0002 *4 . 8%x30% 8,681
2)9 A& (259) 16,800
3)43 10,0002 + 12§ x 128 1,200
3)53 80,0002 x224 122 1,920
3)62 60,0008 x4+ 12 2,880
3)72 015t 50,0009 * 182 122 10,800
1) HZ A (K 25%)  130,0008 +25% * 128 39,000
NDSEEH (MY 24%)-H=ZH X< 36,840
2)53 140, 0008 x2Z * 128 3,360
2)6.73 130,0002 * 152 * 12 23,400
2)82 015t 120,000 x7% x 128 10,080
NYREIHI (N 249)-1=2X e
606,406, 00021 *1/12+120% 60,641
DIFAR 2 (R 24%)-H=ZH X
606,406, 00021 / 12+16. 7%+ 122 101,270
1) S0 A (Rl 9 259) 28,891
2)4B2F(AEH)
66,082, 0008 +0.66%1/12%1/30% 162 1,939
)t IS (24%)
606,406, 00021 *1/12%1/30% 162 26,952
L] 12,500 12,500
JHeIYRETY| 3,300 3,300
DAL2H 3,300,00021 * 14 3,300
e ItA Y R EAY| 2,000 2,000
1)ZE 259 80,0002 x252 2,000
SAEIYRETY] 7,200 7,200
NENSILRET| 7,200
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2A: RAZME=
Hu: #H2ARY (PSS 2)
Chel: oA HH|(RSIAR=) (etel: =3
SN EB -GS - MBAY - BES 0 & 24 e HRE2
2)ASIMRPI(ER 198) 350,000& «12& 4,200
)E=2RAJYA (R 6Y) 250,000& 128 3,000
204 XA 65,940 65,940 0
01 MG PR HH| 7,200 7,200 0
L= 350,000& x1H«12& 4,200
152 100,000 »2H +12& 2,400
162 50,0003 x1E«12& 600
02 M EXH 45,540 45,540 0
L= 400,000& x 1«12 4,800
1)52 250,000& »2H « 123 6,000
16= 155,000& x4« 123 7,440
nr= 140,000 11E»12& 18,480
182 105,000& 7 »12& 8,820
03 SEYR-AESHI 13,200 13,200 0
nuela sy (620lI0t) 50,000 x22H x 123 13,200
Jl2dHl (RS AR =) 171,711 167,471 4,240
Jl=&dl 171,711 167,471 4,240
201 Let2E] 66,511 68,511 22,000
01 AtR2teld] 66,511 68,511 A2,000
1NJl2 AMRS8EY 20,000 »23H *43| +80% 1,472
N2 MRES0IE 30,0003 »23H 43| +80% 2,208
NP ZHIFXIHI(Z2IEH D14, = AtD13)
400,000 *17CH+43 x80% 21,760
NE2=4tl 7,000 x24H 204 x 123 40,320
N8Xds 24 751
)M HIA(Z4) 7,000& x25H 175
)MEIRRH (I, HA) 7,000 x9E 24 x4 504
2)MEIRH(2H4]) 2,0003~9H 13| x4 72
202 O4dl 90,000 90,000 0
01 WY 90,000 90,000 0
DEESGE:] 20,0003 x25H 15 «12& 90,000
405 XtobE SHI 15,200 8,960 6,240
01 T =S FH SHI 15,200 8,960 6,240
NDHISBREH(UMAS) 1,300, 000& »4CH 5,200
NEMIIUHAS 10,000,000 *1CH 10,000
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